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1  Whatis the name of the part marked as ‘X’ in
DC generator? | 3T STelReX H X’ o &9 H RIfgAdT
13T T AATH T 57

Armature core | 3THTR B

Brush | sT9T

Commutator raiser | WW
Commutator segment | m,\éa@'s'

o 0O w >

2 Whatis the name of D.C generator? | D.C

SToeT &l TH FAT 8?2
A,
L o
1 I
LOAD

A Differential long shunt compound | FSwIRTer
Te-dT QT HUT3S

B Differential short shunt compound |
ShifRrger o eie Fifarn

C Cumulative long shunt compound | aT &It
NEOIIEED

D Cumulative short shunt compound | Hﬂ?ﬂﬂg
NEOIIEED

3 Which rule is used to find the direction of
induced emf in D.C generator? | D.C STelel H URa

SUATK & {20 AT et & T forg o a1
39T FhT STAT B2

A  Corkscrew rule | ﬁ@ﬁm

B Right hand palm rule | &gt HEED
RCICINCRE]

C Fleming’s left-hand rule | FolT&aT & STT §TY T
G

D  Fleming’s right hand rule | FITHT & gTfga
g1 & faaH

4  Which formula is used to calculate the
generated emf in D.C generator? | D.C STelReX &

3¢l STHU shl IUTAT e o TolT fohdt G T
39T fhaT SATAT 82

Z

| 3cUe GUATE = Dy
x—VoItI 3ol é"l’ﬂ"l"q? @X Volt
Generated emf= ¢ZN x> Vot | 3cUel STATS = ¢ZNvaOn
Generated emf= AH‘)“ | 3cUeel SUATK = P ot

60X¢4 A 60><¢ A

Generated emf=

Generated emf= 2

O 0o w >

5 What is the formula to calculate back emf of a

D.C motor? | STHUS &Y IUTAT lat hl T AT 572
Tah S A
Vv
Eb= — Volts | E,= —— dleT
IaRa laRa
Ebzv_la RaVO|tS | Ebzv_la Raal(va\zl

Eo =V + 1, Ra Volts | Ex =V + 3R, dTecH

o 0o v >

6 What is the name of the part marked ‘X’ in DC
generator? | DC Generator #’X’ & &9 # RIfgad

13T T TTH FAT &7

A Poletip | %H@TH’I?
B  Pole coil | ii_l,_q'?:al@?ﬁ
C Pole core | T HR
D Poleshoe | tﬂ?—f%}\

7 Whatis the name of the D.C generator? | D.C

AT T ATH FAT§?
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Shunt generator | gTe SFeX

Series generator | S0 SFeleX

Compound generator | I3 STeleT
Separately excited generator | 39T ¥ 3dfard

AT

L o—

O 0O v >

8 Which energy is converted into electrical
energy by generator? | STe¥ex IRy forg STt

fega oft # aRafda frar srar g?
A Heat | 3%AT

B Kinetic | arfaefrer

C Chemical | TOAfAs%

D Mechanical | I3

9 What is the name of D.C generator field? | D.C
AT FIes &l ATH FAT§?

- o

—— ]

LN

A Short shunt compound generator | Fl"%r%l"cf
iR A

B Long shunt compound generator | CICIE
FHAT3Z ST

C Differential compound generator | fd#gH
iR A

D Cumulative compound generator | FiY

QAR FeT

10 What s the principle of D.C generator? | D.C
SeeX T [Agia FAT 82

A  Corkscrew rule | ﬁ#@jﬁ'&ﬂ

B Fleming’s left-hand rule | FITHaT & STT &Y T

o
C  Fleming’s right hand rule | FITH3T & &Tfg
1Y & faaH

D Faradays laws of electromagnetic induction |

TS o1 e el Yeaehrg URoT &7 s

11  What s the formula for dynamically induced

emf? | AT &7 @ IR STATS & forw g
g7

A  BLVvolts | BLV @lee

B BLsin6 volts | BLsinf dlee

C BLVsin6 volts | BLV sin® dlec

D BLV cosB volts | BLV cosf dlee

12  Which rule is used to find direction of

magnetic field? | TFSeRIA &1 T FERAT AT HLet
fore fore forgat s 39ter fhar Srar g2

A  Corkscrew rule | EF\I%?W“T?PJH

B Right hand palm rule | GIfgsT &T2r T §UelT T
o

C  Fleming’s left hand rule | FITH3T o STT &T2T T
IGRE

D  Fleming’s right hand rule | Flf&aT & GIfgeT
BY I TITH

13  What is the name of the part of DC
generator? | STHT AT & HTT T ATH FAT §?

A Stator | T¢eX

B Polecore | i:'_l;a'a'ﬂT
C

D

Pole shoes | tff?—f%[\
Yoke (or) frame | T (JAT) vl
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14 How many parallel paths in duplex lap
winding of a 4 pole DC generator? | 4 9ol SIET

SToEX o gelehd oY ATSTSaT & fehclel HATIR

T 8?
A 4
B 6
cC 8
D 12

15 Name the part of DC generator? | 31&T
ST o ST T ATH IS T?

A Side end plates | H’I%‘s’t’gw

B Pole shoe lamination | W%Lmlﬂ
C Commutator segment | m@aa's'

D Armature core lamination | TR AR
AfAerT

16 How interpoles are connected in a DC

generator? | 3T SelReX H Seuldl ﬁﬂ_\'}l@'s\@ﬁg'?
A Inseries with armature | aﬁaﬁ:mm
H

B In parallel with armature | ImfRR F Ty
HATATA H

C Inseries with shunt field | 27 HTes & TTT
AT H

D In parallel with shunt field | 7€ HTes & TTYT
HATATA H

17  What s the necessity of residual magnetism in
a self excited DC generator? | Ueh TaF 3cdiold

SIHT STeRET A RIS efehed T ATARIhT FT
g

A Build up the voltage | arecst & AT hY

B Reduce the field current | HhIes € e Y
C Reduce armature current | JTHTR T HA

Y

D Maintain constant output voltage | GEG

3M3cye drec ol §ATT I

18 Which are the two points that the brush
contact resistance measured in D.C machines? | D.C

a3 T T &Y foig & S s7er doeh wiaRrer st
ATA8?

A Resistance between the opposite brushes |
faudra srer & g afeier

B  Resistance between brush and commutator
raiser | STRT 3R HFgLe TFR & ofrar Ficrer

C Resistance between brush and commutator |
ST 3N hagee & ey yfarer

D Resistance between brush and armature

conductors | §TQT 31X TR e & §rd TTaRIer

19  Which voltage drop is indicated in the portion
marked as X? | ford decsT 31T T X & & 7

RIfgaa Far g

% FULL-LOAD OURNINT

LOAD CUNPENT —["
L

Full load voltage drop | qﬁaﬁgaﬁmmﬁ
Armature voltage drop | 3R areesT ura
Armature reaction drop | WWQHS’T’Q’
Shunt field voltage drop | Qﬁtﬁlﬁaﬁmsﬁ'

O 0o w >

20 What is the name of the compound
generator, if the shunt field is connected in parallel

with armature? | HUT33 STeIeX &l ATH FAT &, Tl
ATE s ITHTR o AT FATAR H 37§37 &2
Long shunt compound | STeaT Q7E HUT3S

B  Cumulative compound | Y i
C Differential compound | [a%iee IR
D Short shunt compound | ﬂ%%ﬁm
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21  Why the armature core of a DC generator is

laminated? | It Teh 3T STelReX o ATHIX PR
geferd g?

A Reduce the copper loss | dTH gifel &l HH Y
B Reduce the friction loss | ST gTfeT ST e HL
C Reduce the hysteresis loss | o€ R g1y &7
FA B

D Reduce the eddy current loss | a3 &IRT gTfeT
Pl HH P

22  Why armature resistance of a D.C generator is

very low? | D.C memﬂag?rw
FT g?

A Reduce armature current | 3T YRT H Y
B Reduce armature voltage drop | 3R areeaT
HEEIETETY

C Run armature with less weight | & dofel &
Y HTHR TeTT

D Reduce the temperature of armature | IR
I ATIHTT HH HL

23 Why the D.C generator should runin
clockwise direction only? | D.C STeIeX &l G131 T

feemm # &Y T Tofelr =g e?

A  Protect brushes from damage | WTQW
{ g

B Protect the residual magnetism | 37aferse
Yeehed T T HT

C Avoid short circuit in armature | TR A Qe
e dad

D  Avoid over loading of generator | STel¥eX
HTTHTRA T G &

24 Why compensating winding is provided in
large DC generators? | 93 31 STelReX H gHTICR
srfergfet ot sreTer B S &2

A Connect more loads | 37T8I& WIS dhalde Y

B Reduce commutation effect | mgam SATd
Pl HH P

C Neutralize armature reaction effect | IMRR
gfaAfohar T81Ta &A1 9318 Y

D Increase the efficiency of generator | AT
I G&TelT JgTT

25 What is the reason for DC generator fails to
build up voltage? | 3T T & Ao ot T HHTOT

Aol H TAHe gt T FAT HROT &2

A Loose brush contact | &Tel sTeT HJToTel

B  Armature resistance is more | 3R gfaae
kIBCS

C Field resistance is above critical resistance |

HIes FaRTer Hifas IR A Fw g

D Prime mover is running at above rated speed |

TSH AR LS AT TR AT @G

26 What is the name of generator, if its field is
connected in parallel with armature? | STeIeX T

oI T &, Afe; SHRT &1 TR o FATAICR ST
g3TE?
Shunt generator | € STeeX

B Series generator | AU SeA¥eX
C Compound generator | i Felke
D Self excited generator | TaI 3cd ol ofeleX

27 What is the purpose of pole shoe in DC
generator? | SIHT STeleX & dlel QLEFI'B?Q?JI'ERJT%'?
A Reduce the air gap | TIX 3T &l T FY

B Increase the field strength | & T dThd SGIT
C Minimize the magnetic losses | ﬂ'@l@'ﬂ'%‘lﬁ'&’f
P HH FY

D Spread out flux uniformly in the air gap | TIT
3T 7 FATT T I Felard i thello

28 What is the function of split rings in DC

generator? | SIAT STelkeX # FEcere Rar &1 a1 p1y
g?

A Maintain constant voltage | R diecat
T T

B  Collects the current unidirectionally | ¢RT T
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T T & UhT T
C Reduces the voltage drop at brushes | SIRTUT
el 31Tl hH FIATE

D Increases the terminal voltage than rated |
{ES & Jolel A AT dleest Felal &

29  Which material is used to make brush in

generator? | STa¥el H §T ST o ToIv fohg GraaiT
T 3TN fhaT ST 82
A Steel and graphite | T 3T1Td,lun|$c

Carbon and graphite | COCE 3ﬁTdAm|$c

B
C Castiron and graphite | Geldl ailgT 3iR AwIBC
D  Aluminium and graphite | Teg#HIT=a#H 3T

30 Why DC generators are loosing their residual
magnetism? | FIT 31T STeAXeX 37YeT 3afrse
Yeehed T adl 67

A Heavy short circuit in load | IR & 9y e
afehe

B Running without load continuously | [S=T &g
& SR Il T o

C Continuous running without break | TS=IT ¥ &

SEIGIRE I
D Change of direction of rotation very often |

e T FI e 3FR SeordT &

31 How does the magnetic circuit complete
through the yoke and poles in a generator? | Ush

SRR 3 2 3R ¢ ¥ AT & g Afe
QU EIATE?

Field coils | ﬂ?i@?ﬁ'

Armature core | IR SR

Laminated pole core | Tefoid Giet ShIX
Winding conductors in armature | IR H

s

O 06 w >

32 Why the terminal voltage decreases if load
increases in DC shunt generator? | ST 9E ST

H ol gt W il alocol hal FAT 81 ST 87

A Because of armature reaction effect | 3mRR

gfaferar gera & sroT

B Duetoincreased in armature resistance |
e SRty # af & FRoT

C Because of brush voltage drop decreases | STQT
Al I goig ¥ IREae HA G ST &

D Duetoincreased in shunt field inductance |

e tes Wehca A g & RO

33  Which type of DC generator is used for long
distance distribution lines? | st g1 T faeoT

ST 35 T Ry T 3 Sl STt T it
frar Srar g

A  Shunt generator | e ST

B Series generator | H0fY SelReX

C Differential compound generator | IGE:
AR A

D Cumulative compound generator | TRy

i STeeT

34 Which method is used to improve the
insulation resistance in DC generator? | Y

ST H Fegol el TR Y JgR Tt & foIT
fora fafer s 39iter fhar arar g2

A Replacing the brushes frequently | §T2T T §RR-
CIRCEYSOI

B  Heating the machine by running periodically |

HAG-FAY IR 72N T ITH AT

C Cleaning the commutator segments regularly |
AR &9 @ gt QITHT T THS AL

D Blowing hot air in to the machine during

maintenance | TEIWTT & &XTeT AMT & I8 gar
ol

35  Which type of D.C Generator works in
absence of residual magnetism? | WW

& 379779 A T YT &7 D.C SR hTH FATE?
A Shunt generator | € STeReX

B Series generator | 0T SeleX

C Compound generator | ifarep STeex
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D Separately excited generator | 3TolT &

Scdfold STeiey

36  Which type of D.C generator is used for arc
welding? | 37Ts afegar & fow P YR & D.C

ST T 3TN fehdT ST &2

A Shunt generator | gTe SFeX

B Series generator | Foff T

C Differential compound generator | ICECET
AR A

D Cumulative compound generator | Y

AR FeT

37 Whatis the property of wave winding in D.C

generator? | D.C STel¥eX & 3T arsf3ar fr favar
FATE?

A Low current low voltage | & YRT &H diecol
B  High current low voltage | 3= YIRT hH
drecst

C Low current high voltage | & &IRT 3©d
drecst

D High current high voltage | 3T YRT 3T
drecst

38 Whatis the purpose of resistance wire used in
the commutator connection in D.C generator? | D.C

STeNeX H hegeed HAIeT ﬁugerd giaT dR 1
3BT FATE?

[ « [ & [ & [ o ]

A Maintain constant voltage | TId alecsl 1T
Rec]

B  Nullifying statically induced emf | Q]@'Fﬂﬁiﬁ
7§ 9T STATH

C Increasing statically induced emf | Tdfaes &7
T 9RA STATE ST

D Smooth reversal of current direction | €I

eI T 3T § Tl

39 Why solid pole shoes are used in D.C
generator? | D.C STeieY H B Glef [ &l 3UTT

T fohaT ATAT 82

A  To reduce the copper loss | Hﬁ?o‘flﬂ'lﬂﬁ

HH I & T

B Toincrease the residual magnetism | 3T@frse
Jeehcd I o1 & folw

C Todecrease the residual magnetism | 37aferse
eehcd &l HH el & T

D To reduce the reluctance of magnetic path |

YT 9Y & Relerdq 1 i el & faT

40 Which metal is used to make large capacity

DC generator yoke? | 3T &THdT o 31T SToiiel Al
SelTel & forT fohd eITe] 1 3UANaT foham STTeT &7

Cast iron | &oIdT &gl

Soft iron | uTJfI'FﬂET

Aluminium | Wﬁ'&ﬁ

Rolled Steel | o8 Tl

o 0o v >

41 Whatis the function of split ringsin a D.C

generator? | 3T T STeleX H el R & Far
T E?

A Supplies output continuously | edTTdY
3MM3EYE T Tl

B Makes output in the uni direction | Tah fGem &
3MM3CYE FATAT

C Makes output in the opposite direction |
Tl e # 3m3eqe wear g

D Collects the output from alternate conductors
| Tl ShseFeT A 3MICYE Tehe AT S

42  Which type of voltage is induced dynamically
in a D.C generator? | D.C STeleX H 7y Yah T

drecat Afaele &7 @ ARG grarg?
A Pulsating voltage | TedifeaT dlecal
B Oscillating voltage | GreleTeiTer alecot
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C Alternating voltage | JcaTddr alecsl

D Direct current voltage | IcI&T ¥IRT dlecal

43  What is the purpose of slot marked as ‘X’? |

X o &9 7 RIfEad Tolle a1 3T FATR?

W
@;00 0{%
\’A’T\/

X

A To fix the key way | @ﬁaﬂw&mwﬁ%
forw

B To make air circulation | a’rgrqﬁﬂwamﬁ
& fow

C  For lubrication purpose | T8I 353 & folT
D  For easy removal from shaft | Qe & 3THTAT
Hged & fau

44 What is the purpose of field coils in D.C
generator? | D.cmﬁ%ﬁwwﬁw
FATE?

A Toincrease the flux in air gap | RATH
TFelehd &l TGTe o foIT

B To decrease the magnetizing current |
HIACTSTSIIT T F FH LA o [T

C To magnetize the poles to produce coil flux |
Sl FeTehd ohT TAATOT et o forT et
FFaIfohd AT

D Toincrease the reluctance of magnetic path |

BT 2y & Rererr 1 gt &n Faye

45  Which metal is used to make pole core of

large DC generator machines? | 93 SIET STelkeX
TRt &5 et Y eTreY 3 Fore Ry T ar rar
forar STaT &

A  Softiron | o_-DfTFﬂ?T

B Castiron | &ofal &ilgl

C Cast steel | Tofal SEIATT

D Stainless steel | TaTold TTel

46  Why the pole core stampings are laminated in

DC generator? | &1 9iel ShIX TCITUIT BT STeTReX
H gefod #d §?

A Reduce the friction loss | ETUT &TfeT ST e Y
B Reduce the windage loss | f3oT oIl &l e
o

C Reduce the hysteresis loss | g€ R gTfar &1
FH B

D Reduce the eddy current loss | $7aX &TRT g1
P HH P

47  Which type of DC generator is used for
electroplating process? | E@IEE:ICQE'?I gfpar &

fore fore gehR & ST STeieX 1 39eT foram irar
e?

A  Shunt generator | e AT

B Series generator | H0fY SeReX

C Differential compound generator | IGE:
AR A

D Cumulative compound generator | TRy

i STeeT

48 What is the purpose of compensating winding
in DC generator? | 3T STl H heqedTed

BT T T FATR?

A Minimizes rough commutation | FSR

HFGLAA HH FIAT G
B Maintain constant output voltage | [&ad

33eYC dlecs 9T I
C Neutralizes the demagnetizing effect |

FAarehTaRoT TTTa T 3R T ST &

D Decreases the excitation current of field coils |
&1 Bl hT Scclolel URT I TEIATE

49 What is the effect if the shunt field resistance
is above critical resistance value in a D.C generator?

| I 2re Bres Jiary sifde oty A 8 30
¢ Y T IHTT 93T &7 D.C FeAe?

A Output voltage is pulsating | 3-113'63'63}!@3'
geafdaT g
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B  Output voltage is above normal | 3-1I3quE

dlecol AT A FW g

C  Generator fails to build up voltage | STeXeX
recsT Jllel H [AHT T

D  Generator builds up voltage normally | S/eIeX
TATT &9 T dlec ol dTdT &

50 Whatis the effect of armature reaction in DC

generator? | 31T STe¥e H MR yiafhar sr
HTT FAT &7

A Output voltage increases | 3413'63'631?33[
Sedre

B Output voltage decreases | 3413?3331?83[
RA B SATATE

C Output voltage is pulsating | 3-113'6%?."3’!@\_:[
TofeT g T

D Output voltage will become zero | 3-113'6%1"
alecst a3 &1 STuam

51 Calculate the emf generated in a 4 pole DC
generator with simplex wave wound armature has
1020 conductors and driven at a speed of 1500 rpm,

the flux / pole is 0.007 webers? | FRFTeled aa
II33 HFHTR & HIY U 4 Grel ST STeAe H 1020
sy & 3R 1500 IRYTH S 77 & FaTfad g,

ol / Aol 0.007 ISR §; 3cdTiGd SUHUK &l
0T h?
A 178V
B 243V
C 357V
D 428V

52 How the effect of armature reaction can be
neutralized in large DC generators? | 9 3147

ST H TR GTATHAT & FeTd I 8 S311
RaT ST HSAT 8?2

A  Using compensating winding | FHeEgeTafcaT
ATSTSIT ST IUITT HleAT

B Providing additional inter poles | Hﬁlﬁa-?rga'{
el FeTeT el

C Increasing brush contact resistance | ST TS

FTRIET SGaTT
D Adding resistance wires with winding | El'lg%ﬂ
o Ty 9faRTer At &I Ssar

53 What s the effect in D.C generator, if it is kept
ideal for long time? | D.C STeXeX H &FIT THTT gIdl

€, 39X 58 ol AT doh 8¢ QT SITU?

A  Field coil resistance increases | tﬁlﬁaﬁgﬂ
GfRe a6 ST g

B Armature resistance increases | 38X

gl ST g

C Increase the armature reaction | IR
EIGIERIEET]

D Looses its residual magnetism | 3791 37afAse
qaehed T @I ST S

54 Calculate the induced emf of 4 pole dynamo
having 1000 rpm lap wound and total number of
conductors is 600, the flux / pole is 0.064 wb? | 4

it STIAT & IR STHTE Y I0TAT HY, 1000
3RAITH o7 a133 R hgeFexl T ol TEAT 600 &,

Folard / 9iel 0.064 wb &7
A 160V
B 320V
C 480V
D 640V

55 What is the effect on induced emf if the main
field flux get distorted in DC generator? | H’ﬁ(ﬂ'@q

&Y T YT I SToeX H faehd g1 e, ar IRd
SUHAUD R FIAT THT USdT 2

A  Induced emfincreases | IRd EMF EEFIT%'

B Induced emf decreases | Qﬂﬁmm%
C Nochangeininduced emf | Qﬁﬂ'éﬂmﬁ
IS TCoITd oAeT

D Induced emf becomes zero | Qﬁ?l’é?m
IR ST

56 What is the cause for heavy sparking in

brushes of DC generator? | 31T AT & A H
Y TATTehaT ST HIROT AT &2
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A Short circuit in field winding | BTes arsf3ar & Answers:
31 e 1-C|2-A|3-D|4-C|5-C|6-D|7-D|
B  Short circuit in armature winding | 3R

o7 3 ot T 8-D|10-D|11-C|12-D|13-D|14-C]|
C  MNA and GNA position changed | THTAT 3iR 15-D|16-A|17-A|18-C|19-C|20-D |
vt T sger 315 21-D|22-B|23-B|24-C|25-C|26-A|
D  Too much spring tension at brush | T2 s & 27-D|28-B|29-B|30-D|31-B|32-A|
H 9gd i fer daira

> 33-D|34-D|35-D|36-C|37-C|38-D]|

39-D|40-D|41-B|42-C|43-A|44-C|
45-C|46-D|47-A|48-C|49-C|50-B |

51-C|52-A|53-D|54-D|55-B|56-C|
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57  Which instrument is used to measure

armature winding resistance? | 3THaX arg3ar
GfaRIeT s A9 & forw ford 3uenoT &1 3uter
[ERIEIGIEE

A Megger | IR

B Multimeter | #eelrHeT

C Series type Ohm meter | Aol YhR 3eH FAeX
D Kelvin bridge | shfeas fsat

58 Which instrument is used to test armature
winding for short and open circuit? | “gme 3R

39T Ffdhe & forw 3R argfsar &1 adietor ket
& [T fohd 3UeR0T &1 393N foRaT ST 82

A Tong Tester | €l qdieTah

B Internal Growler | 3T A3

C External Growler | EIEUCIEISES

D Digital multimeter | 3folcel HedIHTEY

59 What is the name of the speed control

method of DC motor? | SIHT #AleX T 31Tt TAT=oT
A FrFAT AT E?

L+

2 IV
o &
Ay
DC MPPLY
Ag
1
c. L-

A  Field diverter method | Hres sac fafer

B Field tapping method | Fres efver fafer

C Voltage control method | drecot a=or fafer
D Armature diverter method | 3MHRR SRIE&R
fafer

60 Which winding wire is used for DC field coil? |
e Fres Fisel & fov fhe argfSer IR &1 39T
forar STar &2

A Super enamelled copper wire | ﬁcﬂ'gﬁﬂ?s’
GIEE IRy

B Single silk covered copper wire | Harer e

Hds HIIR AT
C Double silk covered copper wire | 39l Ao
s HIIR dTIX
D PVC covered copper winding wire | PVC Fds

o o

61 Which formula is used to calculate the speed

of DC motor? | “SIEY FeX &I ITTeT I IUTAT Flad o

foIT fohe g 1 3UATeT foham ST 872
A N=2
4
B N=2
Ep
c N=22
120
p N=22
60

62 How many parallel paths in duplex lap
winding in the armature of 4 pole D.C Motor? | 4

qleT D.C HYEX shr 3R & geolery oy argfsar &

TRl TATATAR I &2
A 2
B 4
cC 6
D 8

63  Which rule determines the direction of
rotation of armature in D.C motor? | D.C AlGI &

3R & gt 1 fee shler & o et
FLATB?

A Right hand grip rule | &ITg=IT 8T Y&hs Tige

B Right hand palm rule | SIigsT 8T T gAelT &7
IGRE:}

C Fleming’s left hand rule | FeITH3T & ST &I & T
IGRE:}

D  Fleming’s right hand rule | FITHaT & &IfgeT
HECIRGRE

64 What is the name of D.C motor? | D.C AT
FTFATATHE?
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L+
DC BUPPLY
Ez 2
| L.
A D.Cshunt motor | D.C /€ HIeX
B D.Cseries motor | D.C H0fY #lex

C D.Cdifferential compound motor | D.C

31deheleT T3l Al
D D.Ccumulative compound motor | D.C Y
Tifdre AT

65 Which rule determines the direction of

current in D.C motor? | 3Y T AT H e & fgar
g fAam @ RuiRa adr g

A Right hand grip rule | &TT&=T 8T 9ehs foarTeT

B Right hand palm rule | aﬁ%ﬁmrﬁg?ﬁrar
o

C  Fleming’s left hand rule | FeITH3T & STT &T2T &1
o

D  Fleming’s right hand rule | FIT&T & gIfgaT
gy & faad

66 What is the formula to calculate the current
taken by D.C shunt motor armature? | D.C Qi€ eI

3R ST ol TS &R hY ITVTAT hled hT G FT

LV
A R

L _Ee
B Rs

| _V-Es
Cc TR,

A=Y
D R

67 Which rule is applied to identify the direction
of flux in DC motor? | STEY FAEI H Foldd &I feemm

ol UgITel it & ToIT et AT Toae ey feham St
g?

A  Cork’s screw rule | EF%F%Z%’&H

B Right hand grip rule | &TTg=IT T Uehg foareT

C  Fleming’s left hand rule | FeITH3T o ST &TT T
faaH

D  Fleming's right hand rule | FlfHaT & gTfgeT
&g & faaH

68 Name the type of DC motor. | 31T AT &
YhR I ATH S|

L+O

e
A Shunt motor | 2T€ HIEX

B  Series motor | Aofy Arex

C Long shunt compound motor | ST 7€ HUT3S
A

D Short shunt compound motor | 2ITC QE T35
A

69 Whatis the formula to calculate back EMF in a
DC motor? | DC A H EMF T I0TAT et & A

FATE?

ZNP
A Eb =
@60 A
NP
B Eb =
Zp60A
ZNP
C Eb =(P
60 A
60 A
D Eb = L
ZNP

70 What is the name of the equipment? |
3YRIUT T oITH T g7

COIL MSULATED FRo# CoM

A Megger | #IR

€@ N\IMI Question Bank

Page 11 of 47



ELECTRICIAN - Semester 3 Module 2 - DC Motor
Reviewed and updated on: 01% November 2019 Version 1.1

B  Earth resistance tester | ﬂ;m gETH
C Internal growler | TR A3
D External growler | STEXT A3

71  What is the name of winding, if coil pitch is

less than pole pitch? | uﬁamg?rﬁ?r, CICRCER
FAE, AT AT FTATH FATE?

Full pitch winding | q\ﬁﬁﬂw

Half pitch winding | H‘é’ﬁﬂw

Long chorded winding | of&ll 158 arsfaer
Short chorded winding | Qﬁl'éa?\l’g's'a'lg'%ﬁ

o 0O w >

72 What is the purpose of series resistor
connected with holding coil in a D.C four point

starter? | 3T 1 IR Ursc ¥TTe H gifesa drsar &
13 A0 UfcRiereh T 3T FATE?

A Limit the current in holding coil | E’I’T@?TSEF?I'
H e Hrdfad sy

B Increase the current in holding coil | E’I‘%?T
PSSl H FC TGTT

C Increase the voltage in holding coil | ﬁsﬁﬁ
Uehsel H dlecol d6TU

D Decrease the voltage in holding coil | IfesaT
Fieer 3 Aot A H

73  Which speed control method of D.C series
motor is used for electric train? | D.C YT A

1 forg a1far o=t fafer 1 3T selfded e &
fore frar arar g2

A  Field diverter method | Fres sraac fafer

B Field tapping method | Hres ¢fYar Iafer

C Armature diverter method | IR sEy
fafer

D Supply voltage control method | 311'3'\%3’!@?
faoT fafer

74 Why shunt field coil is connected in series
with holding coil in D.C three point starter? | e

$Ies dIsel T D.C AT Uise T H gifesdT dise
& AT Aol A FT AT SATAT 2

A Increase the holding coil current | ?I'%?T
ISl T TGV
B Decrease the holding coil current | ET%?T
ISl T TTTU

C Protect the shunt field from over current | €

PhIes ol hic T TdTU
D Protect the motor in case of open in shunt field

| *re Hres Gol glet I FEufd 7 Aley it @fara @

75 Why the direction of rotation is changed only
by changing the armature current direction ina D.C

compound motor? | D.C TRATAT Alex & 3R ey
f&2rm &t Sgera Shaer guTet Y feer il agar &Y
ST E?

A Maintain rated speed | 33 31fd 91T 3@

B  Maintain motor characteristics | Hrex
farroar3it &t g @

C Avoid armature reaction effect | kI P=ory
gfafrar ga a g

D Prevent motor from over loading | eI &I

MR AT AN

76  Which speed control methods offers below
normal speed in DC shunt motor? | SIET A€ AT H

AT Tl A =i et Y a7t ferz=ror faferar
eTel i 87

A  Field control method | &% farg=or flafer

B Voltage control method | @lecor faa=oT fafer
C Armature control method | 3R fAgFor
fafer

D Ward Leonard system of speed control | 3TTcy
oot & 13 feraes gotrelr

77 Why starters are required to start D.C motors

in industries? | 3¢ H D.Cmaﬁﬂ?‘?aﬂﬁ?
T TeTeT 77 37T &7

A Regulate the field voltage | 819 dlecof &l
[EIGRIGEETY

B  Reduce the armature current | MR e Fr
FH B
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C Control the armature reaction | IMRR
gfafsrar r faafREa &

D Smooth operation of motors | ﬂ’lﬂffﬂ{l}l‘lﬁ
HTelel

78 Which insulating material belongs to class ‘B’

insulation? | Elﬁﬂ"&h’;?tﬂﬁﬂ'lﬂﬁ’ﬂ“ﬂ'@'?
FHeTeleh i g7

Cotton | sh9TH

Bamboo | §T&

Fiber glass | BISE Ielld

Leatheroid paper | ﬂﬂ?ﬂm

O 0O W >0

79 What is the temperature value of class ‘F’
insulation? | 0T T SegelRlel &I ATTHTET HTel

FATE?

A 90°C
B 105°C
Cc 120°C
D 155°C

80 Which type of D.C motor is used for constant
speed drives? | TR 91fd 3189 & forv fohd gk

T D.C AT T YT fhdT SATAT 82
A DC series motor | 31T H0f Al
B DC shunt motor | 3TET 2IC Al

C Differential long shunt compound motor |
SIS dlfeaT Qi HUT38 Al
D Differential short shunt compound motor |

TERITRIRIST 2ITE 2E HUT3S AleT

81 Which type of DC motor is used in elevators?

| forde & foha gohre T 31T Al T 39T fohar
SATAT8?

A DC series motor | 3r8T A0f Aex

B DC shunt motor | 31T 2I€ HAeX

C DC differential compound motor | 34T
fewife Jifftes Alex

D DC cumulative compound motor | S g
i A

82 Which method of speed control gives below
the rated speed in DC series motor? | 31Tt fAa=oT

T et AT dreRT ST A0 Al A LS A & A
Ty &l 82

A  Field diverter method | FTes sIaex fAfer

B Tapped field method | ¢<8 &3 fafer

C Voltage control method | @lecst fa=oT fafer
D Armature diverter method | 3TTH=R SR—IGET
fafer

83 What s the effect, if a four point starter
resistance is cutoff during running? | FITIHT &,

3R TR 35 ERTA IR g T e et
e?

A Motor stopped | #IEI §¢ &1 ST

B Runs at slow speed | & a1fd & Torar g

C Runs at very high speed | ag?féﬁ?lﬁ?l
TeIdT§

D Runs at reverse direction | 3ol feem & Torar

3

84  Why carbon composition brush requires in the
armature circuit to operate the D.C motor? | D.C

HIET I FATTeld el & folt TR dfdhe &
TS HUITTRNT STRT Y HTTRIHT FT Blcil 2

A Increases the starting torque | mawqg‘r
T ST &

B  Protects from armature reaction | IR

gfafshar & Sardar g

C Protects armature from over loading | I

RO 3T T eI ahear

D Reduces the spark in the commutator segment
| FFIE TS H TTeh A HT &l &

85 Why series motor produce high torque and
speed initially without load? | RIS Al 9T IR

o 3R 3Ta FreuT 3R a1l &7t der HLeh &2
A Absence of back emf | %mﬁ
eqareafa

Pl
B  Load current flows through field winding |
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$res aSfSer & ATTA A S FC YA &l &
C Armature current and field current are same |
TR Fe IR Fres Fic TAT I ¢

D Series field winding wound with thick wire |

AE IR & g Aot F i ar

86 Why the series field is short circuited at the
time of starting in differential compound motor? |

TSR Shur3s HleX # & el & FHT Jofr
8T T AT FAT o ST &2

A To reduce the starting current | SRTHe GRT
B HH I & TaT

B Toincrease the speed of motor | HIe T a1fa
el o forw

C Todecrease the speed of motor | HTeX &I It
B HH I & TaT

D To maintain proper direction of rotation |

Qe Fr 3T g ga1T T@a & fow

87 Which is the most effective method of

balancing armature? | yﬁawﬁagﬁamﬁﬂ
T FHATAT IeT hieT AT E?

A Static balancing | FWW

B Dynamic balancing | ?IﬁQﬁTvl'W

C Attached with counter balancing | FT13¢X
el o AT Helas

D Plugged with lead weight balancing | TIET #X
Tl & |TY T T I T

88 Which material is used for starting resistance

of DC starters? | 3T TSI o TR ?B'TERT-T
& foru forg arAal &1 39t fhar Arar g

A  Eureka | €I37=FI'

B Nichrome | ATSshIA

C Manganin | Heamfaer

D Constantine | SIECCISaT

89  Which DC compound motor is operated at
constant speed under varying load? | fr& Sr&Y

FHUT3Z AT T eR{T-3I9T g W Agg aifa &
Harford foRaT ST GehaT &2

Differential long shunt | SwIfITer dfeer 2T
Cumulative long shunt | GaT &I 1€
Differential short shunt | ﬁ'ﬁﬁﬁg?iﬂ'
Cumulative short shunt | ﬁﬂ'd’fc‘*l’%r%i'cf

O 0o wv >

90 How No volt coil is connected in a three point
starter with DC shunt motor? | 31T € AT &

Y Al Uige TR A &l dlee higel il STsT gl
e?

A Directly connected to supply | mmq\ﬁﬁ
e

B Connected in series with armature | 3R &
AT ST H SISTEIHTE

C Connected in parallel with armature | 3R
o T HHTATR H 31§31 &

D Connected in series with shunt field | 2c Bies
o HT AU A SIETEIATE

91 Which type of armature winding is illustrated?

| fere SepR T 31T argfsar ot Tarror fehar ara
e?

[1aJz]aTJa] m

1J2]afs]

Duplex lap winding | g@wﬁqasﬁw
Triplex lap winding | @qﬁwﬁqasﬁw
Simplex lap winding | @Wﬁqaﬁ%ﬂ
Quadruplex lap winding | Wﬁq
qrsfsar

O 0o w >

92  Which growler test for armature is illustrated?

| 3Teer o ey @ a3 e CRveOT e 2
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A Open coil test | @WW&TUT

B Grounded coil test | ST ST AR TLI&T0T

C Shorted coil test | Wﬁi’@ﬁqﬁw

D Shorted commutator test | wﬁam@
gdretor

93  Which speed control method is applied to
obtain both below normal and above normal speed

in DC motor? | AT A H TTHAT & W 3R
& grat It ol 9T e & Tl fohg arfa
forzroT fafer I ey famam srar &2

A  Field control method | &3 faa=or fafer

B Armature control method | 3= faa=or
fafer

C Tapped field speed control | ¢ fres arfa
IGEEWI

D Ward Leonard speed control | ars fores
aifa farg=or

94 Why commutators are sparking heavily? |
HFYETY AT Aol TAHb 3cToe] Y LT 67?

A Incorrect brush position | §T2T T ITeTd FEATT
B Incorrect field connection | 3Teld thies
Folareled

C Incorrect direction of rotation | aﬁa@rw
feem

D Incorrect armature connection | eI TR
Folerelel

95 What is the action of the induced emfin a

running D.C motor? | I T&T D.C AleT H 9T
SUATE FT har FAT

A Assists the applied voltage | ©Ta] dlecof &l

G AT &

B Opposes the applied voltage | arwy\a’l?asrw
[CRPETGIRS

C Increases the armature current | 3THTR
T TSI &

D Decreases the armature current | 3THTR
EOREIG IS

96 Which motor has this characteristics curve?
g AT 7 Ig fadwarg?

e

TORQUE
A  Series motor | A0fT Al

B Shunt motor | 2€ HIX

C Cumulative compound motor | T Tifaem
HieX

D Differential compound motor | Ta%ee I+
HieX

97 What s the purpose of resistor connected
with holding coil in 4 point starter? | 4 ﬁ(’gRIéTff
BIfesa Higel ¥ I3 TTeRIU &l 3237 FAT?

A Limit currentin NVC | TaTdTET & &RT S1&AT

B  Protect the coil from short circuit | QME Tfdhe
3 g e

C Protect the motor from overload | FEI T
HIeRells ¥ =

D Protect the armature from short circuit | Qe

e & e P e

98 Why the D.C series motor field winding is
wound with thick wire? | D.C WHIEQ Fr hres

ISTSIT AT dR & AT q138 F1 82
A To regulate field voltage | HTes dlecal ol
fAfafAq s fav
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B To carry the load current | S FE &l of ST
& faT

C To keep maximum inductance | 3TT&Iehds 9T
@A & faT

D Toreduce the armature reaction | 3R

EIGIERICIE T ETC eIy

99  Which type of speed control of D.C series
motor? | D.C $[@ell HIEI T et fAg=07 fohg gepk

HE?

L+

oJ B

A Field parallel method | 813 FATATR fafer

B Field diverter method | Fres srac fafer
C Field tapping method | $res T fafer

D Armature diverter method | IR sRE&R
fafer

100 Which type of D.C motor is suitable for
shearing machines? | et dALfaT & forw sisT 4T

YR &I D.C AT 3T 57

A Shunt motor | g€ FlEX

B Series motor | AU Hlex

C Cumulative compound motor | ot AT
A

D Differential compound motor | e aifs
A

101 Where D.C compound motors are preferred?
| &gl D.C AT A r wrafAsrar o g2

A  Constant load requirements | TEMAR &g
HTGRIHATT

B Constant speed requirements | g afadr
HTGRIHATT

C High starting torque requirements | 3Td
3R e ToITeOT ATaRTHATT

D Constant speed under varying load
requirements | 3TeT9T-3To19T SIS 3TARIH T3 &

3R forare a1fey

102 What is the necessity of starter for D.C
motor? | D.C AeX & Tl T T &7 TaThdT

e?

A Limit the field current | FTes &RT T AT
Coxg

B Limit the field voltage | PTes dlecal & HIfAT
G

C Control the motor speed | FeI FT I1fd I
IGRIEGEDS

D Limit the armature current | 3TTHTR € I
AT

103  Which type of instrument is used to test the

armature winding? | 3R arsf3aT &r gdreToT
L & fIT 5T YohR & IYHIOT &7 FAeT fomam

ST 8?

A  Megger | #FIR

B Growler | AT3elY

C Multimeter | HocIHTEX
D Ohmmeter | 3TEHA

104 Why the holding coil of a 3 point starter is
connected in series with shunt field? | 3 q@?ﬁ'@tlé{

o BITeSaT ShiSel I AT PHIes & ATY Aol H 1

ST ST &2

A To limit the load current | oIS ¢ I HIAT
ERC ARy

B To run motor at low voltage | FH dlecol W

AT Tellel & Tl

C To hold the handle plunger firmly | ToIo I

&reh & gehsa & o

D To protect the motor from high speed | 3T

BIGK K IS E AR ICATIY
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105 What is the best method to change the DOR
of a compound motor without change of its

characteristics? | TRdT I3 AleT ST fAvdn3it &
ST S€el, DOR Feelet & forv Ted 31T [afer 7=
g?

A Change armature current direction | R
T feRm Sger

B Change shunt field current direction | gie Hies
T feRm Sger

C Change series field current direction | Sofr

thles URT feerm sgel
D Change the current in armature and shunt field

together | 3TTHTR 31 e Hies & e I T TTT
el

106 What is the purpose of NVC connected in
series with the field in 3 point starter? | 3 ﬁ?.‘_;

TETET 3 &1 & | AW 7 T3 TeTd T &1 3827
FATR?

A  Toimprove the torque | WE#WQ?
fow

B Reduce the field current | HhIes T e FY
C To decrease the back emf | 3% EMF I e
o & for

D To preventincrease in speed | ?rﬁr:fraﬁafr
Uehel & Tl

107 Which type of DC motor is used for sudden
application of heavy loads? | HRT {R & 31T

HTRA YT o TIT Tehd T T ST AT &t
39T fRar Srar g?

A Shunt motor | €AY

B  Series motor | 0T #AleX

C Differential compound motor | e Iifes
Ay

D Cumulative compound motor | ot i
Ay

108 Which speed control method is used in food
mixture motors? | @ied fA0T Acd A fovg arfa

forz=or fafer &1 39ier fasam Srar g2

A Voltage control method | @lecet fa=oT fafer
B  Field diverter control method | Hres srIacT
ferz=or fafer

C  Armature diverter method | 3TTH=R ST
fafer

D Series field tapping method | Wﬂqm
fafer

109 Which speed control system provides a
smooth variation of speed from zero to above

normal? | ﬁaﬁr?rﬁrﬁﬁawmaﬁrﬁ
AT H 3118 deh T Y Teh TTHIA TG elTd
eTeT T &7

A Field control | & fAT=oT

B Armature control | 3R f@gFor

C Field diverter control | Hres sacy faz=or
D Ward-Leonard system control | ars-forars
e fagaor

110 What is the purpose of tapes in winding? |
BT H T FI T FATR?

A Insulate slots | ToTCH T ${:|9<¢1C Ey

B  Bind the coils | aﬁsﬂaﬁaﬁr

C  Wrap the conductor | H5Fe dUC

D Insulate exposed conductors | gﬁra@maﬁr

gogoIT Y

111  Which type of DC armature winding the
front pitch (Ye) is greater than back pitch (Yg)? |

fora 9 I 3T 3R the [ (arsuw) fis &
T (arsel) & 31T+ g2

Lap winding | é’rcras%W

Wave winding | a-q'a'lgﬁm

Progressive winding | maasﬁm
Retrogressive winding | ﬁ‘;’@@aawﬁw

O 0o w >

112 What reduces the cross sectional area of

core material for VA rating? | AT T F T HR
TTHIAT o I HFeTol 817 I FIT v AT g7
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Dynamo sheet | ST T

Low alloy sheet | Wfﬁl’ﬂ'iﬂgﬁw
High alloy sheet | ﬁﬁ'ﬂ'iﬂ?j?ﬁﬂm
Normal steel sheet | HTHT Fret AT

o 0O v >

113 How to obtain opposite polarity in adjacent

poles of a 4 pole DC motor? | 4 %’d?l’@fﬁl?\"ﬁ
3T ¢al # fAudd Yaar Ha gred F:3?

A Varying the number of turns in coil | éﬁﬂ'ﬁ'
AT hl AT T T el

B Making series connection of coils | HIged Fr
AT HAISTeT FToTelT

C Making parallel connection of coils | EFTSFIQ?

HHATATAR GATSTeT TelTeT]
D Making current flow in different direction |

ETRT TaTg Y 37e19T fRlT & ST

114 What s the operation in the rewinding

process? | ﬁas%wmﬁugmw%v

Cleaning of slots | T ST AHTS

Removing of winding | HIE%?TT?IWT%-!T
Removing of wedges | doiaT &l §eTeT
Cutting of winding wire | G333 IR SIeaT

o 0O w >

115 Which insulating material used in winding is
a highly non -hygroscopic and possess good

electrical strength? | ATS3T 7 3YJTeT T ATt dTell
hleT T Frelereh ATH Teh e IR-

IATERI e o HGe dTell) § 3 3 faege
uferd @ 82

A Empire cloth | THFATIX ShYUsST

B Triplex paper | fgTeld@ dmx

C Millinex paper | Afoseg 9ux
D Leatheroid paper | IHS T ST

116  Which type of armature winding is

illustrated? | for® 9o &1 3R argf3er &r fEor
AT g?

Triplex wave winding | f&Telerd da arsfaar
Duplex wave winding | Wéﬁﬁﬁ%ﬂ
Progressive lap winding | WT%‘\’ﬁTvl'ﬁ'qa'I?%?T
Retrogressive lap winding | ﬁ@mﬁq
arsfsar

O 0o ®w >

117 Calculate the average pitch (Ya) for
retrogressive wave winding, if No. of armature
conductor = 14 No. of slots = 7 No. of poles =2 |

Reraf@g ag arsfEer & v 3itaa [ (v.)
ITOTAT Y, TfE, IMHTT Shgee hr &AT=14, TAlc
aﬁréw:ziga"raﬁrm:z

A 4
B 6
C 8
D 14

118 Which type of test is illustrated for the

armature after rewound? | gfaeIq & a1¢ 3R &
T fohd geh &1 odiaToT RAfAd fnam arar g2
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3T9E H S e fear Srerg?

A Runsinslow speed | T aIfd T Tardr g
B Runsin high speed | 0o TFdR H Teldl &
C Runsin the same direction | T g1 TGRmT &

ECGINS
D Runsinthe reverse direction | 3ocr feem &
ECGINS
A Open coil test | @Wqﬁw 122  What is the speed, if field winding of a DC
B Shorted coil test | aguﬁag%zrqfraﬂw shunt motor is in open circuit? | If¢ 3T 2T A
C Voltage drop test | @lecsT 319 TR I&T0T FI fres sz v afbe F g arafaFarg?
D Grounded coil test | UB?EE\IJBFWW A Stop running | TolelT §iG g1 ST
B Motor runs normally | FIeT AT & &
119 Why the newly rewound armature must be
preheated before varnishing? | arﬁfaﬁﬁﬁqgﬁm ﬂﬂ?ﬁ%’
Farse 3T ) T T R ST AR C Runs at slow speed | ?ﬂ?ﬂ?lﬁ@ﬂﬂ?ﬁ%
A Drive out the moisture from it | sﬂﬁraﬁraﬁr D Runsin very high speed | agﬁésr?rﬁ-rﬁr
et vt TN &
B Help for quick drying of varnish | aTfeler & 123  What is the reason for reduction in speed of
caid {:I’ulafl & forv A a D.C shunt motor from no load to full load? | [
C Make easy to penetrate varnish inside | 37eX mﬁq\ﬁmﬁé’rm%ﬁﬂﬁaaﬁr?ﬁmmw
aToTT AT TS SeTU FT HIOT &2
D Maintain uniform spreading of varnishing |
aIfATRIST & THATA JAR F §TC IW :—\\
120 How the direction of rotation of a DC * i
compound motor is changed? | 3IHT HYAT38 FAleT & :
Eyofel &1 R Y Sl e & |
A By changing the direction of armature current I
| 3R T i fEem seere 0 =
B By interchanging the supply terminals | chxﬁ A Shunt field current increases | 2IC s
fAeTell 1 39T F Fh Seard

C By changing the direction of both field and

. B Shunt field current decreases | 2I€ s e
armature current | &7 31 3T grar r feem

gedrg

delehY _ x
D By changing the direction of series field current ¢ Armj\ture voltage drop increases |
| AT 8 S RT  ReeT e e 1 7 el &
D Armature voltage drop decreases | IR
121  What is the effect in a D.C shunt motor, if its qrecol A FHA BT ATAT &

supply terminals are interchanged? | 3y 4T 2C Al
H T TG ST 5, TG SHehT Tl effaTell
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124 Which winding fault is determined by the
test? | ShleT AT ATSTST S19 S GLN&TOT GIRT ATd
[ERICIGINE

A Open coil fault | qﬁfi%?ﬁaﬁ'q

B Short coil fault | TEARAT FHzeT AT

C  Grounded coil fault | IT333 FHIS Pice
D Grounded core fault | A3 FIT Pice
Answers :

57-D|58-C|59-D|60-A|61-A|62-A |
63-C|64-A|65-D|66-C|67-C|68-D|
69-C|70-D|71-D|72-A|73-A|74-D |
75-B|76-C|77-B|78-C|79-D | 80-B |
81-D|82-D|83-B|84-D|85-A|86-D|
87-B|88-A|89-B|90-D|91-A|92-A|
93-D|94-A|95-B|96-C|97-A|98-B |
99-A|100-C|101-D | 102-D | 103-B |
104-D | 105-A | 106-D | 107-D | 108-D |
109-D | 110-C | 111-D | 112-C| 113-D |
114-C|115-C| 116-C| 117-B | 118-B |
119-A | 120-A | 121-C|122-D | 123-C |

124-A |
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125 What is the formula to calculate the slip
speed (Nqip) of 3 phase squirrel cage induction

motor? | 3 ell TEFael shol IROT Al hr Fara

AT (Naip) ST ITOTSAT e ohT F FAT &2
A Nslip=Ns _NT

B Ns|ip:Nr _NS

C NSM)=A6;NT

D NsM)= Ni;AH

126  What is the type of control circuit? | IGRENI

Tfhe T YhR FATE?
L4 Lz

o
BTART K
1 o L/ I a [] :j |
ALJa I

—_(szE)_JG

Inching control | 3feaer fAz=0T

ON remote control | ﬁﬁrcra@?»rw

OFF remote control | R#AIT &hglel dg

Forward & reverse control | 3mr ik Raw
IGREMI

O 606 w >

127  Which formula is used to calculate the total
electrical degree in stator of an A.C motor? | A.C

AT & T A Tl Tae e 3ol T 10T ot o6
forw forer [ a1 391eT foharr ST &2

A Total electrical degree = 180° / No. of slots |
ol ey 390 = 180 ° / Toileq & dear

B Total electrical degree = 180° x No. of slots |
ol e 39l = 180 ° x TolleH T FET

C Total electrical degree = 180° / No. of poles |
et Tae gl f34t = 180 ° / ¢al v Fean

D Total electrical degree = 180° x No. of poles |

et Taegel f34t = 180 ° x Yalt & wear

128 What is the name of the A.C motor starter? |

A.C HIeT T&TET T ATH FAT &2

A DOLstarter | DOL TeTe
B  Auto transformer starter | Hﬁm

C Semi automatic star delta starter | 37T

TgaTford TER Soel TEe
D Fully automatic star delta starter | 1ZI‘;USF

TIATTId TR 3ol T

129 What is the formula to find synchronous
speed of a A.C 3 phase induction motor? | THT 3

el UROT AT T Jedehlioleh ATl FATcl el T G
FATE?
A Synchronous speed= ? |<_:IDF€IT=I?I'1%IT=I?TI'%:

120F

P
B  Synchronous speedzlzlfP | m'ﬂﬁ:

120P

F
C Synchronous speed = % | m'ﬂﬁ:

120

PF
PF
D Synchronous speed = 1,7 | m'ﬂﬁ

_ PF

~ 120

130 What s the fuse rate to run a 10 HP three
phase induction motor at full load? | q‘;U‘fFffgW 10

T cfYeT Fell YROT HeR Tellel & T Tl eI T
e?

A 10A
B 15A
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C 25A
D 30A

131 What is the name of the contact marked as

X? | EYF T ATH FIT § T X & &9 H 211 I13m

G % L) OALREAY T X L
1 ‘“—‘J 1i3 1 _L‘ o an |
40 ¥ NOVOLT OCIL
(P
CIRn :

Star contact | T&R HIh

Delta contact | AR

Auxiliary contact | TgTIH T

Over load relay contact | 3TTaX @8 Rer @uh

o 0O v >

132 What is the type of A.C motor stator

winding? | A.C AICT T ATST39T ol TR FAT &2

A Single layer basket winding | T&3Tel o

SIEehe aTgfaar

B Double layer basket winding | EECRTRE

SRhe arsfsar
C Involute coil winding | STfee g%?»rang%?T

D Diamond coil winding | ﬁﬂiﬁ?ﬂ'ﬁﬁ%ﬂ

133  Which formula is used to calculate
percentage slip of an AC 3 phase induction motor? |

T 3 FHell $5FLUA FAreX hT Ticrerd erd & Iorer

el o TeTT T T o1 3TNT FehaT ST &7
A XM 4100
S
B XNy 100
¢ %M 4100
Ny
p XN 100

T

134  Which operation the control circuit is used?

| fazFor @féhe ford yamee & 39T foram Srar
&

L L2

oo .j'_E
e
e ’
K}'le
A Remote control | R&AIT Hheler
B Inching | 8f=der
C
D

-

Sequential control | HW%W
Forward and reverse | 3T 3R s

135 What is the phase displacement between
windings in 3 phase motor? | 3 &hell Al fras%ﬁ

% 1T el TATATIA FAT§?
A 90°

B 120°

c 180°

D 360°

136 What is the name of the part marked as X? |

A Shaft | T¥C

B  Brushes | ST

C Bearings | SaR=g
D Sliprings | era Rar

137 What is the name of AC coil winding? | AC
PIST ATSTSIT T FAT ATH g2
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Half coil winding | W;EHEE%?T
Whole coil winding | qjgl%?»rasﬁw
Single layer winding | T&3Tel olIR arsfaar
Double layer winding | aﬁ%frmas%w

O 6 w >

138 What is the name of the coil winding? |

EECIEISE R DI

A Concentric coil winding | W‘Eﬂ??ﬁgﬂw
B Distributed coil winding | ﬁ?lﬁ?l’i%ﬁa'lsﬁﬂ

C  Mesh shaped coil winding | SITeT 3T T
iﬁ‘f’:ﬁ o

D Diamond mesh shaped coil winding | 81X ST
STTelY o 3TTeRR T el TS aT

139  Which speed is called as synchronous speed
in 3 phase induction motor? | 3 &elT 9RUT AT H

Ry 9T 2B e arebIToras Ty et STTel &2
A No load speed | Q]EIEHR'?Iﬁ

B  Fullload speed | Wﬂ’l‘s’?‘ﬁ?

C Rotating magnetic field speed | gaﬁua%—ara%r
A P e

D Relative speed between stator and rotor |

T 3R Ve & g gmveT 1fa

140 What is the name of the starter symbol? |

TETCT Icieh T ATH T 8§72

__O—

A D.O.Lstarter | D.O.L T&TET

B  Auto transformer starter | Hﬁw
X

C Automatic star/delta starter | FaATTold TER /
Seel T

D Semiautomatic star/delta starter | 37T

TaaTford TR / 3ol TETe

141 Name the part marked as X of the winding

machine? | aﬁ%ﬁmﬁa%mxaﬁmaﬁ?

Mandrel | @TIE."EFI'%QT
Wire feed | dX &l dRT
Wire guides | AR 9SS
Spool carrier | el dlgeh

O 0o w© >

142  What is the electrical degree of 6 pole stator

of motor? | 6%@&%@%@3%@&6@
g?

A 360°
B 720°
C 1080°
D 1440°

143  Calculate the number of coils per phase per
pair of poles of 3 phase motor having 2 pole, 24

slots, 12 coils? | 2 ¢[d, 24 W, 12 F3ell dTel 3 Fell
AIET o gl T AT Ffd et G Ieil 1 SivsT
I IUTAT hY?

A 1
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OO0 w
w

144 What is the name of the starter symbol? |

TETCT Tciieh T ATH T §72

A

Star delta starter | T€R Soel T&TeX
Rheostatic starter | {EeR e e

Direct on-line starter | IcT&T 3T CIES| T

Autotransformer starter | Hﬁ@ﬂ'ﬁﬁ??ﬂé?

O 606 w >

145 What is the formula to calculate pitch
factor? | Tl heh shY ITUTET sh{et ol T T 2
A Pitch factor = Polepitch

Windingpitch

B  Pitch factor = Windingpitch
Polepitch

Numberof slots

C Pitch factor =

Numberof poles

Numberof poles

D Pitch factor =

Numberof slots

146 How pole pitch is measured in terms of slots

in AC winding? | 9TeT aT33a7 &ht THT arsfar &

TAIC & TG H hdd ATAT AT &2
A Totalelectricaldegree
Numberof slots

Numberof slots

Totalelectricaldegree

C No. of slotsinthe stator

No. of poles
No.of poles

No. of dotsinthe stator

147 What is the formula to calculate the mean

circumference of the coil? | a:Ts?»raﬁraﬂwcrﬁﬁr

T ATUTGAT el ohT G AT 52
Lout—Lj
A Lm = outz in cm
Lin+L
B Lm = in out cm
2
2
C Lm= cm
Lout—Lin
2
D Ln= cm
Lin+Lout

148 What is the synchronous speed of a A.C 3
phase induction motor having 6 poles at a

frequency of 50 Hertz? | 50 6@?@[3—1’@%“ 6
¢[d dTel A.C 3 Fell IRUT AT T Jegehrfelsh Tt
FATE?

A 800 rpm | 800 3TRUITH

B 1000 rpm | 1000 3RYITH

C 1200 rpm | 1200 ARATH

D 1440 rpm | 1440 3RUTH

149 Calculate the percentage slip in a 3 phase
induction motor having 6 poles with a frequency of
50 Hertz rotating with actual speed of 960 rpm? | 3

el SSFAA Al H Ifaerd FEed hr 3011 Y,
TSIEat 50 gt 1 3MTgfed & AU 6 ¢ g1 &, S

960 RYTTH T T Tl & A EAA B2
A 2%
B 3%
C 4%
D 5%

150 What is the rotor frequency of a 3 phase
squirrel cage induction motor at the time of

starting? | 3 el Sl [Tl chof URUT AT T AT
SEER

A Equal to supply frequency | mﬁ@rmﬁr
& SR

B 3 times less than supply frequency | 3-1TC|;%

IMGIca A3 A HAL

C 3 times more than supply frequency | 3-1TC|;%
3mgfcd & 3 711 31f8h

D V3 times less than supply frequency | 3-TI'C|f-T
1 3TgfeTd A V3 AT HA

151 How the voltage is received in the rotor of

induction motor? | S3aT HIeI & AT H dlecoT
HE 9TCd gieT 87

A Direct connection from stator | ¢ & HreIT
qaer

B Due to back emf produced in stator | T¢I
3cqTfed S STHATR & HROT

€@ N\IMI Question Bank

Page 24 of 47



ELECTRICIAN - Semester 3 Module 3 - AC. Three Phase Motor
Reviewed and updated on: 01% November 2019 Version 1.1

C Direct connection to rotor from supply | 3-1TC|"\%

& U T Hem o
D By the transformer action of stator and rotor |

FET 3T VST T TG HIR SaR’T

152  Which method is applied to control the
speed of 3 phase squirrel cage induction motor

from its rotor side? | 3T9eY AeX T&T 3 Shell
FeFatel shot WoT AT AT a1fd &l fIRT A &+
forw shler &1 Tafer 3T &y STt 82

A Cascade operation | $h&chs gdTelel

B Changing applied voltage | 3TRITId dlecol
ECTRGIES

C Changing applied frequency | mm
H gRade

D Changing the number of poles | ga*r@mw
dceledr

153  Which loss of 3 phase induction motor is
determined by blocked rotor test? | 37d%g e

TRYETOT ST 3 el IROT FHIE T FleT AT ATl
freTRa frar srar g

A Copper loss | AT T FH&T

B  Friction loss | gyuT g1far

C  Hysteresis loss | fEeREAT grfa

D Eddy current loss | $7aX &TRT gTfeT

154 Why pre heating is necessary for motors
before varnishing in rewinding process? | ﬁHE%?T

gfshar 7 arfeifRier @ vger Ay & fow iy fifcer =t
HTaRTH 82

A  To dry the varnish quickly in winding | EE%?T
# afeter o 1Y & T ¥ o

B To easy flow of varnish in the winding | HE%?T
# arfeter & AT yarg & forw

C Toincrease the insulation resistance value |
ggol 2Tl IR Hod de & faT
D To drive out the moisture in between winding

layers | HE%?TWQ?W@'WE#W
ferTerat & folw

155 Which type of test is conducted using
internal growler in AC motor winding? | TEI Al

TS 3T 7 3TARE ASR T 3T/ b bl
Jeh1X T TIET0T fohaT STt 87

A Ground test | IM3S eTE

B  Polarity test | %T:IHT?}_C’

C  Continuity test | faaRdr agieToT

D  Short circuit test | 2lic Tfdhe eTe

156  Which device is used to test startor winding

short and open fault? | Wﬁﬁ?ﬁ%?ﬁ?
39T Blee T YRIETUT et & Toll fohd 3UhTT &7
39T fRAT SATAT B?

A Tong Tester | Ei9T U{ieTeh

B Internal Growler | 3TTdR& I3

C External Growler | ST A3

D Digital multimeter | Bfoice Ao

157 What is the purpose of using thermal cutout
in addition to fuse in A.C motor circuit? | A.C #lcY

Tféhe 3 TSt & ITelTdT Yool HEITIE T 3TN
FA FI 3T FATR?

A Protect from heavy load | RY $TR & T&T HY
B Protect against high voltage | E'Ié'ﬁﬂmﬁ
CEICK TS

C Allow for continuous over loading | eI
R AT IS

D  Protect against dead short circuit | Qe

Hfche & ST

158 Which type of motor is used to provide high
starting torque at variable speed? | gRafda afa

W 3T YRR Tl Yeld ot o farw e
YR T AT HT 3T fhaT SATAT 2

A  Universal motor | qjﬁaéar:n‘m

B Permanent capacitor motor | AT FUTRT
HeX

C 3 Phaseslip ring induction motor | 3 Fell ot
REr 9RoT A
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D 3 Phase single squirrel cage induction motor |

3 Shell Uehol [EFaTol shol 90T AT

159 What is the relation between torque and slip
in an A.C induction motor? | A.C 32T Al H

TTETIN TEeTT o ST T Heer 7

A  Slip increases torque decreases | WEEFT?
JoTEUTEEAT §

B Slip increases torque increases | T&ol9 st &
TTEUTEGT &

C Slip decreases torque increases | T gea o
TTEUTEGT &

D Slip decreases torque decreases | T e o
JoTHUTEEAT §

160 What is effect of A.C induction motor if rotor
bar is in open circuit? | Hﬁgﬁﬂﬁ%‘ﬁﬂaaﬂﬁ
AT A.C S3aRIeT AYET T FAT TG 8T 82

Vibration of shaft | QITFE T Ul

Motor will not start | ﬂ’lﬂ'{'%ﬁﬂﬂm

Runs in slow speed | €T aIfd A Terar g

Over heating of motor | #leX & AT &I

ﬂUﬁWZD

161 Which type of wire is used for rewinding of
A.C 3 phase motors? | A.C 3 %ol Al é:ﬁ?ﬂ?%ﬁ

& forT foFg 9opR & ar &1 393197 fham STar &2
A Super enamelled copper wire | WW«?
FIIT AR

B PVC covered copper winding wire | qrdray

C Single cotton covered copper wire | Harer

FHUTH a3 HIU IR
D Double cotton covered copper wire | SsTel

FUH HaX die & diX

162 Which material is used as wedges in winding

process? | a@%ﬁqﬁmﬁéﬁa%mﬁﬁm
HTHT T 39T fhaT ATAT 8 ?
A Empire | THIRY

B Cotton | sh4UTH
C Bamboo | 919
D Terylene | el

163  Which test in winding is essential before
giving supply? | mﬁéﬁﬁﬂas%wﬁaﬁam
TT&TOT TR &7

Ground test | IM38 SEC

Polarity test | qraIRET eTe

Open circuit test | 3NueT fdhe e

Short circuit test | 2ic Tfdhe eTe

O 0o v >

164 Why the rotor bars are mounted in a slightly
skewed position in 3 phase motor? | e ToTehi ST

3 Shell AT H AT ToST FEUfa # &4t W@ Srang?
A Generate maximum flux | 31TIhdd FoIgd
3cTeol Y

B  Reduce the stray losses | Fgmﬁramﬁ

C  Maintain the rotor speed constant | JeX 1T

I TEU FATT IW
D Produce more uniform rotor field and torque |

31fRres HHATST Ve &1 3R TelTguTent Scdreet Y

165 Which loss is determined by no load test of 3
phase induction motor? | 3 WWQHHIEQ FaAr

IS TFC A hieT AT g1fed el grefr 82
A lronloss | c‘»ﬁ%’é‘lﬁf

B Copper loss | dTeT gIfeT

C  Friction loss | gyuT gifar

D Windage loss | anorzﬂﬁr

166 Which method of speed control two variable
speeds only obtained in 3 phase motor? | 3 hell

AT H a1 FI AT e Yy hled W fafr
e al T 1 JTed Il &7

A By rotor rheostat control | U R3feee
IGRELIE-GCIRY

B By changing applied frequency | IR
e aacrane

C By changing the applied voltage | IRTAT
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dlecoT &l Seolehl

D By changing the number of stator poles | T&e
¢JaiT <hT T T FeeTeh

167 Why slip ring induction motor is fitted with
wound rotor? | T&ed 3T S5 HIeT T a138

AT A FT The TohdT ST 82

A To reduce the slip | F&aTT H LT

B To control the speed | 31T &l fIT et &b
forw

C To reduce the losses | gﬁﬁwwﬁ%ﬁv
D To get high starting and running torque | 3T

FIET 3R TfAer Fereeiare & faw

168 What is the function of timer in automatic
star delta starter? | TTATTId T€R Soal T H

CTSHAI T 1 FIT 7

A Trip at over load | AR A8 R fea

B  Switch ON at pre set time | qﬁﬁﬂ‘rﬁam
R AT X

C Change from star to delta | TR U ST H
gl

D Switch OFF at pre set time | q‘\é‘ﬁiﬁﬁﬁm
o e 3T Y

169 Which instrument is used to measure
insulation resistance of a 3 phase induction motor?

| 3 ol UROT AT o Seg el el TR Y AT &
fore fore 39eRoT &t 3uter fohar SiTaT 82

Megger | #IR

Multimeter | #ecIHICT

Shunt type ohmmeter | QEWW
Series type ohmmeter | H0T YR 3eHHAI

O 0O w >

170  Which test in winding is illustrated? | El'lg%ﬂ
H Pl ar g afaT g2

Polarity test | %T:IFIT?,W
Ground test | M3 SEFC
Continuity test | fa¥ar adrator
Short circuit test | 2lic Tfdhe T

O 0o w >

171 What is the starting current of an A.C 3
phase induction motor? | A.C 3 %ol SSFRUT HIeX

T YRTAS I FAT 8 ?

A 1to 2 times of full load current | Cl('\U‘fﬁTIT?IRT
I 19 2 3T

B 2 to 3 times of full load current | 1ZI‘;U‘f AN g
129 3 3T

C 4to5times of full load current | C[\Uﬁ'aTIT‘ETRT
47 5 T[T

D 5to 6 times of full load current | C[\Uﬁ'aTIT‘ETRT
I 5 Q6 I

172  Which method is used to control the speed
of 3 phase induction motor from stator side? |

TECX T3S U 3 ol S5FAT Al ohl ITfd ol
IR e & forw fasg fafer sr 39ter forarm Sar
g?

A By cascade operation | %‘maﬁ%maﬁm
B By rotor rheostat control | TeX R3TEeT
[GRELIE-GIRY

C By injecting emf in rotor circuit | U Afche A
SUHAUG §alac dlh

D By changing the applied frequency | IRTAT
e aaane

173  What is the speed control method of 3 phase

induction motor? | 3 &Il 9ROT HTeX I T
IGRELRCIBECE KT
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s ]
&Y

nn
i WOTOR S ,ﬂ

A Cascade operation method | $HThs HdTeleT
fafer

B Rotor rheostat control method | TeX R3NEeT
fargor fafer

C Changing applied voltage method | 3TRITOA
dlecsT Seolelr fafer

D Injecting emf in rotor circuit method | IIeX

e [Af & SvaTE ST

174 What are the two functional circuits
incorporated with a three phase motor starter? |

T Shell ATCY TCIER o ATY AMTHS &l FHIATcHS
afFcFard?

A Open circuit and short circuit | 39T afdhe
A% 2ifc Afdhe

B Closed circuit and open circuit | Fairet ihe
3R 309eT e

C Short circuit and closed circuit | Qe Tfdhe 3R
Fellor Afche

D  Control circuit and power circuit | TEZ=oT

Hfdhe 3 arax widhe

175 Which is the main property of leatheroid

paper insulation? | WE‘S’WWQHWQ@
30T e T2

A Non moisturized material | ﬂTH\f_&R—TITISE
qrHAT

B  Highly non-hygroscopic | 37 IR-
HEDESACED

C Very good for class F insulation | H0f Th
g@ﬁ%m%%ﬁra‘gﬁm%

D Better ageing and dielectric strength | S8dX
TfSiaT 3R WRrdegd efeFd

176  Which type of insulating material is selected
for binding the coils and over hangs? | g@?»ram

N a1 ey 35 TN ey SR By SRR
I T IIT T ATar g?

Cotton sleeves | AT Fellcd

Empire sleeves | T&FIRR Tolled
Terylene thread | el 4TI

Fibre glass tape | CFIBHTW?CT

O 0o w >

177  Which insulation is used for cuffing in AC
winding? | THT arsfser 7 sither & forw ivg
SYOIRIET T 3TTNT T ST &2

A  Fibre glass tape | CFIBETWRTET{

B Leatheroid paper | THS ST STl

C Empire fiber glass tape | TFATIT BIS& IATH
[

D Fabric based adhesive tape | FU3 X TR
IERET IR

178  What refers coil in AC winding? | THT
ST H HigeT I FATHEAd 67

A Number of turns connected in series | HOT &
SIS GATAT hr FEdT

B Number of turns connected in parallel |
AT 3 o3 et 1 e

C  Number of turns under two similar poles | @r
AT ¢at & iereiel geTaT T e

D Number of turns under two dissimilar poles |

el 3TEHTST ¢l oh 3icTaTel GHATaT hT HeAr

179 Which type of AC winding the number of
coil/pole/phase is more than one at different

pitches? | Tohd YehR T THT ATST39T Fr AfFeeT
ot oY il / ool / Shell hT 6T Ueh @ 31 2
A Involute coil winding | Wiﬁ?ﬁaﬁ%ﬂ

B Diamond coil winding | éﬁvsmarang%w

C Flat loop over lapped winding | ﬁ%as%ww
Fele oI
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D Flat loop non-over lapped winding | W\\E"(‘»I"\q

180 Calculate the number of coils /phase/ pole
for a 3 phase double layer distributed winding for a
motor having 36 slots, 36 coils and 4 poles? | 36

TAICH, 36 Pised 3R 4 UTel aTel Al & folT 3
Fell 39T W [adRd a3 & forw shiser 1
HEIT / ell / Grel Y I0TAT hy?

3 coils /phase/ pole | 3 %TBT‘—T/WT/W

6 coils / phase/pole | Gﬁsﬂ/W/‘:ﬂ?{

9 coils / phase/pole | 9 ﬁ%ﬂ/ﬂ/m
12 coils/ phase/ pole | 12 EF\IJB?T/EthlT/tﬂT‘—T

o 0O v >

181 What is the type of rewinding process? |

Rargfsar gfrar &1 yrR T g2

Hand winding | 8T & oTdcaT
Skein winding | ThiSsT ATS 34T
Former winding | iR aTgf3ar
Machine winding | mhaa’lg'%ﬁ

o 0O w >

182  Which type of starter is used to start and run
the 3 phase slip ring induction motor? | 3 %l fEelT

T g5eerat HIET T Y& et 3R <TelTe & faw
fohE S & TETEX &l 3TN fohaT ST 87

A Direct on-line starter | Y& 3Tl dlTSeT TEIE
B Rotor rheostat starter | X e werex

C Auto transformer starter | H\?ETWW
T

D Manual star-delta starter | ﬁgrmq-—dr{-?m
T

183 What is the function of collar? | Pl FT
HI FATE?

A Provides insulation around field | &9 & ARI
3R GG FeTeT I &

B  Provides insulation for coil tapping | W
AT & AT o gelRreT YeTel LT &

C Helps tightening material for flange | ﬁﬁg‘ﬂ'
TR & ToIT TN & e A Ace adT &

D Provides insulation for heat transfer from coil |

$HSoT H FSAT EYEATROT & Tl g olleT Felel
FATE

184 Which type of winding wire is used to wind
submersible pump motors? | fFT YR & arsfzar

AR &l GaATTe o 99 AlCY ol argf3aT el o folw
3T fRAT SATAT B?

PVC covered type | 9IaTAT a¥ ThiX
Terylene thread type | Tellel I8 YK

Super enamelled type | wma@
Double cotton covered type | W@W
ISEP

o 6o v >

185 What is the reason of long chord winding is

avoided in AC motors? | TH Al A N FiS

QTS 33T T et T FATHFRUT 2

A Low efficiency | h#H G&TdT

B Low starting torque | sH ‘{KWEIT‘—ITQI'\U‘T

C More winding wire required | masﬁw
AR T 3TaRTehT

D Less heat dissipation | a@rg'é:nw a?o:loch{-lle-l

& fAaa Y

186 Which type of winding has more space for
cooling? | 2fider & foIT Toh T YR FT arsf3aT &

37 S &2
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A Between overhanging coils | Wﬁ?ﬁ?{
FE

B Between overhanging coil and rotor |

ARG e Figel IR AR H &

C Between overhanging coils and yoke |

3R eTeT dIgel R Aleh o ST

D Between overhanging coil and wedge |

R R igel IR AT F

187 Where the panel boards are used? | Yot
1S gl 3T fFT AT B?

A Industrial motor drives | 3G AT gI3a
B Domestic wiring circuits | Eli?{\amﬁ?THﬁE
C 3 phase domestic wiring | 3 waw\arraﬁw
D Load distribution for AC & DC supply | TEY 3iR
et 3Rl & forw eivs Ryewor

188 Determine the torque in newton metres
produced by a 7.5 HP squirrel cage motor rotating

at 1440 rpm? | 1440 rpm T EOT &Y I§ 7.5 HP
A AT R

A 21.63Nm
B 244Nm
C 33.05Nm
D 36.6Nm

189  Which type of handle design of rotary switch

is illustrated? | T FEaa & fohd gahR & 3ammseT
1 FTIF guTeT foham aram g2

Knob | §&dT

Lever | 3cdleleh

Coin slot | f&eh &1 Talic
Key operation | gﬁﬁw

o 0O w >

190 What is the purpose of using rotor resistance
starter to start 3 phase slip ring induction motor? |

3 ol TEerd RaT SZIT A Y& el & fAIT Aex
GfRTEr TETEX T 3TN el T 3T FAT 7

A Reduce rotor voltage | J1eX dlecol e Y

B Reduce rotor current | TeT FIC ol A i

C Increase the torque | ElT*ITE{\U‘fa?fEI'cEI'U

D Reduce the power loss | TSaToll T HHT T HH

il

191 Which method of speed control is only
applicable for 3 phase slipring induction motor? |

a1t fag=or i it & fafer draer 3 e i Fera
a7 SzaFereT Alex & T IRV 2

A Cascade operation method | h&ehs GATelT
fafer

B  Rotor rheostat speed control | e R3feee
aifa farg=or

C Changing the applied frequency method |
IR 3rrgiee fafer st seefer

D Changing the number of stator poles method |

TeeX ¢ ey hy Feeam &l Seer

192 What is the name of the winding? | EI'IE%?T
HIAH FAT?

A Skew winding | fTaR&r arsfsar
B Skein winding | ThisT arsfaar
C Involute coil winding | Eﬁﬂsﬁﬂaﬁ'ﬁﬁ
D Diamond coil winding | @Wg@ﬂﬂ'@%’ﬂ

193 What is the name of 3 phase motor winding,
if the coil pitch is less than pole pitch? | 3 el AlTeY

ST &1+ AT €, I Szl O el T @
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FHAG?

Full pitch winding | qﬁﬁaas%w
Whole coil winding | qj;marmg%w
Long chorded winding | Wa?\llg's'a'@%ﬂ
Short chorded winding | Qﬁfﬁggaﬁ@T

O 0O v >

194 Which is the demerit of 3 phase concentric
winding? | 3 &Il Hehfeicl TS SaT AT GI[0T hleT AT
g?

A More space is required | mm@r
AT &

B Astepped former is required | TUeh TATS BieT

T TTTRATE
C More difficult to shape the coils uniformly |

FIseH Pl AT F T DR ol o forw 3R 31+
HideT

D Itis not easy to make the end connection | 3d

ol UeT ToToTT 37THTT 8T &

195 What s the name of the diagram used for

3phase motor winding? | 3phase HIeX ArSf3aT &
TIT IgeFel 3R T =ATH T 82

POLEY POLE2 POLEY POLE4

S M N
erwm fa-o} fu-of fo-a| fa-
eram {s-uf fo-n} fo-ef fo-of

Ring diagram | 3%@'3?3—11’1’@'
Development diagram | Td&I T 3IRW@

Coil connection diagram | ?;EHW?IFTHIT@'
End connection diagram | 37d Saier2lel 3IRW

O 060 w >

196 Calculate the phase displacement in terms of
slots for a 3 phase, 36 slots, 12 coils, 4 pole stator

winding? | 3 T, 36 TIC, 12 FISe, 4 AT T
a3 & forT Tolie & HesT 7 ol AT Hr
IOTAT Y ?

A 3slots | 3 TiC

B 4slots | 4 Tl
C 6slots | 6 Tl
D S8slots| 8 Tale

197 Which type of AC motor winding having the
number of coil/pole/phase is more than one

arranged in different slots? | ﬁsﬁ/m/wﬁ
HEAT dTel THT Al d1ST39T fohd YehiR & 3eTeT-
T Felic H cTIRAT @l 82

Basket winding | Elendl arsfaar

Concentric winding | Hehfgd argiaar
Distributed winding | ﬁ?lﬁ?fa'lg%?T
Concentrated winding | UWGE%?T

o 0o w >

198 Which type of testing of winding is
illustrated? | ATSf3T o fohd TR o TLT&TOT T

o1 fehar T g7

I’WW”WH

L——— J
s P L
TOLINE s -
/._F,MF
" ___________

Polarity test | %TJI?ITER

Resistance test | ITRIer G&ToT
Short circuit test | Qe Tfdhe T
Voltage drop test | mﬁqﬁw

O 0o ®w >

199 Why external resistance is included in the
rotor circuit at starting through 3 phase slipring

induction motor starter? | T&Tfear & AeX Afhe &
STEd SRR Y 3 thoT RSN E8ereIet Hex
TCTER & ATCTA § 4T enfAer forar arar g

A To get high running torque | mzﬁwawqg‘r
g1t & foIT

B To get high starting torque | 3T URTHH
SRITgUT YT et & fere

C Toreduce the load current | IS T I e
o & T

D To getincreased speed at starting | QBTEFT?I?T
o g 1 ey et et 36 e
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200 What is the effect of motor, if the rotor
windings in slipring induction motor is open
circuited at starting? | ZI'%"@?WWT%B??IHH’IET
3 Qe AT e TR o FefT AT ST 8,
AT FTIATT FATEIAT &7

A  Willnotrun | Hﬁ'ﬂﬂ?ﬁ'

B Runs at slow speed | ey aIfa T Tl &

C Runs at very high speed | Elg?fﬁﬁﬂﬁ-fﬁ
T §

D  Runs but not able to pull load | TeTdr &, eifaheT
IS Eida A GaTH AT &

201 What happens to a 3 phase induction motor
if one phase fails during running? | gfe T el

Tl & GRT [ahel g STaT & a 3 el 90T AleX
FHTFATEIAT 8 ?

A Motor runs normally | eI AT & H
T §

B  Motor stop instantaneously | W@WEE
A

C  Motor runs slowly, finally it burns | HTeI &R-
X ToTcl &, ITERFR el ST &

D  Motor runs with irregular speed | #leX

AT AT T T

202 What is the effect on 3 phase induction
motor if one phase is cut-off during running with

load? | oIS & 1Y TeTeY 3 GITT Teh Shell She -3
B T 3 Thell S5ReT AlEY I FAT TG IST 82
A Motor stops at once | HIC Teh S H Fh STl
3

B Motor will run normally | #IeI HTHT §T F
Terafy

C Motor runs with humming noise with slow

speed | ma%ﬁmﬁ?rﬁré:maw R & 1T
BEGIE

D Motor will run slow speed but winding will be

burnt out shortly | FIeX €T a1fa & TeialT AifereT
AT €Y ST A arsfEar ST Suehy

203 What is the defect, if starter with single
phasing preventer does not switch ON? | Ushel

FolTag THAC & AT FEICT AT 78T Blet I T
arvg?

A Improper phase sequence | WWW
B  Fluctuations in line voltage | F—I’I’g}ﬂ'a}lmﬁ
3dR-deld

C Loose contact in supply lines | 311'3:%3“3?##
ST FASTeT

D Wrong terminal connections at motor | Al

U Il SfHeTeT GAST

204 What is the defect in AC 3 phase induction
motor runs at low speed if loaded? | F—ﬂ's'?lﬁw

TEY 3 ol S3FUA Al H HH 1fd W T H Y
FATE?

A Wrong motor connection | ITeTd HIET haldFle]
B  Wrong starter connection | eI TETCX
ol

C  Open circuit in rotor winding | JeX aBfZar &
eIl Hiche

D Partially shorted stator winding | T&eX arsfaar
A 3711 TG F FTLIYA

205 Which fault condition thermal overload relay

protects A.C induction motor? | P AT ey Eufa
H gHe TR Rel A.C 90T AT T 6T HIAT 82
Short circuit | Qe Alhe

Open circuit | IQ,FITW

C  Over current | 3IfA8RT

D Under voltage | & dlecal

206 What happens to the rotor of a 3 phase
induction motor if its speed attains to synchronous

speed? | TS 3 FelT 5FUA HIEI FI AT
Jegehlioleh aTTel &l YT T Al 8, Al eI b1 T
BT &?

A  Rotor speed reduces | ﬂa@mﬁrwg’rm
3
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B Rotor speed increases | W@'?Iﬁa'da'l?ﬁ%
C Rotor speed remains same | JeX T Y FATA
g
D Rotor bars get damaged | JeT IR &TfdIEd &r
ST €

207 What is the effect of open circuit in rotor of

an induction motor? | w&mm*mﬁ@
Hfehe T FIT THTG 8T 87

A  Motor does not start | Fﬂﬂ%ﬁﬂ'{ﬂ'@?ﬁ%‘

B Over heating in motor | #eX & 3aX gifear
C  Excess vibration of shaft | 2T%Fe T ITAREFd
HqeT

D Motor runs with very low speed | FﬂETEgT—T
FA AT TN

208 What is the reason for frequent blowing of
fuse after motor running some time? | HIcX %iil;_a’

AT elel o 16 FIoT o SRR 351 ol T
HRUT 7

A Improper earthing | Hﬂﬁﬁ:ﬁﬁﬂ

B Over loading of motor | ATEX &I 3aT oifser
C Heavy voltage fluctuation | HIT dlecst 3dR-
deld

D Poor insulation in winding | HE%?TEEI'EITIEI'

R

209 What happens to a 3 phase induction motor,
if one phase fails during starting? | 3 FelT 90T A

T T I &, 39 Ueh hell A& Blad oh GRTeT fAthel
HESIGIES

A Motor runs and stop immediately | #eI Ieldl
¥ IR A T A Y

B  Motor runs in slow speed continuously | A
TATAR AT 7T A Tl g

C Motor runs and draws more current | HICI

Foldl & 3R 3170 yRT Wi g
D Motor continues to run with irregular speed |

HAGTAT I T AT Tl W' e

210 Which is the cause for the 3 phase motor
starter with single phase preventer trips frequently?

| 3 BT A TSI T THITS thal [dex & ATY TR-
IR ST T FROT hiT AT E?

A Incorrect fuse ratings | WW‘\GTTQ?T

B  Unbalanced line voltage | W@ﬁﬁﬂl’s’»ﬂ
drecst

C Incorrect settings of OLR | OLR &I T AfET
D Improper phase sequence | WWW

211 What indication denotes the shorted coil
defect in 3 phase motor stator winding while testing
with internal growler by keeping hacksaw blade? | 3

el AT T ATST3aT 7 3TARS A3’ ILEToT
L GHY Gohdl sols TG TITd HSell Al
AT & TAd AT 87

A  Hacksaw blade gets over heated | Hacksaw
SIS I BT TS

B  Rapid vibration of hacksaw blade | %WT@'S’
T doll § el

C Hacksaw blade repels against the slots | %WT

oIS Tolled o el repels
D Attracted by the winding turns on the slot |

Felle o) s Eer gATa & 3R

Answers :

125-A | 126-A | 127-D | 128-B | 129-A | 130
-C|132-A|133-A|134-B|135-B | 137-B
|138-D|139-C| 140-B | 142-C | 143-D | 144
-A|145-B | 146-C| 147-B | 148-B | 149-C

| 150-A | 151-D | 152-A | 153-A | 154-D

| 155-D | 156-B | 157-C | 158-C | 159-B | 160
-D|161-A|162-C|163-B | 164-D | 165-A

| 166-D | 167-D | 168-C | 169-A | 170-A | 171
-D|172-D|173-A|174-D | 175-D | 176 -C

| 177-D | 178-A|179-D | 180-A | 181-A

| 182-B|183-A | 184-A | 185-C | 186-C | 187
-C|188-D|189-C|190-C| 191-B | 192-A
[193-D | 194-B | 195-A | 196-C | 197 -C | 198
-B|199-B|200-A|201-C|202-D | 204-D

[ 205-C|206-D|207-D | 208-D | 209 - A
|210-C| 211-B |
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212  What is the working principle of single phase
induction motor? | Tehol TXOT URUT HIeT T HRT

fgiaFarg?

A LenZs law | ool &7 TH

B Joule’s law | SfeT T &

C Faraday’s laws of electrolysis | m%%agﬁ
g & faIH

D Faraday’s laws of electromagnetic induction |

TS & faega greehra WRoT & fogs

213  What is the name of single phase motor? |
THTeT thol AT T FATATH 82

L % 5

|

i

i

i

[

i

i

o—t,
M

A Permanent capacitor motor | T TUTRT

HieX

B Induction start capacitor run motor | QBEFQI?T

¢ FUfAeX WA

C Capacitor start capacitor run motor | Fuffex

¢ FUfFeX WA

D Capacitor start induction run motor | A&

TTIC S3FAA T Al

214 What is the working principle of split phase

motor? | WWWNM@@HW%"?
A LlenZslaw | ool &l fTa

B Joule’s law | Sfef T T a#

C Faraday’s laws of electrolysis | t\m?a?%?{ﬂﬁ
39Eee & fAaH

D Faraday’s laws of electromagnetic induction |

ﬁiﬂ?é?faqgﬁaomﬁuwa;ﬁuﬂ

215  Which type of single-phase motor is
illustrated? | Uehel TROT Al T YhR Fl

frefda &2

A

A Universal motor | Zfeladiel HIY

B Permanent capacitor motor | TATIT TUTRT
A

C Capacitor start induction run motor | Fuffex
TTE ST I Al

D Capacitor start capacitor run motor | FUTTET

e PRI T AR

216  Which type of A.C single phase motor is
classified under commutator motor type? | T &Y

THaTer Tt AT fohll JehR &l g ey Ale JehR
o cgcl dafichel feham ST 82

A  Stepper motor | TEUT HIEX

B Repulsion motor | FfashyuT AeT

C Shaded pole motor | TSI Yol HICT

D Permanent capacitor motor | TP TR
HIeX

217 Which method is adopted to start the single
phase induction motor? | WWWQHHIEI

Y& e o TIT et € Fafer 319eArs Sire g2

A Split phase method | WaT fa#ITaT=T St fafer

B  Varying supply voltage method | Qﬁa?ﬁmﬁ
drecs fafer

C Reversal of input supply terminals | EQhE
IYfct efeTell &1 3eer

D  Reversal of running coil connection | Ifaiar

igﬁrmemmmm

218 What is the type of A.C single phase motor?
| A.C TR BT HIeT T TR FAT8?
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A Permanent capacitor motor | T TUTRT
HIeX

B Capacitor start capacitor run motor | $9f8eT
¥ FAfFeET & A

C Induction start induction run motor | SS&TT
TTE S5 I Al

D Capacitor start induction run motor | Fuffex

TETC S5 T Al

219 What is the purpose of the capacitor (C) in
centrifugal switch speed control method of

universal motor? | ATAH RS HreT & 3r9ehey o=
Ifa =T fafer & 9l (0) AT 3T FAT R
c

Ly

NG

A Maintain constant speed | foRax aifd e
ke

B Improve the power factor | WW?@W
C Protect from the over loading | 37TaX SNfST &
CEIy

D Reduce the sparks on the contacts | TYenf U
TUTH A Y

220 Which type of winding wire is used for
rewinding submersible pumps? | aATdaer gut i
a1Es XA & foIv fohd IR & arsfSar aR T
39T fhar SATaT 87

A PVC covered copper wire | T e d T
(5158

B Super enamelled copper wire | ﬁcﬂ'm

HII ARR
C Single cotton covered copper wire | Herer

Fhice Tha¥ PHIUT arAX
D Double cotton covered copper wire | Sdel
FHYTH ok did & dR

221  Which type of AC single phase motor having
low starting torque? | & TR & TAT [&aTer that

Al # A TeIfeaTcih glare?

A Induction start induction run motor | g?ﬁF?l?-r
TIE S5F2AA T AleX

B  Capacitor start induction run motor | Fufdex
TTIC SZFAT T Al

C Capacitor start capacitor run motor | Fuffex
FCTC HUTHST I Al

D Resistance start induction run motor | gfaRrer
TTIC SZFAT T Al

222 What is the function of centrifugal switch in
single phase motors? | Uhol TROT ACH 3 39ehaT
aa wrad Farg?

A Maintain constant speed | fAa¥ a1fa IaTT
x|

B Break the starting winding | 3TRf&e arsfaar
&I [aEANTIT e

C Break the running winding | Tﬁﬂﬂﬁ%ﬂaﬁf
[ERIERETGIE

D Protect the motor from over loading | HIEI &l
X aAifser & g2

223 Which is the application of universal motor?
| AT AR HICT T 3TTINeT hleT T 82

A Jetpump | €99

B Food mixer | HIolel THFET

C Teleprinter | TolifeX

D Compressor | HITT

224  Which single phase motor is fitted with
wound rotor? | @38 e % TTY Pl AT Uehol Fell

AT e ?
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A Repulsion motor | IfdeyoT Hex

B Shaded pole motor | 3T=&Ted el AleT

C Permanent capacitor motor | TR TUTRT
Hred

D Capacitor start capacitor run motor | YT

R G o Ay

225 What is the relation between running
winding and starting winding of a single phase
induction motor with respect to resistance? |

GTCRTY o TS H Uchel IXUT SSFLMA HIC T (e aT

arsfaer 3k Terféer asfEar & ST Far gau §?
A Both resistances will be equal | &I=il STaRIeT
RIS gier

B Running winding is less, starting winding more
| AT aEfEar FA g, asfEer 31

C Running winding is more, starting winding less
D Running winding is less, starting winding

infinity | TS arEfEer e, Terféar arsfEer aa

226 What is the function of the part marked as x

in shaded pole motor? | 3TTBIGd Grel ACI H x b
T F RIRAT HET T H FAT 2

Increase the efficiency | &&TdT S&TU
Maintain constant speed | GEGEEIGERILY

aw:D

C Initiate the rotor movement | {eX HATT &

A

D Strengthen the magnetic field | Wﬂ?aﬁf
HAIT Y

227 How the direction of rotation of a capacitor
start induction run motor is reversed? | Fuffex

TTE SSFAA ToT Al & AU o fe2m 7 3ol

ST g?

A By changing the supply terminals | 311"{1%

fATall i dgert

B By changing the capacitor connections |

FUTRA FelarlAl I e

C By interchanging main winding terminals |

HEY AT fHeTell Y 3TE H deof Hleh

D By interchanging both main and auxiliary

winding terminals | Sl HE& 3R FgrT arsfsar
oot Y Serior 3y

228 Which single phase motor tapped field speed
control method is employed? | g Tehdl oIl T

HreT F 29 Fles TS Ferd [afr FRRd §°?

A Universal motor | Zfeladel HIY

B Shaded pole motor | 3T<aTied 9Tt HieX

C Capacitor start induction run motor | H9T8eI
TTIC SZFAT T Al

D Capacitor start capacitor run motor | $9f8eT

T FUffer T Alex

229 Which type of single phase induction motor
is used in food mixer? | WG TAFER A & T

T Tehel TOT YIOT ST AT 3TN fhT ST 82
Universal motor | ujﬁaéﬂ#m

Repulsion motor | IfdeyuT Hex

C Shaded pole motor | TSI Yol HICT

D Permanent capacitor motor | TR TUTRT
HIeX

230 What is the angular displacement between
starting and running winding of a single phase

induction motor? | Tehol TROT URUT A T TIfEaT
3R AT arEfEer & e sofi faeumas Far g2

A 45 electrical degree | 45 Selfargendl 330

B 60 electrical degree | 60 Seifarcendl 33T

C 90 electrical degree | 90 Seifargendl 33T

D 120 electrical degree | 120 Seifargenel 33T
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231 Why the hysteresis motor is suitable for
sound recording instruments? | egfey Raprsar

3ol o fore RESRErT ey 3uged #at &7
Small in size | 3R H BT

High efficiency | 3Td &Tdr

Noiseless operation | T TaTeleT

Less error operation | Wiﬁmﬁ

o 0O v >

232  Which motor is preferred for domestic water
pumps? | WWW?@UW@'WW
Fr AT 8?

A Universal Motor | Hﬁﬂ?ﬁﬂ'm

B Repulsion motor | IfaenyuT Hex

C Shaded pole motor | 3T<aTed 9Tt e

D Capacitor start motor | THTRT YA Al

233  Which type of motor has relatively small
starting torque? | mWﬁWﬁﬁW
HH IR BT 87

A Universal motor | Zfeladiel HIY

B  Capacitor start capacitor run motor | Fuffex
¢ FUfF T Al

C Capacitor start induction run motor | ST
TTIC SSFAA T AlX

D Resistance start induction run motor | EIGEL3]
Y& ST ToT HIeX

234  What is the function of centrifugal switch in
split phase motor? | TATAIC el AlCT H 3TTehg
FEaa &1 Hd FaATE?

A  Protects from over current | 31Tl RT & ST
3

B Maintains constant speed | IGEGIEIGECILY
@ATE

C  Protect the motor from over loading | #eI &r
3T Afger & §=rw

D Make and break the starting winding from

supply | mﬁﬁagsﬂ?ﬁas%wamaﬁ?a%

235 How to produce starting torque in a shaded

pole fan motor? | Ueh TSI Ul U@T AleY &
TeTfear e &1 3cUTee Fl HL?

A Using rings on poles | %HQTWWWT
Il

B  Using capacitor on winding circuits | HHTAAX
afehe IR TETRE T YT el

C Interchanging cage rotor windings by switch |
&= GaRT ahof U ATSTe5eT hl A eleT]

D Interchanging the field coil windings by switch

| FEaT garT hies Sigel aTSfSeT I SeTdoT AT

236 What is the reason to use a permanent
capacitor in fan motor circuit? | 98T HIeI gfecd

Teh TR GETRA T 3TANT el T HROT FIT 62
A Speed regulation | 31fa f[Ta&=T

B Lower power consumption | fSoToll AT e
Qqd

C Splitting of phase for torque | Teh o TolU ahell
T TAHTSTT

D Controlling electrical interference | faegd

cafaeor i [Aafd e

237  Which motor is having half coil winding? |
et T AT 7 e Hso AZSIR BT 82

A Mixer | e

B Grinder | AMSST

C Ceiling fan | & T 9@T1

D Washing machine | arferar FfteT

238 Why running winding is placed in the bottom

of the core? | T ASIET FR & ATrer HreT & F41
@ AT 82

A To get low resistance | e ITaRIY 91l & folT
B To get low inductance | && Y0T 9T & folT

C To get high resistance | 3T YTARIT YTC et
& fow

D To get high inductance | 3T 90T YTcd &hia]

& faw
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239 Calculate the slot distance for a ceiling fan
having 28 slots, 14 poles, 14 coils in half coil

connection? | mggsra#mmﬁzs Q-T*I'\Il'c;ﬂ', 14
S5, 14 igor Ao AT ther s oI Foife I G
0T ?

A 90°

B 120°
Cc 180°
D 240°

240 What is the application of shaded pole
motor? | 3Teafed Tlel AT T 3TeIaTaT 3T £
A Hairdryer | 3R 8RR

B Ceiling fan | 9@T

C  Wet grinder | e IET

D Washing machine | CIREEERIG

241 Which type of single phase motor is used for
hard disk drives? | &8 {3 318d & foIv fFd TR

1 TH9TeT that A T 3TN R T SATAT B2
A  Stepper motor | TEUT HEI
Repulsion motor | i yuT Hiex

B
C  Hysteresis motor | feEe R Aex
D Reluctance motor | ReeT&al &

242 What is the function of centrifugal switch
used in capacitor start, capacitor run induction

motor? | FUTHEX TIC, FUTHCT T S3FAT HICX
H SEAAT It aTel HEIFYITel T oAl T 1 &7
A Disconnect the running winding after reached
75% to 80% speed | 75% & 80% ﬁmﬁraiﬁqg'aﬁr
& ST, Aol ATS TS &l f3Eeheiare &l

B Disconnect the starting winding after reached
75% to 80% speed | 75% H 80% T 1Y c1eh Tgarel
o dTe; YE3Tcll ATSSaT ol FSTeheiore Y

C Disconnect the starting capacitor after reached
75% to 80% speed | 75% H 80% T AT c1eh Tgarel
o dTe; YR3TTcll HUTRA ! fSEeheiere Y

D Disconnect the starting and running winding
after reached 75% to 80% speed | 75% & 80% T

1T T g T & STy LE A el IS ST P
fearaiere Y

243  Which type of single phase motor is having
very high starting torque than any other type of

single phase motor? | fhd TR 1 [&aTer Hhat
AT T Tl 3T YR T THaTel ot AT hr
TelTT # SE 37 T el 8

A Universal motor | ZfeTadiel HIY

B Reluctance motor | Refered HAleX

C Repulsion start induction run motor | gfaeyor
HIE 90T TeT Al

D Capacitor start induction run motor | FUTHEI

T ROT I Al

244 Where the capacitor is connected in a single
phase permanent capacitor motor? | TYUTRT T

Tehol sholl TATAT TUTRT AN H Hgl SAIST ST 82
A In series with starting winding | Terféa ang%?T

& AT AT H

B In series with running winding | Tﬁ?Ta'lg%?T
& AT AT H

C In parallel with starting winding | TeTfeaT
ST o AT GATATR H

D In parallel with running winding | FAATR H
Ifofar e

245  Which motor is used in table fan? | Tl 9
H fora A 1 39T fhar Arar g?

A  Universal motor | ujﬁaéﬂ#m

B Shaded pole motor | 3TTBTGd drel HIEI

C  Eddy current motor | HaX YRT A

D Permanent capacitor motor | TP TR
A

246 What is the effect, if coil group connection is
wrongly connected in a single phase motor

rewinding? | WWWWW#W
HHG Teleh2el TTelc] Hﬂ?@@gﬂﬁ araar
AT 82

A Motor runs slowly | #eT €fR-¢RX Terdr &

B  Motor will not run | Fﬂaﬂﬁﬂﬁ?ﬂ'
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C  Motor runs in very high speed | HICY §I§Ffé~_rl'
afa A TAN G
D Motor runs and takes more current at no load

| AreT Tordt & 3 foar fonely ot uv 31feres e
odre

247 What is the effect in a repulsion motor, if the
magnetic axis shifted to another side? | IfaeyoT

AT H T THTE BIell &, IS Jaehrar 3787 q@dr

A Direction of rotation will change | J¢uT T
fe=m seer STEEt

B Direction of rotation remains same | eerT r
e gAA WA &

C Motor speed increases from rated speed |
AT Y 11T 3¢S 91T A 96 STl &

D Motor speed will reduce from rated speed |

AT T 77T X8 I1fa T Fa gr Srealr

248 What is the effect if the centrifugal switch is
not disconnected after the motor starts? | Al QBT

glel & d1G 3T9hal [Ead ol [3Eehetare gl fohaT
ST & Y T TG 93T 82

A Motor will run normally | HeX THTT & &
Teralr

B  Motor will stop immediately | m'c"\ra;?raaa’r
Sreafr

C Starting winding will burn out | Rlﬁ?TaTé’%?T
STl STRE

D Motor will run very slow speed | ﬂ’ma‘g’a
ey a1ty & <relal

249 How the direction of rotation of repulsion

motors is to be reversed? | gfassur Aed &

e ere T fE2IT Y HH el Hladl g?

A By shifting the brush-axis | ST2T-37&T &l
FUTATART Hleh

B By interchanging the supply terminals | 3-1Tq‘\ﬁ
fATEl &l 3T9H H deol Hleh

C By changing the main winding terminals | 91'@5[
YATIER CTHeTcl & sgeleht

D By changing the compensating winding

terminals | FFI=A T ATSTSIT fHA T TEoThT

250 Why a capacitor is connected across
centrifugal switch in the centrifugal switch speed

control method? | &1 Ueh TUTRA 3 Tchgyl [ead
aifer forefaroT fafer o sraehe) feara & Spergan &2

A To maintain constant speed | faRaX 31fd ST
W@ & forw

B To protect from over loading | 3G AITSaT &
T & Tl

C Toimprove the power factor | gia] thareX T
BN Fel1ed & foIw

D To reduce the sparks in contacts | HYeh! 7
AT HH FLe & foIT

251 What is the effect, if some slots in a split
phase motor left out without winding after

completion of concentric winding? | THTd T gIdT
¥, AR FH R SR & G @ 3 e Reere St
AT # $o Tl T aEfEa s o v g?

A Works normally | THT &9 H FHIH AT &
B Reduction in speed | 31T & AT

C Reduction in torque | TTeh A AT

D Runs with very high speed | ag?résr?rﬁrﬁr
alsare

252 How the radio interference can be
suppressed in centrifugal switch method of speed

control of universal motor? | araifAs AeT fHr
aTfd T =0T & 3raehdT [eaw fafer & isar
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SIfAHIOT Sl il SaTAT T Hehll 7
A By connecting capacitor across centrifugal
switch | 3T9ehal [T & Gt 3N FUTRA Sga

B By connecting capacitor in series with

centrifugal switch | 379eha T&ad & AT it &
HTRT &l A5

C By adding compensating winding with

armature | FFIATEIT ATSTSITRT THTT & AT
gt

D By connecting an inductor in series with

centrifugal switch | 3T9eha T & AU ST & Teh
SSFCY Pl SATZAN
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253  Which formula is used to calculate
EMF/phase in a ideal alternator? | Teh 3Gl

3TeeTe H EMF / thal T ITUTAT et o forw v
T T 3TN Teh T ST 2

_ QFT

T 222
_ QFT

T 444
E=2.224FT
E=4.44 4 FT

o6 W >

254  Which rule is used to find the direction of

induced emf in an alternator? | 3Tecdaiel H IRT
SUATE $r e @ & forw forg g =1
39T FoRT ST 82

A  Corkscrew rule | ﬁ@jﬁ?’ﬂ?

B Right hand palm rule | aﬁ%ﬁmrﬁg?ﬁrar
o

C  Fleming’s left hand rule | FeITH3T & STT &T2T T
o

D  Fleming’s right hand rule | FIT&T & IfgaT
gy & faad

255 What is the name of the part of alternator? |

3TecTare & HT3T T ATH FAT§?

Stator | ey

A

B  Exciter | 3cdole

C Salient pole rotor | ﬁ@%ﬁﬂﬂ

D  Smooth cylindrical rotor | s deIThR
X

256 What is the formula to calculate emf

equation of an alternator? | 3Tecaic a?é'Q?TQ'CF»

THTHIUT hl ITUTAT el T G FT 52

A E=4.44KeK T dm
B E=2.22KqKFdrm

C E=4.44KyK FT Pm
D E=111K4¢KcF Pm

257 How alternators are rated? | oA T
Y XS T SITarg?
KVA | hdIT
B Kw | fraitare
C MW | #Imdre
D Kv|&dr

258 Which formula is used to calculate the
percentage voltage regulation in alternator? |

Heeteied H Uidrrd oot fafaa# e &1 arorer
ol & ToIT v e A o1 3TN fohaT ST &7

A VrL—VNL x 100
VFL

YNL=VFL x 100
VFL

B
¢ YmTVeL , 900
D

VnL

VrL=VNL x 100
VL

259  What is the supply frequency of an
alternator having 6 poles runs at 1000 rpm? | 1000

3TRUITH X 6 ¢faT aTel Teh oA hl 3Mgfet

3gfed FaTE?
A  25Hz
B 40Hz
C 50Hz
D 60Hz

260 Calculate the speed of an alternator having 2

poles at a frequency of 50 Hz? | 50 Eé\\_ﬂ ﬁ&ﬂﬁ;%f

TR 2 ¢l aTel Teh 3eeTACR T ITFd hY IT0TAT 2

A 1500 rpm
B 2500 rpm
C 3000 rpm
D 6000 rpm

261 What condition the lamps become dark in
dark lamp method of parallel operation of two

alternators? | &I 3Teealex] o THATATAR TdTelel
sTeh ol fafer #F o v Py A g sma g2

A Terminal voltages are equal | ffsa et
CRETES
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B Voltage and frequency are equal | drecar 3R
C Voltage and power rating are equal | arecal
IR IET IR E

D Frequency are same in both alternator | &1

el H Mgfed HATT BT &

262 How to compensate de-magnetizing effect
due to armature reaction in an alternator? |

3eeTele] H TR 9T Tehar & RT3
HTACTSTST T31TT Fr HRUTS Ha 2

A Reducing the speed of alternator | 3eclael
T AT T HH AT

B Reducing field excitation current | Bles
ScctotelT UTRT T e el

C Increasing field excitation current | Fres
Sedolel URTH g

D Increasing the speed of alternator | 3Tee{aiel
EEIIGEEE)

263 What is the use of synchroscope? |
FHSRIERIT ST 3TN AT 2

A Adjust the output voltage | Waﬁmaﬁ'
HARNTSIT

B  Adjust the phase sequence | WW
HANTSIT

C  Adjust the supply frequency | 3-11'?\%3—113;%—[
HARNTSIT

D Indicate the correct instant for paralleling |

AT & ForT FEY i Fohel &

264 What is the name of the equipment that
provides D.C to the rotor of alternator? | 3Teeieaiel

& AT I D.C TeTeT el dTel 3TN T ATH FAT

Exciter | 3Sccloldh

A

B Inverter | 30-6&1

C Converter | HeAdeT
D

Synchroniser | TPIATEoR

265 What is the purpose of damper winding in
alternator? | 3Tecialel H SFXR El'l?%ﬁ?l’?ﬁ?ﬂ'

FATE?

A Reduces the copper loss | aﬁ?wﬁ
HHBATE

B Reduces windage losses | aqaﬁaﬁrm
PRATE

C Reduces the hunting effect | ?%Ta?‘;rﬂ'l'q’aff
HHBATE

D Improves the voltage regulation | @iecal
AfgaT A gurR aare

266  Which condition is to be satisfied before
parallel operation of alternators? | HoedeT &

FHTATR FTelel & Tgel fohat e 1 dgse faar
ST 82

A Rating must be same | X3 AT gt AMRT
B Phase sequence must be same | WW
AT gl AT

C Rotor impedance must be same | e FfaaTem
AT glail AT

D Stator impedance must be same | TeX

SFAISH AT glaAT Aifeu

267 What is the speed of an alternator
connected with a supply frequency of 50 Hz at rated

voltage having 4 poles? | 4 GIel dTel {8 dlocol I
50 §EST T (et JTTgfeet & HTY 33 Ueh JHeelele]
Hrafa Farg?

A 1000 rpm
B 1500 rpm
C 3000 rpm
D 4500 rpm

268 What condition the two lamps become
bright and one lamp dark during paralleling of two

alternators? | I 3TeeeIel o AT @t o GIRTeT
al ol fohd gTeTc & STefd & 3R Teh ol 37 ST 8?
A  Terminal voltages are equal | fiea et
TR E

B Voltages and frequencies are equal | @recat
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3R Prerad SaR &
C Voltages and phase sequence are equal |
dleds 3R thaf 3feTshd ST 8

D Both the alternators receive same frequency |

gt JeeTeeY HAI HTgfed ITed A &

269 What causes the terminal voltage of an
alternator reduces, if the load increases? | gfe AR

JedT g, af 3TocTaie &bl cfHeTol dlecol ShH &l STl
g?

A  Field resistance | &3 9faRrer

B Armature reaction | 3THTR gfafesar

C Inductive reactance | 9 Yfafshar

D  Armature resistance | 3TTHTT ITaer

270 What is the purpose of using damper
winding in AC generator? | AC STel{eX & 379X

TS ST AT 3TN ol T 352 FAT 7

A Prevents heating | 13T T UshdT &

B  Reduces copper loss | aﬁ%waﬁrw
PRATE

C Reduces windage loss | @mﬂaﬁwm%
D Prevents the hunting effect | §7¢aT & THTT T
RCTIN

271 What is the type of alternator? | 3TeciaieY
T YRR FAT§?

A Brushless alternator | 2T Ifgd 3Tectaiex

B Three phase alternator | cilel thol 3Teeisiel
C
D

Single phase alternator | Tdhol thef 3eciaiet
Salient pole type alternator | @ﬁm—a%aw
3eciael

272  Calculate the speed in r.p.s of the 2 pole,

50Hz alternator? | 2 tﬂﬂ', 50Hz 3Teelalel & r.p.s =
TfeY I ITOTAT Y ?

A 50rps

B 100 rps
C 1500 rps
D 3000 rps

273  What is the advantage of using rotating field

type alternator? | E[UTel &1 WehIX 3ecTeicT T
YT e T FIT BIIST &2
A Easy to locate the faults in the field | 817 H gIY

T IdT STl 3T §

B  Easyto connect the load with alternator |
3TeeTeiel & HTY IS I dholdre el T &

C Easy to dissipate the heat during running |
alga & Rt a1t b elteT TSt

D Twoslip rings only required irrespective of No.

of phases | &I &1 RaTl &7 3TaTSAT BT &, TR
Uil hr TE&T fohcsir 8T gY

274 What is the effect in increasing the field
excitation current in alternator? | Focldel &

HIeg Scdolell HTRT T T&Tel § FAT THTT IS 82
A  Prevents demagnetizing | IEEGGECIRIET] %’
B Over voltage protection | 31T dieear &
HETOT

C Dead short circuit protection | ﬁﬁ%ﬁé"\qﬁﬁ'
HETOT

D Alternator will be over loaded | 3TeelaieX
3T ASS glem

275 Calculate the pitch factor (KP) for a winding
having 36 stator slots 4 pole with angle (a) is 30° in

alternator? | 3eeTaIe H 30 ° HIUT (o) & TTY 36
T TAAIE 4 HIel aTel FATIGR & frw ey therex

(KP) T IT0TaT hY?
A 0.942
B 0.965
C 0.978
D 0.985
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276 What is the cause for hunting effect in

alternators? | 3Teesiex H §fEaT o THTT T HIROT
FATE?

A Due to over load | 31f8& R & HROT

B Running without load | ST IS F T @I &
C  Running with fluctuation of speed | IIfd &
3AR-TIGId & T T @l

D Due to continuous fluctuation in load | CIEE:]

A 3aR-Ted & FRUT

277 Calculate the voltage regulation in
percentage if the load is removed from an
alternator, the voltage rises from 480V to 660V? |

i T et A el ger fear sirar g, ar
alecoT 480V ¥ 660V deh 96 SITdT &, et
fSgas ufaerd # T fifeae

A 272%
B 325%
C 375%
D 38.5%
Answers :

212-A|213-A|214-A|215-D | 216-B | 217 -
A|218-D|219-D|220-A|221-D|222-B
[223-B|224-A|225-B|226-C|227-C| 228
-A|229-A|230-C|231-C|232-D|233-D
[234-D|235-A|236-C|237-C|238-D | 239
-A|240-A|241-A|242-C|243-A|244-A
|245-D | 246-B | 247-A | 248-C | 249-A | 250
-D|251-A|252-A|253-D|254-D | 255-C
| 256-C|257-A|258-B | 259-C | 260-C | 261
-B|262-C|263-D|264-A|265-C|266-B
| 267-B|268-B|269-D|270-D | 271-A | 272
-A|273-D|274-A|275-B|276-D | 277-C |
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278 What is the name of the converter? | Feact

T ATH FAT&?
[

APHAAE 2 - 3 I 3 S
AD
VARMELE
oc
VOLTAGE
LR
FOWER ﬁls 3 = l
Q

A Metal rectifier | iﬂ{[%@l’ﬁ'

B  Rotary converter | e FaAaeX

C Mercury arc rectifier | I 3T fesehRY
D Silicon controlled rectifier | f&ferelar fAaRa
feseamrly

279 What is the name of the converter? | Fedcd
FIATH FATG?

2 L

O L

Metal rectifier | &Tq] fgseahrY

Rotary converter | Uedl FeTacy

Mercury arc rectifier | AT 31T fesehrY
Motor-Generator set | HIEI-sleiRe AT

o 0O w >

280 Why D.C supply is necessary for synchronous

motor operation? | AP AT TR & forw
D.C 3Tt &t 3MTarRah g2

A Reduce the losses | Tl T e Y

B  Start the motor initially | agﬁmam'éaﬁ
C Runthe motor with over load | A Fl 3R
CIELRINIGEIY

D Runthe motor at synchronous speed | AT &1

Jegehfereh a1fd @ Telld

281  Which acts as both inverter and converter? |
S SeacT 3R FIacT alal & 9 H FR FIAT 82
A Metal rectifier | EI'IFQT%Q?FI'&

B  Mercury arc rectifier | I 3T TESehRT

C Semiconductor diode | 37eITee SRS

D Synchronous converter | glg(»qullr?ﬂch SheTdcy

282  What is the function of inverter? | =dc &l
T FATE?

A Convert A.Cto D.C | A.CID.C H S&ofall

B Convert D.Cto A.C | D.C T A.C H Sgolall

C Smoothening A.C sine wave | A.C H’IBHFI@TH#
EHY el

D Convert pulsating DC into pure D.C | Pulsating
DC Y € D.C H agel

283  Which converting device can be over

loaded? | st AT IR 30T 3T &S fawam
ST HehT g2

Rectifier unit | m?{ﬁ?

Rotary converter | Ul FeTacT

C  Motor generator set | FleI STeleX AT

D  Mercury arc rectifier | AT 37Teh TGSECHhRT

284  Why exciter is essential to run a synchronous

motor? | THSRIAT FIEI I Tl o [oIT Scdoleh
T 3T 82
A Carry more load in motor | #leX H 31f8& IR
o ST
B Improve the power factor | WWJEI'Q?IIT
C Reduce the losses in motor | #eX & gleT ATl
TR ETA T Ho Y

Run the motor at synchronous speed | HIET &l
cghIfereh 1T | TelTd

ol O

285 Which application requires only DC? | e
UfChereT ol Shaet SIHT I AT 82

A  Electroplating | ﬁagﬁﬁq?f

B Stepping up of voltage | Alecol ST

C Operating induction motor | WQHW
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9dTeled
D Operating repulsion motor | SfaehyuT HreX
9dTeled

286 Why the LED’s are avoided as converters in

rectifier diodes? | feSehRT 31318 H TaEsT &r
Ferdcy o &I H FIT Tl AT 62

A Heavily doped device | mg’rvs:gr%cr

B Verylow power device | @W?mﬂm
C Designed for light emitting | Jh1el ScHold &
favsaArRT AT R

D Very sensitive to temperature | ArGHTT & 9fa
g HageTfer

287 Which is the main application of
synchronous motor? | mmmafra:rag@r

3TN it AT E?

A Elevators | foore

B Paper rolling mills | aTaTet Afelar AT

C ACto DCconverter | T8 & S heAacy

D Power factor correction device | 9TaR thareT

FIaFerT 3arsd

288 What is the advantage of motor generator

set? | AT ST UT T AT FAT &2

A Noiseless | QNgreT

B High efficiency | 3= G&Tdl

C Low maintenance required | e TEIWIT I

TTRATE
D DC output voltage can be easily controlled |

SIHT 3M3eYe dled o I AT & fAAdT fomar o
HhdTg

289 What is the function of the part marked as X
of the rotary converter? | e FAdET & HTIT X T

FATHAE?

oL+

A Converts ACto DC | ot &t S 7 gRafda
PRATE

B  Reduces voltage drop | mﬁqaﬁw
FATS

C  Helps to deliver without noise | T&=IT AT &
3MM3CYE &l H Hee ALl &

D Collects the delivered direct current | IGGIEG]
TcT&T URT Uhd Xl &

290 What is the purpose of damper winding in a
synchronous motor at starting? | QBTﬁUEF
Johieleh HIE # 370 aTSTSaT T 32T FATE?
A Produce high voltage to initiate the rotation |
e & e o foIT 3T dleesT I Sedres Y
B  Produce high current to start rotate the motor
| FTEY I AT & forT 3T URT FHT ScUTE HY

C Produces torque and runs near in synchronous
speed | €ieh YeT T & 3R Jegenliolsh 1T & arg

TJAdT®
D Produce a high magnetic-field to maintain a

constant speed | Teh faad a1fd =TT W@ & forw
Teh 3T YeehI-&1 T TAATOT Y

291 Why the synchronous motor fails to run at

synchronous speed? | fishieTd At Ashied a1fa
T AT Telcir?

Insufficient excitation | 39ITCT Scdotell
Defective pony motor | mﬁtﬁ?ﬁm

C Open in damper winding | @WG@T
D Shortin damper winding | ?tITaTé'%?Tﬁ%ﬁ%

292 How the synchronous motor is used as a

synchronous condenser? | AieTd AT &1
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FHFITH H3AT & T 7 HA 39T har AT 82
A Varying the motor load | #leT 1S H dgaTd

B Varying the rotor excitation | e cdolaT &
dcelld

C Varying stator voltage in motor | #TeY § T
diecol H dgeld

D Varying stator current in motor | ArX AT
¢RT H SGolld

293 What is the function of damper windings in

synchronous motor? | mmﬂﬁm
Sy T Fr FRI

A Maintain power factor | 9ia¥ thefeT ST T&
B  Excite the field winding | @?S'GE%?TEI#
Scdfold &

C Maintain constant speed | GEGEIGEGINELE]
D Start the synchronous motor | HereTd Al
YE R

294  Which converter is having high efficiency? |
el  Fheld e H 3T GaTdT 82

SCR converter | SCR &aldel

Rotary converter | Uedl FeTacy

Motor generator set | #IET STeike AT
Mercury arc rectifier | FIH 37Teh feSeahrT

o 0o w >

295 How synchronous motor works as a power
factor corrector? | ﬁgvuchlmch HAIST YT

thereX GUNeh & &9 H HIH AT ?

A Varying the line voltage | Wmﬁ
dcelld

B Varying the field excitation | BIe8 3cdolell 7
dcelld

C Increasing the speed of motor | AreI Frafa
dlel

D Decreasing the speed of motor | A Frafa
HTer

Answers :

278-D | 279-B|280-D | 281-D | 282-B | 283
-A|284-D|285-A|286-B|287-D|288-D
|290-D|291-A|292-B|293-D|294-A

| 295-B |
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1  Which resistor is used to measure light

intensity? | FehTRT I fardT sl ATY & forvw fohe

37AUYS T 3YITIT ThAT SATAT 872
A VDR
B NTC
C PTC
D LDR

2  Which code indicates silicon semiconductor

diode? | fFAfoIier 9H Ssset SRS FT A

S EGETGIES
A OA79

B BY 126

C IN4007
D 2N 3055

3  Whatis the input ripple frequency (Fin) of full
wave rectifier? | W%WWWW

hera T (ftheT) FFAT B2
A Fn=0WF

B Fin = Fin

C Fin =2 Fin

D Fin = \/E Fin

4 Which is a active component? | Teh GfehdT

TCh hieT ATH?
A Inductor | I8 HIdTell
Resistor | Jshetarell

B
C Capacitor | F&TRA
D Transistor | fol&ex

5  Which letter indicates the compound material

cadmium sulphide? | i IT 376X AT gerey

FsATH Gohrss Y ST AT e?
A ‘N
B ‘B’
C ‘c
D ‘R’

6 What is the name of the symbol? | Tcileh ohl
AT FATE?

A:

a Y=AB

Two input OR gate | aWORﬂE

Two input AND gate | &l 39 AND 3TC
Two input NOR gate | &1 319€ NOR 3T
Two input NAND gate | & $eTJC NAND €

O 0o w >

7 Which is a passive component? | Tah TS

T hlel AT G?
Diac | STIh
B Diode | SIS
C Transistor | gIfolEex
D Capacitor | &R

8 What is the name of the device symbol? |

fSarsa e AT AT FATE?

@

o

A SCR | THHINR
B IGBT | 3TSaiaTer
C DIAC | 31T

D TRIAC | TTH

9 How many characters are in hexadecimal

number system? | FETS &Sl TE&AT JOTTell 7

ERGECIUES
A 6

B 8

c 12

D 16

10 Which electronic circuit generates A.C signal
without input? | i AT Selegifeleh Tlhe ToelT
geTqe o A.C FATeTel 3ceet T 87

A Filter circuit | fheex afdhe
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B Rectifier circuit | f&SesRY Tfdhe
C  Amplifier circuit | Ya4e Gfhe
D Oscillator circuit | &ielel Gfehe

11  Which instrument provides a visual
representation of measured or tested quantities? |

ﬁﬂmmm?mw@amww
g gfafaftica yera aare?

A Voltage stabilizer | diecoT TCTATSI

B  Function generator | hele Sleleh

C Cathode ray oscilloscope | FAEY
HifeERIT

D Radio frequency generator | {31 shrerddr
AT

12 Whatis the name of amplifier? | TFTRIAY
FI ATH FATG?

A Common emitter amplifier | STHT TTHI
TFTOITBIIT

B Class B push pull amplifier | FelTd s g1 JeT
TFIRThRIY

C Common collector amplifier | PIHT FolFel
TFIRThRIY

D Class AB push pull amplifier | WU@'E?T?’F{
TFIRTHRIY

13  Whatis the formula to calculate the
resonance frequency in an oscillator circuit? | Teh

areleT Afdhe 7 311G, 3Tafed &1 IT0TAT FA T GI

FaTE?
1

E —
A T34 c

1
F=—+n—
B T %ac
1
E=_—~—
ch 2zLC
D __1
" LCV2rx

14 Whatis the minimum voltage required in the
base emitter junction to conduct a silicon

transistor? | f&feraTeT TifoiEe & AT & folT
o TTACT SerleT A # eI H dlecol sl JTaeTehdl

FATE?

A 02V-03V
B 04V-05V
C 06V-0.7V
D 08V-09V

15 What is the minimum and maximum value of
resistor with four colour bands, red, violet, orange

and gold respectively? | hHSI: IR {3, aTe,
Sfarel, AREM 3R EeY & e g & e geTaH

IR MOFTHF AT FATE?
A 23750Q - 26250Q
B 24700Q - 27300Q
C 256500 - 283500
D  22400Q - 33600Q

16 What s the reason for barrier voltage is more
in silicon material? | f&forereT aTeTaft & AT
AreeST ST HIROT AT &7

A Lower atomic number | WQWUIWT

B Resistance is very low | Qﬁﬁﬁrag?rw%

C Doping percentage is more | IT9aT gfaerd
AR E

D Valance electrons are two only | aﬁ?%ﬁﬁ’ﬁﬂ
Faerarg

17  Whatis the reason for widened barrier in a
reverse biased diode? | gy TIEs s & Aty
ST ST HIRUT FAT &2

A Minority carriers in two materials are
neutralised | &F AT H eud &I digsh

Serlle ga

B  Electron in N material is drifted to positive
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terminal | el ACRIC & Felarglel doht § difaifed

AT A TgarSar g
C Holes in P material attracted to negative

terminal | 9 Grealt 7 81T AhRIcHS cfiaol &
IGIEIEIN GRER ]

D Electrons and holes are attracted towards

supply terminals | Wﬁ?@ﬁwm
H T ST g &

18 What s the output voltage in the full wave

rectifier circuit? | gﬁréammaﬁmﬁ

amgta’m FATE?
%

L Va1

AN

u.T.Y W TS
;—.—

No output | f3Td 8

Rated output | s e

Half the rated output | I¢8 3cUTGeT ahT 3THT
Double the rated output | ﬁgwaﬂ'
et

o 606 w >

19  Which filter circuit is capable of removing
voltage spikes in the rectifier circuit? | @il AT

heex afehe MFewrRR afdhe # aiecst TaETFT #r

g H TETAE?

A LCfilter | LC fFeeX

B RCfilter | 3TRET ftheex

C Capacitor input filter | HﬂTﬁ?Sﬂg’dﬁﬂT
D Series inductor filter | 207 Rehca et

20 Which is the advanced version of power
electronic component used in the output stage in

drives? | T8 # 3T3EYC TROT A 3TN fh STt
Tl GTaR Solerel{oleh TIceh ol Seald HERIUT ahisT

arg?
A FET

B UIT
C SCR
D IGBT

21 How the decimal humber can be converted
into binary number? | a%maa’maﬁras?lfr

e} # &8 TGl ST HehclT 62

A  Divide decimal by 4 | G2T#eId &l 4 § HET G

B Multiplying decimal by 4 | Gl T 4 Q?J;I'U'IT
T

C Dividing decimal by 2 | ETFHIT HT 2 A
[EEIEG]

D Multiplying decimal by 2 | G2Teld & 2 Q}IUIU'IT
hIT

22 What s the purpose of using binary coded
decimal (BCD) system in digital circuits? | 3folcer
e & I8 IS SAAAT (SIS JoTTel T
3TN el T 32T FAT 2

A  Storing the data inputs | éas?rg'crw%ﬁﬁ
AT

B  Control the binary system | asafrﬁn—?ﬂaﬁr
IERIERKETY

C Interface to binary system | asafrﬁ'\'-ma#r
$hH

D Segregating the input parameters | g
FTIET T 37T AT

23 Which logic gate refers the truth table? | S
RIEEIRE TG EEIFE IR E E TGN

A B Y=AB
0 0 4!
1 0 4!
0 0
1 1 1

A ORgate | OR3E
B NOT gate | NOT I
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C ANDgate | ANDJIT
D NORgate | NORJT

24  Which quantity can be measured by CRO? |
HIRT AT fovd ATAT shl ATAT ST Hebell &7

A  Frequency | mﬁr
B Inductance | Sehcd
C Resistance | 9faRIer
D Power factor | %mw

25  Which is the main application of SCR? | SCR

I FEH I hleT ATE?
A Amplifier | 9TEH

B Oscillators | &leTsh

C  Multi vibrators | Hecl aT8se

D Speed control of motors | FEIT &I ITfd
IGRENS

26  What is the function of R; variable resistor? |

T GTAET R, T 1 AT &2
MIALTER
LN
e
R TRAC i 0’-:1;:
" ! R
M | —— -

1ia

C‘T 0y A
A  Controls the currentin Rz | Rz HYRT T
ICRIECETGIN
B Protects from overload to TRIAC | s o

T HTIGT FLATE
C Protects the RFI filter from overloading |
3RS & RFI flheed T gRaT aare

D Controls the pulse rate for triggering the TRIAC

| S T TR el & TolT el X ot fafaa
AT

27 What is the purpose of connecting L; through

C, to the transistor base? | gi eI ST HC1 &
HATEIH F L1 BT S1S] T 32T FAT?

Yo

crk L
L

—H—gmn
———Q) 1

A Provides DC supply | SIEY 3Tl WeTel T §
B Provides positive feed back | §pRIcH® HIg
& YeId FATg

C Provides negative feedback | ThRIcHS HIg
3 YeId FATg

D Provides transistor biasing voltage | Ej‘lﬁw
FfAATT AeeT USTT FaT g

28 What is the criteria to decide a material as
conductor, semi conductor and insulator? | EFEEI'ET,

QAT Shsere IR ST o & H Teh WHA 7
A & [T ATIES FATR?

A Atomic bonding structure of atom | W@f
B  Existence of valance electrons in atom | I{ATI]
H doi olFelal T ATecca

C Atomic weight of the atom of the material |
TIHIAT & GIATU] hT GATI] HR

D Atomic number of the atom of the material |
TTHAT o TRATU] hY GRHATI] FEAT

29  Which doping material is used to make P-type
semi conductor? | “dT-cT8T HT shase Tellel h

T fha SYfer arealt 1 39ter fhar Srar &2

A Boron | IR

B Arsenic | 3TdfA%
C Antimony | TEIHAT
D

Phosphorous | RIEPRE
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30 Which type of biasing is required to a NPN
transistor for amplification? | JaYT & folT NPN
giforee & forw fond YR hr AfAaATT hr
HTIISAT Il 82

A Base ground, emitter and collector positive |
99 7133, TfA AR FelFex difaifea

B Base negative, emitter positive and collector
negative | 98 faaifeT, tfAex uifafea iR walaex
Aafea

C Base positive, emitter negative and collector
positive | 9 Uitatted, TiAeT fAafea 3t seleeT
qifsfea

D Base positive, emitter negative and collector

negative | 99 Uifaited, TiHeL fAafea 3it sreleeT
faafea

31 What s the type of function in the transistor

circuit? | giforEe Gfthe & el T YhR FATE?

|+ N |+
Switching | FEaf=er
Oscillation | EreleT

Modulation | HIgZelereT
Amplification | ggeieT

O 0O w >

32 Why negative feedback is required in
amplifier circuits? | TFTThIIR Aihe 3
TARRTcHS HISsleh FI AT FIT §?

A  To reduce the distortion | ﬁﬁaﬁrwaﬂﬁ
& fow

B Toincrease the amplification factor | ggeieT
e I TGl & folw

C Toincrease the output voltage gain | 3-1'I3_c,"c__|,'c,"
dlecs Je & faT

D Toincrease the output current gain | 34I3EC|°E

IR 18T A 1 e oh [T

33 What s the purpose of DIAC in power control
circuits? | 9TaR Shelel Hihe 3 DIAC FT 353 FT

g?
A As rectifier | SFChRR F TTH

B  For triggering | WW?@U

C Asan oscillator | Tah 3iTfAcleT h T H
D  For amplification | ga4e & faw

34  Which type of control device is used in
electronic fan regulator control circuits? |

Solarciieleh 9T aree fagor gfdhe 7 frg
YR o AT TUT 3UHIUT T 3UANLT ThAT SATAT 872
A FET
B UIT
C DIAC
D TRIAC

35 Which quadrant operation of SCR delivers
heavy current in reverse biasing? | SCR I i T

AT FaTeleT R STHeT 7 R ie ST g?
First quadrant | QBTvITﬂngﬁQT

Third quadrant | FﬂWﬂT;TQfI'QT

Fourth quadrant| e ﬂ?;fiﬁ'ﬁl'

Second quadrant | Z‘@Tfﬂ?fﬁﬂ

O 0o ®w >

36 Which logic gate refers the truth table? | Hc
RIEEIRE TG EEIFE IR E E TGN

A A+B
0 1
0 1 Q
1 0 0
i a

A AND

B NOT

C NOR

D NAND

37 Whatis the use of time-base control switch or

knob in the CRO? | HIHR3T H CI8H-SH el
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Raa arAia Hr 3gAT FATR?

A Select sweep speed | TAIT TS &l TIT Y

B Selectinput voltage range | Wmiﬁ
FT T FY

C Select input signal voltage| BFI'%E@?FIFT
oSl T TTT Y

D Select intensity of the beam | o7 T drgdT T
YA Y

38 Why a snubber circuit is used in the TRIAC
motor control circuit? | g AeX fAg=or @fdhe

Teh ToTeR Afhe T 3UANT FT fohdT ST 82

A  To avoid false triggering | WW?W?
fow

B Toincrease the life of TRIAC | STk T STdeT
el & forw

C Toincrease the motor torque | FﬂETET*ITEIP‘f
T 96T & [T

D To maintain the motor speed constant | Al

$r a1fa =1 R g7 W= & fov

39 What s the output DC voltage in half wave
rectifier, if the input AC voltage is 24 volt? | 8T% dg

YFehraR # 33eqe St alees 41 8, Iie gaTe

T dfecoT 24 Aee 87
A 24 Volt

B 12 Volt

C 9.6Volt

D 10.8Volt

40 Why most of semi conductor devices are
made by silicon compared to germanium? |

ST ferara Y ottt 7 TATelenleT GarT 31ferehier 378y

ATeleh 3YhIUT FAT IATT ST 82

A High barrier voltage | 3TT STHT dlecal

B  High resistance range | 3T gfaig I

C High thermal conductivity | 3T dT9IT
UTelehdl

D High current carrying capacity | 3TTURT o
SiTet shl &THCT

41 What is the output voltage if the centre tap of
transformer is open circuited in a full wave rectifier

circuit? | AR CRAHIIAR T AUET & ot
XfFehTa Afthe & Gell §HT &, Y 3M3eYE deest
FATE?

Zero voltage | ?]\FJE!’I@GT

Full rated output | qﬁiﬁ?ﬁ?ﬁa

Half of the rated output | e e & 3mem
One fourth of rated output | s g #r s

s

O 0o v >

42  Which oscillator provides high accurate stable
frequency? | SisT AT &leTsh 3T WW&T@%
eTeT T &7

A Hartley oscillator | ¢ 3T Alex

B Colpitts oscillator | FIaIfeH 3T ¥elex

C Quartz crystal oscillator | EI*ETC‘:GI'W
HiffereX

D R.C phase shift oscillator | 3TRIT thaT TAFE
HiffereX

43  What is the characteristic property of base
material in a transistor? | W'g;iiﬁlza H 3R

QT 1 TRy 707 T 82

A Lightly doped and very thin | o< & 319 fhaT
g3 3T gl Tefelm

B  Heavily doped and very thin | smfraﬂwag?r
gdar

C Lightly doped and very larger | o<h & 319
e g3 AR Sg 3T

D Heavily doped and very larger | ﬁqﬁ'%ﬁ'{ag?f
CE]

44  What is the type of amplifier? | TFIIHIRIT
HT YRR FATH?
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o]
|

d nf ~] LE

A Push Pull Amplifier | 92T Jef TFIAHIIT

B Common Base Amplifier | FIAT T
TFTOITHIRIT

C  Emitter Follower Amplifier | TfReT BIaI3R
TFIONHIIT

D Common Emitter Amplifier | IHT TTHT
TFIONHIIT

45  Which resistor determines the voltage gain in
a common emitter amplifier? | it AT IR Th

AT UTHEY TFTolIhRIY H diecol ofd &l
TR aarg?
"
Ry
I .
o —4

A R:
B R
C R
D Re

46  Which multi vibrator produces a repetitive

pulse wave form output? | ﬁﬂmﬂa"ra@a
3T3CYE W AIGUAGR Tod dd UeT T 87

A Astable multi vibrator | 3ECEdl Hecl ATSsET
B Bistable multi vibrator | STSECEel Hoer
CIES[EY

C  One shot multi vibrator | & QlTC ALY ATBHEI

D Monostable multi vibrator | HAlIECE ol Hocl

EIEEL

47 Why a feedback network is used in the
oscillator? | @YeTeh & Ueh B siedeh Sl 3UANT

FT R ST R

o
l e
A  To cancel noise distortion | 2T [a®IUT &I IE
FlA o forw

B To phase shift the signal by 60° | 60 33t & %ot
e et & forw

C To phase shift the signal by 180° | &3l &r
180 ° H % [AITe ¥t & o

D To cancel second harmonic distortion | qgﬁ

gl feieh fawToT &1 35 el o folw

48 What is the main application of a Field Effect
Transistor (FET)? | Wgﬁﬁ%@ﬁw (FET) =T
HE AT A 2

A Voltage control device | @recot IF0T f3arsa
B Current control device | YRT [T 3ars@

C Positive feedback device | GhRIcHS HIgsh
fSarsw

D Low inputimpedance device | hH geTqC
GTIETEIT 90T

49 What is the main function of Uni Junction
Transistor (UJT)? | ?:Ijﬁdwm QiEN-Ci (UJT) =T
HE S FATE?

A Relaxation oscillator | RelFa2T 3ifAeex
B  Broadcast transmitter | WITUT';':I'\‘:IT-nET

C Loud speaker amplifier | o138 TRT
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TFITHIRIT

D Microphone input device | mﬁﬁw

50 How the gate terminal of N channel JFET

biased? | N UsTel JFET &1 1€ cfHetel hat 3fHAT
g

A  Gates are reverse biased | mtrazraqfﬁa?r%
B  Gates are forward biased | mmmﬂa%
C Gates are forward biased with drain | 1€ 3T &
AT 397 AT &

D Gates are reverse biased with source | IICH

Y & Y 92T ATAATE

51 Whatis the total turn-on time (ton) while
transistor makes a transition from V, to Vi? |

CITSTEET V, OV, & IRacTel il THG ol Tol-3HTe
TISH (ton) FATE?

1 1
b )
DElay ____JI _______ lL__
1 : 1 :
| 1 i 1 ow
I 1 | 1
LAk ™ _.-._.J-.) - —————— | Lo = \hl
L 4 t
' 4
A ton: tr 'ts
B ton: tr 'td
C ton: td + tr
D ton=trt tat ts

52  Which device is made up of using the
methods of point contact, grown, diffusion and

alloy junctions? | ﬁg#ﬁ, [EEAGCAEER CEIIN
a7 1 STerRrl & Tehl AT 3TANT e ford

YT T TAATOT fohaT ST 87
A  Inductor | 9ehca

B Resistor | Ifcaies

C Capacitor | HTRT

D Transistor | EfolEeX

53  Why the collector region is physically made
larger than emitter region in a transistor? | Teh

gIToIeY H Sholdex 817 Hifdsh FT A 3caoh 8T &
ST FAT TATIT SATAT 87

A It hasto dissipate more heat | sﬁm?ﬂ?ﬁ
T JHR AT 93T &

B Output taken from collector terminal | Selaex
cfFister & foram amar faeta

C Base collector region is reverse biased | I

Forded 817 Rag Taes &

D Collector region always operate with high

voltage | FoldeX &1F AT 3T dleeol & AT I
FATE

54 What is the function of a transistor if emitter
to base and collector to base are forward biased? |

Ueh TITSIEeR T I FAT &, Ife, TR T 87 3R
FolFeX F 97 doh 3T IFTAAT 57

A Acts as an amplifier | Toh TFTellhIAR o 9 H
FY FAT &

B  Acts as an oscillator | U &Il o ®9 H T
PRATE

C Acts as an open circuit | W@Hﬁ%‘%wﬁ
FEFLAT Y

D Actsas aclosed switch | Ueh §¢ Rad & T H
FRA AT

55 What is the main advantage of a class A
amplifier? | FelTH T TFICIhTIR T FTY ol1sT FT
g?

A Minimum distortion | Fq@?lﬂ'ﬁﬁfﬁf

B  Maximum current gain | 37T R GRT T

C  Maximum voltage gain | 31T8Ihde alec ol ATH

D  Minimum signal to noise ratio losses | IR

31791 g1 o forT = geTaa Reeter

56  Which electronic circuit produces signal
waves or pulses without an input? | HiTar

goAerclioieh Hfehe Tor=iT geTe o faeter cait a1
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T T 3cUTGsT il 67
A  Detector | BeFx

B Amplifier | TFTelItIIT
C Oscillator | Gleleh

D Modulator | FFI’I'E'\EI@ET

57  Which circuit is essential to maintain
oscillations or waves in an oscillator circuit? | gleleh

Hfehe H grelell IT a3 I FeATT IGat o TolT HleT
a1 e 3aeTeh g2

A Rectifier with filter | fheeX & T feSehRT
B Voltage multiplier | a’l?as{a;rrrm

C Negative feed back | APRIcHS HISsH

D Positive feed back | HhRIcHS hIgdeh

58 What is the main application of uni junction
transistor? | eitoierleT ZITSTEC T HET 3THAET
FATR?

Rectification | fesEaRIuT

Amplification | qaeeT

Regulator circuits | Wﬂﬁﬁ'

Triggering circuits | @?ﬂﬂﬁﬁ'

O O v >

59  Which device has very high input impedance,
low noise output, good linearity and low inter

electrode capacity? | mswﬁag?rm
geTqC YTCIaTErT, e AR f9TeT, 3resr Wehar 3R
HH 3N ST &TAT 2

A NPN transistor | TeTUTUST EIfoiex
B PNP transistor | 9TuaTdT eifaidex
C
D

Field effect transistor | HIes Sthec Tlfoiel

Uni junction transistor | ughsiaam;iié;a

60 What is the difference in current control of
MOSFET compared to JFETs? | JFETs ST Jefell &

MOSFET & YRT {07 3 &FT 3cR &2
A Insulating layer instead of junction | ST&F2Te &

EE IR AR

B Using N material instead of P material | @Y

HIHIAT & TSI TsT FTHIAT AT ITIIT AT
C Using P material instead of N material | Tel
FIHIAT & T O ATHAT T YT AT

D Using N material gate instead of P material | 1]

TTHN & T T AT I T 3G FHAT

61 What is the type of amplifier circuit? |

TFRTIY Giehe &l Teh T &7

|
e

INPLUT

1

A Common base amplifier | P 9 TaUH
B Common emitter amplifier | PIHT UfAeT
TFIRTHRIT

C Class B push pull amplifier | W@'g@l’gﬂ
TFIRTHIRIT

D Common collector amplifier | PIHT Folae
TFIRTHRIT

62 What is the peak voltage of 220V rms AC
voltage? | 220V rms AC ATecof T Uleh dlecol T

&7

A 310.02V
B 31117V
C 31225V
D 315.20V

63 How the input impedance of CRO can be

increased? | ﬁmﬁﬁgsﬂq&?maﬁﬁ
ST ST @l 872

A By adding resistance to CRO probe | HI3TR31
W H TR Sgey

B By adding resistance to trigger level circuit |
Rt wfie o 9T Sirsa

C By increasing time/base attenuator switch
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position| AT / 7 TewgueX Eaw f&ufa &t

dglhl
D By increasing volts/cm attenuator switch

position | @lee / AHT Tewgue FEaw f&ufa &t
dgln]

64 What is the frequency of the displayed signal
on CRO screen covered by 5 division with a time

base setting of 0.2 micro seconds? | 0.2 ﬂﬁﬁm
& TISH 97 AT & A 5 T3t gany e [
31T CRO FshieT TR Y& RTet ffiaeter 1 3mgfce s §?

A 1.0KHz

B 10.0KHz

C 100.0 KHz
D 1000.0 KHz

65 What defect will occur in the radio, if the
pulsations are not removed from the input of the

rectifier? | IS H 7 WIET 3TN, 3PN Jod2leT
I YTFCHII o SoA9E A 76T GeTIT I &2

A Improper tuning | Hﬂﬁﬁ'@'ﬂﬁﬂ

B No response | aﬁémaﬁr

C  Humming sound | I[F3TATCT 3TaTS

D Works with low volume | EHTB-TIH'IGTQ?HTQT
FHIA &

66 How does the depletion region behave? |

RFATHIOT 877 FH TR AT &7

A Asresistor | IfaRIUs & T H

B Asinsulator | Wéﬁmﬁ

C Asconductor | W*Wﬁ

D  Assemiconductor | 378 TTeTeh o &9

67 What is the power gain of CE amplifier with a
voltage gain of 66 and 3 (Beta) of the transistor is

100? | 66 F dlecl aTH 3R TIfoIFeT & 100 Beta
(S1eT) & AU CE TFIIIhRIX T ATFd o FAT 8?2

A 15
B 166
C 0.66
D 6600

68 What is the effect, if SCR is latched into
conduction and gate current is removed in DC? |

FIT IH1T &, 39 SCR ! ATeled H oid fohaT SATAT &
3R bC & 9T Fe geT AT FATATB?

A  SCR gets cut off | THAEINR e TH gl STdT g
B  Current through SCR OFF | TR 3% &
HETH ¥ URT

C Output voltage will be reduced | 3r3¢qe
arecol e gl SATTaT

D Gate looses control over conduction | 3I€

ATl R [FFFor @rearg

69 What is the effect of pinch-off voltage in JFET?
| JFET # T 31T alecot ol T I97Td &2

A No depletion region exists | aﬁéﬁﬂw
i o e

B  Drain current becomes zero | ?HEI'T{E ?]\FJET
ST &

C  Reverse bias voltage becomes zero | Rad
S dledsT Yo B AT &

D  Width of channel has maximum value | Tel

&1 AdterS 1 IR TA AT &
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70  Which supply indicates by the colour of
conductor exihibited on Red, Blue and Black? | ©Tdl,

AT, ST 37T fohT 1T FgFel & T[T H T AY
3qfet S e 82

A Supply DC 3 wire system| 3 Hﬂﬁ?ﬁm
EMICT

B Single phase AC system | Tehof thof THT YUTTeI!
C  Supply AC system 3 phase | 3 ﬁrﬁr@ﬁaﬂqﬁ
EMICT

D Apparatus AC system 3 phase | 3 ﬁﬁ_cfﬂ'\':ﬁ'
O IgHIoT

71  Which cable ties are used to bunch the wires?

| TRY T IToeT el & ToIT et & Sherel el T
39197 fhaT SATT 82

Silk ties | YeTH §ET

P.V.C ties | AT §&T

Nylon ties | ATRIclTeT §¢T

Cotton ties | zqgfra%:

o 0O v >

72  Which device is avoided in the panel board

assembly? | Yoo 915 3rdeen & forg 3uawor @
T AT &7

A  Sensors | §EX

B Indicating lamp | Hhd &Iaeh

C Isolating switch | faerfaid aa

D  Push button switch | EQTEI?H%?—T

73  What is the name of the device marked X’'? |

X AT RITEAd [Sarsd s At Far g?

L
f hﬁ%‘fﬁ

Stop button | T&TT §&sT

Start button | T&TE §&sT

Main contact | Jﬂ)‘@?:[ﬂﬂ'é;
Aucxiliary contact | eI GUeh

o 0O w >

74 \What is the name of the wiring accessory

used in control panel wiring? | WWW
H IrINET TFAE BT FATATH &2

A DIN rails | ST YT

B Gchannel | S deTer
C Grommets | MNAH
D Race ways | YT AT

75 What is the name of the device marked as X’

in the cricuit? | IRIYT & ’x’ 3ifohd 3a8d 1 ATH

Contactor | GdTeTeh
No volt coil | =T dlee EF\IJE;?‘I'
Stop button | Terq geaT

Over load relay trip | 3TaX &g Rer fea

O 0o w >

76  What is the name of the accessory used in

control panel wiring? | WWW?W

A Wire ferrules | IR B&el
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B Wire sleeves | R 3TEdIsT
C  Nylon cable ties | sTTIellel shaiol ST
D  Cable binding strap | halcl STHeT T TET

77 What is the name of the accessory used in
control panel wiring? | WWWQ#W
10T ST FT AT g2

A Llugs | odH

B Thimble | fFser

C Grommet | SIACT

D Terminal connector | F&RT G

78 Which device protects from overload and

short circuit in a panel board? | Y ais ARl ar
f3arsy 3Naves 3R e Afdhe A saTarT?

A Isolating switch | 3Ts&ETTeaT fEawT

B Time delay relay| 983 ¢ et

C Thermal overload relay | 2r&er 31freTT Rt

D Miniature circuit breaker | fAfATeR aféee
CETY

79  Which switch with an actuator is operated by
the motion of a machine or part of an object? |

TFYUE o AT hisT AT e #feT & arfay ar
el T 3 7197 G@RT HaTTord 81T 62

A Limit switch | Toif@e Raar

B Toggle switch | clarer Ra=r

C Isolating switch | 3T8&ETTEaT g

D Push button switch| FID'QI'EI?,?I'TQ\-T:IH

80  Which switch is operated at OFF load
condition? | 3T &g &ufa & sl ar Fawr
Farfard g2

A Limit switch | foif@e o=
B Isolating switch | 3T8&TIfear Eaw
C Two way switch | 'g."\aﬁ-ﬁ?-r
D  Push button switch | gr%raz?r%ir

81 Whatis the reason for providing two separate
Earthing in panel board? | Ter SIS H &Y 37e19T-

31191 317297 YETeT ¥t T AT SHIROT 7

A Panel board is made in metal box | SIS
T & ol H SAT AT

B  Control the stray field in the panel | ﬂﬂﬂ'ﬁ@
& I fraa Y

C Reduce the voltage drop in panel board | Yool
IS H diecT 319 I HA

D Ensure one earthing in case of other failure |

3 TAtheldl & HHe! H Teh T giarerd sl

82  Which circuit, the limit switches are used? |

fore afde # fafae g & 3uier frar srar g?
Lift circuits | foroe aféhe

Street lighting | TSh JhIm

Motor control circuits| HteX faa=oT gfshe
Domestic power circuits | ﬂw\mﬂﬁﬁ

o 0o v >

83 How the control circuit voltage and power in a
contactor are to be selected? | Teh HAToTeh H

farz=or afdhe arecst 3R fosrell &1 a3« &a forar
ST E?

A As perrated current | HRTQSW

B  As per supply voltage | 3-113:%3’[?33[35

3THR

C As per no volt coil rating | HTWWT%T
% 3TAR

D As perthe type of supply | Mq‘jﬁa-?wa-?
SiG G

84 What is the criteria to select the contactor? |
AT T TAT Tl & [T ATACS FAT 8?2

A  Type of supply | WWW
B Type of load connected | @?gﬁra’l—s'a:rw‘é
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C  Supply voltage and load | Waﬁmﬁﬁ
CIES

D Place of use the contactor | TS &7 3UIET
e T T

85 Which accessory is used to mount MCB,OLR in
the panel board without using screws? | T T

391 R T daer 918 # TATE, 3T Hr
HAT3C ¥ & ToIT fovd ATaal &1 39NeT fohar SITer
g?

DIN Rail | 3T T

G. channel | ST =Tl

Grommets | AATH

PVC channel | AT T

O 0O w >

86  Which type of device protects motors from
over heating and over loading in a panel board? |

TR IR ST 3UUT AlCH ol Teh UoTel 918 H
Bifar 3R 3R NfSer @ samar g?

Rectifier | f&Seahr

Limit switch | fafae faw

Thermal relay | i Rer

Electro mechanical relay | sﬁﬂjmﬁ

?LUGWZD

87 What s the use of G’ channels in control
panel? | [AIF0T H&T &’ G UeTall bl SYITIT FAT§?
A For fixing relays| et I 8l et o ToIT

B For fixing contactors | TdToTehl ! Sleh hiet
fow

C  For fixing instruments | 3YehI0Il bl STeh hial
& fow

D  For fixing terminal connectors | f&Y TaTeTeht
I 8ok Ftel & [l

88 What s the function of limit switch in control
panel wiring? | a@ﬂ'ﬁﬂﬁ'wlﬁ'ﬁﬁ?ﬁ-ﬂﬂ
HFATH 8?

A Controls machine from over heat | 31feeR arelt
A Tl AT T g

B Controls machine from over speed | 2T T
3R T & i e

C  Controls machine from over loading | 32T T
3R AT & TRIFT FaTg

D Controls distance movement of any machine |

IERIE N E e EKICEANERIECERGI

89 Which is the standard duty cycle code of the
contactor for starting and stopping the AC resistive

and inductive load? | THT IR 3R O IR I

& oA AR Aehed o ToTT Hehehcll T HTeleh
HoicT Ih PIS PiA AT 7

A AC

B AGC

C AG

D AC

90 Which is the correct sequence operation of
contactors for operating automatic star delta

strarter? | TIATTId TE€R 3ol T & ATl &

I TYSTeht o FEY 3Tesha T HTelel hlet AT &2

Main—Star—Delta—Timer
Star— Main—Timer—Delta
Main—Timer—Delta—Star
Star—>Timer—>Main—Delta

OO w >

91 Why control panels are provided with control

transformer? | fT=0T TAHRER & 1Y fAT=0TUE
1 gere T e 82

A To maintain rated voltage to load | &Il el &
forT 3¢E dlecst §aT0 3@ & foIT

B To operate the auxiliary circuits | eI Aiche
HTfeld et & folT

C To maintain rated main supply voltage | I¢3
HEY Yl dlecsT =TT W= & foIw

D To supply reduced voltage to power circuit |

ATeR i T ha dlecst Sl Y[ Hlel & foIw

92 What happens, if time delay relay of a auto
star delta starter still in closed condition after

starting? | FIT BT &, 379K Teh 3TeT TR Soel
T & Y& Bl & dTe, 7 A T3t Rel 5 gt
Hegrarg?
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Starts and stop | QF?IFIT%&T\TWE’IHT%
Runs normally | 1T & § Tl §
Runs in star only | TER F & el &

Runs in delta only | SeeT H &l IoldT &

O 6 w >

93 What is the use of PVC channel in a control
panel wiring? | T sherel YaTel araer 7 drdidr
eTol T 3YITT FAT &7

A Mounting MCB | MCB eldTT=T

B Mounting relays | el o3TaT
C Path way for electrical wiring and protection |
farstel & dRT 3R e o fore e

D Mounting double deck terminal contactor |

39 3 A AT IaT=T

94 Whatis the purpose of thermal over load

relay in control panel? | 90T ge & ydor 3R
oz Rt T 3T Far g2

A Switching ON/OFF the circuit | ®féhe T =ITe] /
§¢ YT

B Protect the circuit from earth fault | C[%T:ﬂ'aTGF
o afdhe Hrsmay

C Control the circuit based on time delay | IHI

T ST & IMYR IR Ffehe 1 TaEd T
D Protect the motor from over heating and

loading | FIEX &I AT gifear iR AifSr & sarw

95 Why sequential control of motors is required

in an industrial application? | mﬂw
A HIcH & 3fefshideh [FZ0T T HTTLTehdl F2T 872
A To share more loads | 3718 HX HIST FA &
forw

B To reduce power consumption | EEEIED
TUd I HH T & foIv

C To minimise the operating cost | gRrere
ST 1 HH A & faT

D Toincrease the accuracy of operation |

3T FF GhdT Fere & foaw

96 Which material is used to make open frame
bimetallic adjustable thermostat contacts? | Easl

TIHIAT T 3TN Yol A & faeTcdi FANST
YATEET HAISTHT &l FeATed o Torw fhar Srar g2
A Silver | TTEr

B Brass | Uidel

C Copper | d@TsT

D Bronze | T

97 What s the purpose of DIN-rail used in
control panel wiring? | a-@?l'ﬁ?lﬁaﬁlﬁ'«’T'ﬁf DIN-
Xl T 3TN FATE?

A It provides a path way for electrical wiring | Tg

e et aRT & fIT veh T YeTe el g

B Install the high powered circuit accessories |
3o AfFd arel afche Tr#:f & TUfid da &

C Mounting the double deck terminal connectors
| 3 3o A TSI ool H

D Mounting the control accessories without

screws | ¥ o ToieAT =0T A1HE oRT= H

98 Which device controls the operations in

sequential control systems? | aﬁﬂﬁr%msﬂ
S1eTeR e foreiToT Jomfar 3 et Y it
A&7

Timer | CISAT

Relays | et

Contactor | 3T

Control transformer | ﬁ'&‘:lUTQ'I'HWDﬁT

o 6o v >

99 Which DC load is represented by the DC4
standard duty cycle of contactors? | @il AT 31T

S, HUehehd 131 oh DC4 HTeTeh Shelcd Tsh GaRI
GRMAT ITAT &2

A Resistive loads except motor loads | #ICT IS
T BISH FfcRITeh HR

B Starting and stopping of shunt motor | 2/
AIET T BT IR Tehel

C Starting and stopping of series motor | ofY

AIET T BT IR Tehel
D Starting and stopping with inching and braking

| =t 3T STehaT o AT Y& HI=AT IR ool
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100 What s the purpose of control transformer

used in control panel wiring? | a@at\aarare:rﬁw
& 393197 fhT 1Y arer fA=0T CrawRR &7 3827
FATE?

A To maintain constant terminal voltage | g

il alee ot 9T W@ & forw

B To supply the power to the auxiliary circuits |
FERI T 1 Riotell 1 3mfet et & fore

C To control the supply voltage to the contactor |
ST o Y[ dlecst & A fId et & fow

D To protect the control elements from over

voltage fault | T dcal Ft 3fd dlecT v &
T & fow

101 How the contacts in a contactor can be
engaged for working? | forely TaYsTeh o TUe 1A
e o FoT A IR fohT o1 Tehal &2

A By manual operation | ﬁgma‘ﬁ%%maﬁm
B By mechanical settings | aﬁmﬂﬁmaﬁm
C By operating electromagnet to change the
position | ﬁﬂﬁaﬁﬁﬁ*ﬁ?ﬁ?ﬂﬁﬂﬁﬂ
HATeTeT e

D By using bimetallic strip to change the position
| et Y sgeret & foarv gfaenfeass a8t 1 3uer
FIh

102 Which device prevents flare out of stripped
and stranded cables in the panel board? | Pl aT

fSarss dever s A afedt AR I g herell & TR
3TeT § UheT 57

Sleeves | 3TN

Wire ferrules | IR H&el

Lugs and thimbles | 39 3R Reaeq

Cable binding straps and button | Feel SETeT
afgar 3R FeaT

O 0O w >

103 How to protect the cable from insects and
rats into the panel? | Wﬁ@?ﬁﬂ@ﬁm
T @I HA HF?

A By using sleeve | 3TTEcTeT T 3T Hlch

B By using Grommets | 9I;I'J-\|C<{-I T 3T Fh

C By using cable binding straps | ol ST
gfEat & 3ueT

D By providing nylon cable ties | ATTATT el
¢ YeTel leh

104 What essential feature to be considered
while designing a layout of control panel? | IGRENI

T & AHT3C Fl 3181 i THY fohd 392
AV R foR AT ST g2

A Proper type of protection and measuring
system | 3eIcT Teh T &I 3R AT JoTTelr

B Inside area and number of indicating lights in

front panel | 37eX & &1 3 IreAa Uaver & A2y
I ST et hr F&ar

C Suitable method of labelling and cable
harnessing | Wﬁmmﬁm
fafer

D Outside dimensions and swing area of cabinet

door | hfdaie Taret & J1EY JaTs-ales 3R &g
a7

105 Why power and control wirings run in

separate race ways? | 9TaR 3R selel asReg
3CTIT-3TeT3T TH dof H T Toldl g7
A  To reduce heat | ITH &I e HLal o oT

B To reduce the radio interference | A
EEAGTT Sl hd el oh [lT

C Toincrease the insulation resistance |
SogIRIeT YTRIE §ele & fow

D Toincrease the current carrying capacity | €T_T

TG &THAT Pl TG b oI

106 Why the motor is not changing the direction,
if reverse push button is pressed in forward and

reverse control star delta starter? | HIe eI F4T
TET TereT T 8, TN NG 27 et 1 HRas iR
RaY elel TER 3ol T H SaraT ATdT 872

A No volt coil is not energized | HT?IR’EF\I%T‘—I'
EIECE R

B  Faultin forward contactor | BRAS HicaFel H

v

Bl
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C Duetointerlock in reverse contactor | Rasd

FiecFed H STl & HRUT

D No voltage exist in reverse contactor | Rad

HiCFT A IS dlocsl AlSE 6T &

€@ \| M| Question Bank Page 16 of 37



ELECTRICIAN — Semester 4 Module 3 - AC / DC Motor Drives
Reviewed and updated on: 01% November 2019 Version 1.1

107 Which control system consumes very low
power for motion control in AC and DC motors? |

Y 3R ST Ay 7 Afd fgTor & forw Sl &
fT=oT JoTTel! Sg T o forsTell T Woel el &2
Field control | &7 fag=or

Drives control | 3139 fag=or

Voltage control | @reest fag=or

Armature control | 3R fagFoT

O 6 w >

108 Which drive is classified according to mode
of operation? | mm$m$a@au< mglsd
! gaffepc foham araT g2

A Group drive| H¥g 3159

B  Manual drive | ﬁ?-_[ﬁﬁs'lsﬁ

C Individual drive | SIfFdeTd 38T
D Continuous duty drive | TR ST@' glsd

109 What is the name of the characteristic curve
in D.C drive? | D.C 3T3d H TG ash T AT FT

&

I [ [ |
o ] ™

A Speed Vs torque characteristic | LIGKGICG
et faRIvar

B Torque Vs field current characteristic | EFITE{\UT
TS &1 R faRrerar

C Speed Vs armature current characteristic | Ifa

T 3THRR G faLrear

D Field current Vs armature current

characteristic | PTes ¢TRT §=1TH 3R

110 What is the name of the component marked
as X’ in the block diagram of AC drive? | U@I’E’Eﬁa?

solfeh 3G H'X’ & &7 H RIfTaa ged a7 a7
&

o-EH HA®
L.

A Rectifier | fgSedRY

B D.Cbus|3r@rayd

C

D

Inverter | Sod X

A.C motor | A.C AT

111  What is electric drive? | sﬁ%iﬂs—q’w
g7

A Adevice used as prime mover for generator |
STeET o Tl IISH HaT o &9 & 39T T Siet
dTell 39hIUT

B A device converts A.Cto D.C supply | Teh

39T A.C Y D.C 3MYfet & IRafcfd a=ar
C Anelectro mechanical device for controlling

motor | HIEX Y AT Tet & fow ven faegd
ek 3THIOT
D A machine converts mechanical energy into

electrical | wmﬂauﬁ&mﬁaﬁrﬁ?\gﬁﬁ
aRafda acrg

112 What is the full form of B.O.P in D.C drive? |
D.C 3189 # B.0.P o1 qUT &9 T §?

A  Bridge Operation Panel

B  Basic Operational Panel

C Basic Operation Programme

D Bridge Operator Programme

113  Which is the classification of drive according

to dynamics and transients? | AT AT 3R
CITSTUCH & 3eTHR ST5d T Ji1eh0T hist AT 57
A Short time duty drive | Qe CISH sﬂﬁglsd
B Intermittent duty drive | Hﬁwsuﬁssa
C Automatic control drive | Taarferd fag=or
gled

D Variable position control drive | gRad=T
ERACDELECEE]

114 What is the function of power controller in

drive circuits? | 3139 Tfehe H UTaR Felelk T FAT
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FE?

A It sounds an alarm in no load conditions | =T
IS &1 Fegfa #iue e Sofar g

B It detects the overloading condition of motor |
g AR FI 3axalirs T Ut &7 9ar eemarg

C It reduce motor current during transient
operation | Ig &IT0Teh TdTel o GIRTeT AICI T

A A FATE
D It maintain the torque at low voltage

conditions | Ig & dtecst i FEIT 3 Fereo 1
FATTIGATE

115 Why it is necessary to keep V/F ratio
constant in a drive? | %ﬁ@rglsaﬁw F 3-17-_[:”?-[5!#
e Y@= 3t 3maeTe 7

A Keep the stator flux maximum | T FelaFd
T 3fhda @

B Maintain the rotor current minimum | =gsIdd
U YR FAT0 T

C Maintain the speed of motor constant | Hle<
T AT fol el ST 3

D Maintain the rated torque at all speeds | T#T

a1l 9T 1S Felreol FATC T

116  Which power modulator used in the electric

drive system? | Soligeh 315d TATeH & fohd grax
AISF oI T 3TN AT ST g2

A Cyclo converters | WW

B  Frequency multiplier | Hﬁﬁw

C Phase sequence indicator | IIT 3eIshH Jdh
D

Servo controlled voltage stabilizer | gaf

GRIEGKIESSESERIEREY

117  Which type of sensing unit employed in drive
system? | 3139 fA¥eH H fhg YR Fr TdeT 15
FRRIE?

A  Opto coupler | 3iTeer TR

B Speed sensing | 3Ty HAGeT

C Photo voltaic cell | PIEIdlecse Al

D Resistance temperature detector | TRIe]

drqAT f3eaFeX

118 Which type of machine in industries is
provided with multi motor electric drive? | 3335|I3I‘I

# T YR Fr 7ALMT A< Alet solfoee 35d &
AT F&TeT & AT &7

A  Rolling machine | gmﬁaﬁrmﬁa

B Air Compressor | T3 $hedal

C  Shearing machine | AIRaT 7LMT

D Heavy duty electric drilling machine | IR T
geifergeh f3folar el

119 Which control system is used for Eddy
current drives? | US3T &hic 318d o TolT fohd

fAIF0T guTTelt @67 Ut foham Sar &2

A Slip controller | &g &eleR

B Rectifier controller | IFeHhIAT hglolk

C ACvoltage controller| THY aleest a9
D DC chopper controller| 3T TR AITh

120 What is the purpose of JOG key in control
panel of D.C drive? | D.CEIBHQ?WUTCEﬁJOG

ol T 32T FAT&?

A Stop the motor | HIeT §¢

B  Restart the motor | Wﬁgﬂ?ﬁﬂﬁ

C Inching operation | sﬂmmlﬂ

D Reverse the direction of motor | #eI &I fear
3dCE

121  What is the purpose of LCD on basic
operator panel in D.C drive? | D.C Wﬁm

3T YoTel IR LCD T 38T FATE?

Indicate the fault | G T ST &Y

Display the speed | 31T 9T &Y

Monitor the parameter | RTHIET Fr fFaRTE=AT

ﬁ‘ﬁw>

D Display availability of supply | mﬁ@r
3UTSdT Y& Td e
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122 What is the reason of using shielded cable
for connecting low level signal circuits in DC

drives?| SIEY 3189 H o1 TR & Q7 afpe Fr
Srget & TorT aRTTET Shelel &1 3TN A &1 T
FROTE?

A Easy for connection | Pl & foIT TETA &
B Good appearance | 37<aT fg@rac

C Protects from mechanical injuries | i3 arer
B CBIGIN

D Eliminates the electrical interference | ﬁ?ﬂ?—f
EETETY 3T HHTCT T §

123  Which device controls the speed of A.C
motor in A.C drive?| A.C 3T3d H A.C Al T aTfa
T il AT 3UHOT [AATIT AT &7

A Field supply unit (FSU) | e HCelT$ et
(FSU)

B COMMS technology box | COMMS Sieanfarehr

9]

d1q
C Speed feedback technology box | s frsds
ey st

D Microprocessor based electronic device |

ATSHIAIETR TR Sl oleh 3THIT

124 What is the main use of A.Cdrive? | A.C
1S I FTI 3AGNT FAT ?

A High starting torque | &TS TeTfeaT &ich

B  Group drive motors | Wsﬁam

C Control stepless speed in motors | e H
IGREMKGEIG]

D Interlocking system in industries | E}fﬁﬁﬁ

ST TehaT JUTTRIT

125 What is the function of IGBT in AC drive? |
UHY 3189  IGBT &l I FAT &7

A Smoothening incoming A.C supply | 37T aTel
A.C 31Tl ol T el

B Controls the power delivered to the motor |
AT FI &7 7S ATFT o aa aarg

C Stabilize the output voltage from the rectifier |

VFehrER & H3eYe dleest I TR &Y

D Converts incoming A.C power into D.C power

output | 3T A.C 2IfFd &t D.C AfFd feta &
gRafdaaare

126 Why the A.C drives are better suited for high
speed operation? | @WMH*%‘UA.C

3[5d SgR AT 87
A High starting torque | E'I':S?'Q—?Iﬁ?TﬁéT
B  Robustin construction | ﬁﬂﬁwﬁmgr
C Having lighter gauge winding | e<hT 3TaT
T T
D No brushes and commutation | aﬁ’éaersm
HEERA el

127 What is the advantage of AC drive compared
to DC drive? | SIEY ST3d T JolalT H THI 3139 AT
T BIIACT 87

A Requires less space | WGFH%’EIT%'U

B Installation and running cost is less | 9T

3R Tl AT ARTT FH &
C Fast response and wide speed range of control
| e wfafsrar 3iR ferz=or it sarges afa dar

D Power circuit and control circuits are simple |

aTe] Hidhe 3T sheter afdhe TleT &

128 Which is the application of single quadrant
loads operating in first quadrant in drives? | Qsa'ﬁ

Uge Farge H fHaTeT FaTSe @IS & HaTole fehdeh
GaRT 3T STaT &2

Hoists | ﬁ'&'ﬂ-‘d

Elevators | TelldeX

Conveyors | FedaT

Centrifugal pumps | 3T9ehgl &9

O 0o w® >

129 What is the function of Field Supply Unit
(FSU) in DC drive? | 1Y 3T8d # $los AeelTs Ffelc
(FSU) T T T &2

A  Produces required firing current to the firing

circuit | BraRaT e & forw 3maaes wraReEr

T DT 3cTTGT AT &
B  Provides variable voltage to the field winding
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of motor | FIEX & §1F ATSISIT I T dAlecol TG
EXGIKY

C Provides a constant voltage to the field winding
of motor | FIEX &I Phies ATBTIT &l Tah Aad
giecst YeTd ldT g

D Provides a constant voltage to the armature of

the motor | A &I TR &I Teh I dlecoT
G ERCIE

130  What is the disadvantage of DC drive? | 31ET
SIS I STl T &2

A Not suitable for high speed operation | 3T
ATy HelTere o T 3UYerd 181 &

B More complex with a single power conversion
| Tehel TTFd FATAROT & AT ¥ Sifeer

C More expensive than AC drive for high capacity
motor | 3T &THAAT I AT & favr Telr sI3a &
Jife Aga®

D Installation of DC drives is more complicated |

31T 3159 I TATIT S SifceT &

131 What is the purpose of LCD in Basic Operator
Panel (BOP) in AC drive? | THT 318d H a8
TR YAl (BOP) H TeTHTS! T 3528 FAT 57

A Indicate the status of drive | 3T8d &I TEATT Fr
Hohd &

B Monitor the parameter of AC drive | THI 189
& PTHACT Fr AIRTeA FY

C Indicate the display error in reading | 9ot &
ECC I CAHEICETY

D Indicate the incorrect operation of BOP | BOP
o 7ol TATelel T Hohd &

132  Which is the correct sequence operation of
key button in BOP of AC drive to change the

direction of rotation? | TS T T2 Teolal
forT AC 318 o BOP # Fofl SeT T e ieTsh
TR SileT ATE?

A  Press ON — REV —ON

B Press OFF > REV — ON
C
D

Press ON — OFF — REV —ON
Press ON —-REV — OFF —-0ON

133  What is the purpose of PROG / DATA button
in BOP of AC drive? | AC 318d % BOP & PROG /

DATA ScoT &l 38T AT &7

A To change the parameter setting | WA
QT I dgerad & faT

B To store the entered data and factory stored

data | &of fhT 91T ST 3R therd! HaTgIeT ST
HIEIT ot & farw

C Todisplay the data direction of rotation
forward / REV | FORWARD/ REV 2l &Y 2T feem

I& 2T el & folw
D Todisplay the data status of frequency and

current | mﬁrﬁwa%%aﬁaﬁrqafaﬁa
FA o forw

134 Which is proportional to the torque in D.C

motor? | D.C AT H TATEUT & FHTIUTCH il AT
e?

Back e.m.f | 335312’?:!'13’55

Field current | HTes &RT

Terminal voltage | 83T &1 alec ot

Armature current | 3THTT

o 0o v >

135  What is IGBT in VF drive? | VF 318 & IGBT
FATE?
A Inverter switching device | sﬁﬁf@ﬁm

ECIEN)

B D.C bus switching device | D.C g f&afar
ECIEN)

C Rectifier switching device | YfFe®RR Fafder
ECIEN)

D Field supply switching device | Cﬁlvgm

feaferer fSaga

136 What is the function of VSI drives? | VSI SIgd
H R FATR?

A Converts A.Cto D.C | A.C&HID.C H aRafda
FXATE

B ConvertsA.Cto A.C| ot o A gRafda
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FATE
C Converts D.Cto A.C | D.CHT A.Cc ¥ uRafda
FATR
D Converts D.Cto D.C | D.C&I'D.c HuRafda
FATR

137 Why the A.C drives are mostly used in
process plant? | 4T A.C 318d SITGIAR AfshdT TIF
H 39T fhar STar g2

A Easy to operate | Tellel & 3T

B Robustin construction | ﬁI?Zﬁ'UT'ﬁi"HG@\T—T

C Very high starting torque | agaa@a:%gaﬂ‘cﬁ
s

D Maintenance free long life | Wﬁﬂﬁ?{w
Shraet

138 How the base speed of D.C shunt motor can
be increased by using D.C drive? | D.C SISd bl

39T &¥eh D.C 21T ATCT T TR 3T hd Ters
ST ST 8?

A By reducing the field current | ies & &r
FHA Plh

B By increasing the field current | BIes FC
dalhy
C By increasing the supply voltage | m‘ﬁ

dlec ol I TGTRT
D By reducing the armature voltage | IR
dlec S ol hH Fh

139 How the constant torque can be obtained
from armature and field-controlled drives? | 3R

3R Fres A gr3a @ Aad el &a gred fomar
ST HHdAT 87

A By reducing the field current | Hles FC hl
HH Ph

B By increasing the field current | Hieg aie
siglehl

C By reducing the armature current | kI P=ory
FC P hH P

D By controlling the armature voltage | 3=

Al &l Afad Steh
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140 Whatis the minimum permissible single
phase working voltage, if the declared voltage is

240V as per ISI? | Ffe JTSTHIS & 3THR BN
oot 240V g Al S TeTHd Tehol TOT

FrRINer dee T FATE?
A 233V
B 228V
C 216V
D 211V

141  Which term refers that the mass of a
substance liberated from an electrolyte by one

coloumb of electricity? | fore ereg & drcad & o
TerdlT 9eTel T Gea AT Selareiase | Teh HellH
e GaRT 7T gl &2

Electrolysis | ﬁagamm

Electro plating | ﬁa}ﬁ@'q?r

Electro copying| Selaral el
Electro chemical equivalent | faegd

O 0O v >

142  What is the full form of abbreviation UPS? |
TfeTed ATH JUTH T U7 §9 F247 8?2

A Uniform Power Supply | Uniform Power Supply
B  Universal Power Supply | Universal Power
Supply

C Unregulated Power Supply | Unregulated
Power Supply

D Uninterrupted Power Supply | Uninterrupted
Power Supply

143  Which is frequency converter? | 3-117{%-[
FHATEL Dol T2

Rectifiers | YFehraey

D.C choppers | D.C AR

Cyclo converters | HTSFall Foeded

D.Cto A.C converters | D.CHA.C Foded

O 0O w >

144 What is the full form of PWM? | PWM T
qOT & FATR?
A Pulse Wide Modulation

Pulse Width Modulation

B
C Phase Wide Modulation
D Phase Width Modulation

145 What is the advantage of on-line UPS over
offline UPS? | 3TthelTgel JUITH W 3Tl oTgeT

U T T BIICT &7

A  Supplies constant power output | IGEGEY
ICECIERICOEIEIFIEE RGN

B It gives constant output frequency | ZI%'%RT—R’
3T3TYE HEaE & §

C  Works on single phase or three phase supply |
Tehel TROT AT cite] TOT 3T fcl I HTH Il &
D Free from change over and transition problems

| TREcTeT 3R HHHOT T HHEATHT § v

146  Which electronic circuit is used in a
automatic voltage stabilizer to produce constant

output voltage? | TR 3M3€Ye dledst T 3curee
F o [T Tes TaaTfeld alecsl LTl H
g selareifoieh Afthe T 3TANT fhaT ST §?
Rectifier circuit | YfFehIIR Tfhe

Amplifier circuit | TFTeTRR e

C Oscillator circuit | areleT gfehe

D Feedback circuit| s afche

147 Which feedback network is used for
automatic voltage stabilizer? | TaaTfold dlec sl

TS & foIT ford BIsdes sicdch T 39T
frar Srarg?

A Current divider network | &IRT f3arsst Acash
B Voltage divider network | diecol f3a8sY
secdsh

C Tapped transformer network | &9 SIAHFT
secash

D Resistance temperature detector network |

gfaer I f3esel Acas

148 Which electrical device is actuating the
voltages in a stepped voltage stabilizer? | II0Tdg

dledsT TTASSR H hlef AT fdegd ITFOT Aot
T T Y TET&?

A Autostat | e

B  Output transformer | WW
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C  Over voltage relay | 3aX dlecol Ret
D  Under voltage relay | 37T dleest ot

149 What is the effect in internal resistance of a

discharged cell? | Teh fSEaTet Ol & 3RS

GTRIeT 3 T 91T gicT 67

A Increase | 38

B Decrease | shH

C Becomes zero | ?]FJETHIHT%'
D Remainsame | GATAIEAT

150 Calculate the voltage and ampere/hour, if
four cells rated as 1.5 v and 8 A.H are in parallel? |

e 3R TFIRR / 8¢ I 01T Y, T TATeaT
AFSUR AT 1.5 v HRBAH S FTHICHI S &2

A 6Vand24AH
B 3Vand16AH
C 45Vand8AH
D 1.5Vand32AH

151  Which is the application of automatic
stepped voltage stabilizer? | TaaTfold T8 dlecal

FETRATSTI T 3TeSTNeT hleT HT 572
A Geyser | ST

B Grinder | IS8T

C Television | €& RATERX

D Pump motor | TIX HaRMET

152  Which is the function of an inverter? |
Seac{ Pl HI HleT ATE?

A  Converts A.C voltage into D.C voltage | A.C
grecsl @I D.C dlecol H IRATdd HLdT &

B Converts D.C voltage into A.C voltage | D.C
grecl @l A.C dlecoT H gRafdd axdr g

C Converts D.C voltage into higher D.C voltage |
D.C dleesT &l 3T D.C dteeot & uRafdd axarg

D Converts A.C voltage into higher A.C voltage |
A.C Ao ol Sl 3TT A.C Areeol A IRafdd HLaT g

153 What is the purpose of output transformer

in inverters? | ﬁa&ﬁwmwﬁw
FATE?

A Step upinput AC | WU.FFT.?WBTCF

B  Step down input AC | s?rgtwﬁq-—&crm
C  Step up AC from amplifier | TFTITRIIY & THT
T AT

D Step down AC from amplifier | T&FTelIBRIT &
TH ¥ 313

154  Which type of output transformer is used in
automatic voltage stabilizer? | TddTTeld alecal
TSR # Tohg T & 3TCYE STHBIFR T
39T fhaT ST 87

A Auto transformer | 3iTel TTAHIEAR

B Static transformer | T3fae Tra®ER

C Ring core type transformer | R3T R Y&hR T
TEHTF

D Ferrite core type transformer | TRISC T
YR T SABIHR

155  Which principle the constant voltage

transformer works? | 1 dlecst CrAHER e
Rgid RFAFATS?

A Self-induction principle | T 90T f@gid

B Fall in potential principle | fd31a ara &g
C Ferro-resonant principle | Wﬂﬂmﬁ?
fagrd

D  Mutual induction principle | 3731 90T
fagrd

156  Which transformer is used in servo voltage

stabilizer? | Taf aleeol BaegoR & fohg

TIOWIFR T 3YATIT THIAT ST &2

A  Step up transformer | Féqmmumfﬂ

B  Step down transformer | @qmm

C Torodial autotransformer | ERIf3TeT
IS

X

D Constant voltage transformer | faad atecat

TEHER

X

157 What is the type of A.C voltage stabilizer? |
A.C Ao ol TETTSOR &l Toh R FAT &2
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L 3
2 SWITCH
e L
7’
NPUT A |
VILTAGE ) oLTRUT

A Servo voltage stabilizer | af arecs

TETATSR

B Automatic voltage stabilizer | TadTfoId dlecal

TETATSIR

C Manual stepped voltage stabilizer | 3’-‘?:3[34?»[

TETE dlec ol TCTBoR
D Constant voltage transformer stabilize | @I

et THBER fB2r

158 Which instrument is used to check short
circuit faults in electronic circuit in voltage

stabilizer? | Alecol TeTSoR H Soldciioleh Alhe
¥ QIC Ahe IV I ST kel o [T vl TR0
T 3TN fohaT ST 87

A Ammeter | THIEX

B Voltmeter | @ecHel

C Ohmmeter | g

D Multimeter | #FecIHICT

159 What are the important stages in a simple
inverter? | UEFHT%TITUT$0-O|E~{ ﬁHS(‘d‘-I‘\U(I 0]
FTE?

A Oscillator and rectifier stages | gl 3i¥
feseamndy aror

B Oscillator and amplifier stages | gl 3R
TFTIThRIT TROT

C  Amplifier and transformer output stages |
TFTATHR AR TRAHTAR foleTd avor
D Oscillator, amplifier and transformer output

stages | Gloleh, TETHIAIT 3R SrPEHR 3cTesT
TROT

160 Where square wave inverters are used? | gt

T SATET T YT gl [T ST &2

A Computers | W

B TV receiver | €A RAET

C DVD players | 3/dTaI toldX

D General lighting | HTHTT HehI<T cTIEAT

161 How the backup time of UPS can be
increased? | JUTTH T Seh3TT HAY Hdl TGT ST

Hehell 87

A Increase the VA rating of UPS | Q}ﬁW@'VA
B Increase the AH capacity of battery | JerHr
TUT &THAT JGTT

C Decrease the AH capacity of battery | JerHr

AH &THAT TeTT
D Maintain battery terminal voltage always 90%

of rating | ¥t iAol e ST & gART 90% Yfear
FATT

162 How the hard sulphation defect in secondary

cell can be prevented? | E{ﬁ?—hﬂ?ﬁﬂﬁﬁw

T G i Shdl el ST FeheT &7

A  Provide trickle charging | 'IE,choi TS 9eTeT Y
B Provide freshening charge | ShRrfaier et uere
Ey

C Provide constant current charging | T arr
aIfoteT yeret ¢

D Provide constant potential method charging |

IGRGACE CACIBS IR G TS

163  Which part in UPS supplies continuous
output voltage in case of input voltage failure? |

T # s @1 FEAT SA9E aeest i [atherdr &
ATHA # TR 33TYE dlecsT Sl 3 c il &7
A Battery unit | aﬂﬂ"{ﬁ?

B Inverter unit | sﬁlﬁzjﬁﬁf

C Rectifier unit | W'ﬂﬁ?

D Controller unit | ﬁ'qwsa?ré

164 What is the effect during loading of the cell,
the current strength falls and become zero? | Il

Y oIS ey o GIRTeT FAT TIITT ISAT &, URT ATFT
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R STl & 3R e g Sirei &
A Buckling | SforaT

B Polarization | i_lﬁlw

C Local action | TUTATT fohar
D Amalgamation | 3THITH

165 What is the reason for having low back up
time in UPS? | JUTUH # oo sieh 379 §lel shT ShIROT
FATE?

A Faultininverter circuit | Bﬁ!ﬁﬂﬁ'ﬁﬁa}l’q
B Battery is short circuited | mﬂmﬁ%

C Mains earthing is not proper | Aoq 3T
R

D Ampere hour (A.H) capacity of battery is not
sufficient | eI s TFARIT 31TaT (A.H) &THAT
e FET

166  Which is the cause for the fault if the output
voltage of UPS is higher than normal? | If& Jdied

I 3T3TYC dlecst A § 3T B, o a1 &t
FROTFATG?

A Battery get short circuited | ézfra‘gq‘@ﬁ
oIk

B Defective feedback circuit | wtﬁg@ﬂ?
afehe

C Inputvoltage is very high | s?rgfaﬁmag?r
IFfRFHE

D Relay points are joined together | ﬁﬁtﬁgt
Teh H1Y 33 STl &

167 What is the reason for tripping the UPS with
full load? | JUTTH T G 'S & ATY e e T

HRUT AT 2

A Main supply failure | ag@qmq\i%‘rﬁmm
B Incorrect over load settings | ITd aAS
afeay

C Battery charger input fuse blown out | e

AToR S+TYC FIT 38 AT
S LN

D Loose connection in battery terminal | eI

iAo 7 SrelT et
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168 Which fuel is available in plenty in India for
power generation? | foeTell 3cUTesT & [T IRAT &

hleT AT SET TR HTAT H ST 2

A Coal | I

B Diesel | 3roTel

C Gasoil | IFgHTAT
D Gasoline | 9grel

169 Which is the conventional power
generation? | IRURE T¥STell 3cUTGe ahieT IT 72

A Wind power generation | 9o 2IfFd 3cqTgal

B Tidal power generation | SaRIT AfFd 3cdTesT
C Solar power generation | G afed 3carea

D Thermal power generation | Fee erfda

3Cq|a;|

170  Which material is used in solar cell? | HIX

el # Fore araelt 1 39T o ST 82
A Silicon | faforla

B Copper | d&T

C Antimony | TEHAT

D Phosphorus | FIERRE

171  What is the name of the atomic material
used for nuclear fission in nuclear power station? |

TRAT] ST EAA H AT & fIT g

ORATO HTHAT T T +ATH 2
A Silicon | FRafora

B Thorium | 2RI

C Antimony | TEIHaT

D Cadmium | hsTEIA

172 What is the name of the material used for

making photovoltaic cell? | AeIarcice ot Sellel

o fore gger Qe &1 a7 AT 22
A  Silicon | aforepia
Arsenic | ks iECa

B
C Antimony | TEIH
D Germanium | AT

173  Which is the non-conventional energy

source? | IR IR FaT AT T ATE?

Wind | gar
B Water | 9Tl
C Steam | #AIT
D Diesel | EHEG

174  Which is the natural source of energy? | Bl
oI ATehcieh BT ahlel AT &7

A Sun | B:éi'

B Heat | 3THT

C Coal | HIFeT

D Biogas | SR

175 Name the constituent marked as X’ of the
schematic arrangement of hydro electric plant. |

gIS3! Sl e ah Tollc ol TloTlTelg cadET & Heh

AXPraAAS]

Penstock | JeEeish
Surge tank | 9o &b
Valve house | dled gI3H
Power house | TSTell B

O 0o w >

176  Which is a non-conventional energy source?

| Teh IR-IRI Rk FatT G T AT 82
A Lignite | ﬁ??ns‘:r

B Sunrays | W@fw

C Stored water | HIATed 9reir

D Pulverized coal | ﬂﬁﬁw

177 What is the main disadvantage of non-
conventional power generation? | IN-IRIR®

TarSTelY ScuTest T FE&d har #418?
A  Poor efficiency | hH G&TdT
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B No constant generation | 31TE2R 3cUTesT
C Can use only light loads | shael e HX &T
UG Hehl

D Heavy load cannot be operated | HIRT IR
Harford A1 [T ST THhaT &

178 Which power generation requires heavy
water treatment plant? | i & AfFd e 7

Y STl o Q[T TI T HTTRGehlT Blcil 872

A Hydel power generation | Wﬁﬁ?ﬁ'
3cdice

B Diesel power generation | ECCACKE]
3cdige

C Thermal power generation | uie afFa
3cUTaeT

D Nuclear power generation | EITFITUI%TWCT
3c4TaeT

179 Which device senses the wind speed in a

wind power generation? | Yddd Foll 3cUTeeT H i
Y fSarsy gar 1 1f it FegH F 8 ?

A Exciter unit | 3cdoTeh SHTS

B Turbine controller| €8T etk

C Chopper controller | TTIT FheTeT

D Line controller unit | FITSH%WSEFI'%

180 Which turbine is used for high heads in
hydro electric power plant? | ﬁ%‘s’a'lﬁgl’sﬁ
Solfergh ITaR Tolie H fohd eXage &1 39ier fhar
ST E?

A Kaplan turbine | ShYelle] CTHTSA

B Impulse turbine | WTE@%H

C  Francis turbine | If8H &8t

D Reaction turbine | Ifafshar eXaTSaT

181 What is the function of penstocks in hydro
power stations? | TelTaoTell T&TAT H UeTEeieh T

T FATE?
A Carries water to dam | WWWW%
B Carries water to turbines | E_GISIBT-ITHEFQ'IFﬂ'

RREICIN
C Carries water away from power house | TorsTelr
R Y &I Ulel of ST 8

D Discharges surplus water from reservoir |

ST 37T TedT T fdgeT hlar &

182  Which is the purpose of boiler in a steam
power station? | TEH UTaX T2 H S1Iol &l

I FATR?

A Super heats the steam | T 1 3178 et
IRATE

B Heats feed water and air | 31T 9Ty 3R gar &1
COE

C Converts water in to steam | 9Tl &l $T9 &
aRafdd #Xar g

D Liberates the heat from burnt fuel | E@fg‘(’
SeeT W 13T BT AT AT §

183  Which type of power plant is more efficient?
| Tordr TehIR o TsTell T 3iTeIeh FH2reT 82

Diesel plant | 3rsTel §IT

Steam power | {19 IfFd

C  Hydro electric | 9T fastelr

D Nuclear power | WTUIQITEFT

184 Which material is used as control rod in a

nuclear reactor? | GRATY] R #AfAaIurss &

w9 H g GraAsl &1 39T har Srar g2
A Thorium | 2RI

B  Graphite | IhISC

C Cadmium | FsATH

D Tungsten | &IFCT

185 Which is the non conventional power

generation? | I IRIR T<Tell 3cUTEST it AT
g?

A Diesel power generation | Sretel ATed 3cdTea
B  Nuclear power generation | WQI‘%&
3cUiceT

C  Wind mill power generation | el Tl
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EEGIRRIEG!
D Hydro-electric power generation | Eﬂﬁﬂgﬁ
ATFT 3cUTCeT

186  Which is the residue of bio-mass? | ST

GSIATS I 3AAY el ATH?
A Slurry | Tel(TeR))

B Bio fuel | éﬁéﬂ?{

C Manure | @lg

D Biogas | ST

187  Which is the main constituent of biogas? |

ST T HEY Ueeh il A1 &7

A Oxygen | et

B Methane | ;T

C Hydrogen | %‘IBQGI?-T

D Carbon dioxide | W%’I’s’:ﬁ-ﬁﬂﬁg

188 How electricity produced in solar panel? |

HIX JeTeT # TSToll 3T 3cTesT 4 foham STl 57

A While sunlight strikes glass | EIHE]FEFWQT
THICA &

B While sunlight strikes nickel plate | STsf It
T 2T foAdhel Tl W Tohrdl &

C  While sunlight strikes manganese | EHFISH@T
2T HITelIoT TR eI &

D  While sunlight strikes on photovoltaic cell |

Stafes FeT 1 A2 Bietalfecs o W ehidr &

189 What is the function of air pre heaterin a
steam power station? | T AT IIT H TIT U

e AT A FATE?

A  Heats feed water | mﬁaﬁaﬁvﬂim%
B Supplies hot air to economiser | SRIATHTSIX
oY 3T T hl 3l

C Supplies hot air to super heater | {[W@E'{'Eﬁf
a1 gaT hr 3t

D  Extracts heat from flue gases and heats input
air | o[ 3T & 1T S¥ehToralT & 3R 3MTeTeT arg t
THHATE

190 What is the main disadvantage of nuclear
plant? | IRAT] HIH il HTY IhAT FIT8?

A  Disposal of waste | X FT AUt

B  Running cost is more | T%TEE&'WIET%’

C Plant requires large space | I Fl 93 TATA
T TR Bl &

D Installed away from load centre | 18 HeX &
o T foham aram

191 What is the function of economiser in steam
power plant? | @HWWﬁsﬁm?ﬂ
T FATE?

A Converts water into steam | GTeiT T HT9 &
aRafdd #ar g

B  Heats the air by the flue gases | W\W@RT
gaT I TH AT &

C Heats the feed water by the flue gases | %ef

3GT gaRT IS uTelY &l ITH FAT &
D Purifies the feed water by chemical treatment

|Wﬁmwa§mm§cmﬁﬂam
g

192 What is the advantage of non conventional

power generation? | IR IRIR TesTell 3cATGsT ol
T BIACT 87

A More reliable | 318 A+

B More efficient | 3778 g&T

C Low initial cost | e YRS oreTd

D Reduce pollution | 9NUT YCTT

193 What is the function of charge controller in
battery based micro hydel power generation? |

ST TR AT TS UTaR STALTA H ATol
HEToI T FIT H g2

A  Controls the over voltage | 3R arecoT i
IGRIEGETGINS

B  Disconnects turbine from the battery | Rk

AT i 3Theiae adT g
C Prevents the over charging of battery | eirér
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3ia] TTTSTaT T AehclT &
D Controls the over speed of the turbine |

TS T 3R T A I T Ty

194 What is the purpose of barrage in tidal

power station? | ST QATFT T H SRTT T
IR FATR?

A Controls the tidal waves | TG TN T
[GRIECKRGINS

B Releases water towards the sea | Hﬂ?{@'&l’ﬂ'
qrell BISAT &

C Tap the water at the entrance of gulf | @8I &
YA GIR TR el &bl T3 i

D Converts potential energy into kinetic energy|

TSt Foft @ a1fdst ST # yRafdd avarg

195 Which component in a steam power plant is
used to heat the feed water from the flue gas? |

A U1e welie 7 ford eeh &1 39T Fed 3 I

WIS UTeiY T ITH Flel oh folT fohaT SATAT 87
A Boiler | =X

B Economizer | SPIAIATSR

C Super heater | Qflg'qT@ET

D  Air pre heater | TIR U §lex

196 What is the advantage of pressurized water
reactor (PWR)? | ¥RRTSSS dleX RuaeX (PWR) &1
T HIACT 82

A No heat loss | ﬁémﬁﬁﬁﬂﬁ

B High thermal efficiency | 3T T4 G&TdT

C It has high power density | s'ﬂﬁ'ﬁ HIES]
geAcd &

D Metal surface temperature is lower | ETI?;T@'
g T ATIHTT S ¢

197 Which power generation plant is having
more reliability in operation? | ELAEEGIERIEG]

HIF o FATelel H AT [aRaH=adr g?
A Hydro power plant | Eﬂﬁﬂ:{ﬁw
B Diesel power plant | 3roTof eTferd 937

C  Nuclear power plant | IIATIT NIESKDE]
D Thermal power plant | mﬁajqo?rw

198 Which is the disadvantage of non-
conventional power generation over conventional

power generation? | IRYIR TaeTell 3cdrget 9 IR
ARYR e TSSTell ScaTeeT i wJehale F418?

A Increase pollution | WW

B  Security risk is more | ?ﬁmm%

C Requires more maintenance | 318 @@
& ATl &

D Cannot be used for base load demand | I

IS T3ATS o ToTT SEAHATC 16T ohaT ST HehaTl

199 What is the major disadvantage of wind
power generation? | IdeT Il 3cUTesT T JHE

T FIT &2

A Pollution effect is more | 9GNUT bl 3THT FITCT
J

B Requires high technology | 3Td dahsiieh ahl
AT &

C Plant installation more complicated | §IF
FATYAT 3T Sl &

D Wind power is not constant and steady | 9del

ol fAaa AR R g

200 What is the function of turbine used in tidal
power generation? | AR Qfed 3cUTGe H
LTS T HI FAT &2

A  Prevents water flow to other parts of dam |
YT & 37T HEN F GTAT T JaTg AehdT &

B Converts potential energy into kinetic energy |
Rufas st aifasr o A aRafda sarg

C Keeps the water flow from low to higher level |
UTeil & 9819 &l foee ¥ 3o TR WIWAT &

D Converts kinetic energy into potential energy |

aTfarst Fatt ot Feufast Fat 7 aRafdd star g

201 What is the advantage of non-conventional

energy source? | IR-IRIR FlT Hid T FAT
HIIET &7?
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More reliable | 3778 $RAHE

Low initial cost | & IRFA® ST

Efficiency is high | G&TdT 318 &

Greenhouse effect is avoided | TeT 813 YT
QIATATAT

O 6 w >

202 How the potential energy from water
flowing is converted as kinetic energy to generate

power? | Tt & §8<1 aTell ATt il ol fastall
3ol Yl o [oIT AT Foll b €T H HH
gfRafdd frar srar g?

A By storing water in high quantity | 3778 AT
 gTeAY T HSROT el &

B By using surge tanks at the water canal | 9T
FI T H T Eh T 3TANT Flh

C By using water turbine to drive alternator |

3TeeIo1cd 31T el o (oI UTeil XATSe T 3THNAT
Fh

D By creating high head through penstocks |

UoTEeidd & ATETH & 3T g3 Felloh]

203 What is the effect of radioactive rays
produced during nuclear fission? | CITFI'IU;FT%I'@BFT

& ERIeT 3ot g1 arel I3 |fsha fopoit & aFa
AT Bl &7

A Damages the reactors | ﬁ"l'maffw
TG &

B Creates health hazards | TaEZY HI T der
PRATE

C Reduces fission process | [a@ssT 9fehar T oA
PRATE

D Enormous heat is produced | HIH ITHT YT
oIk

204 What happens to solar cell, if the intensity of

light is low? | I YT A Ngar FAE, A TR AT
T FITITT?

Output increases | HB?%EE%T—IT%’

Output decreases | HB?%EEIEFIT%'

C Output remain same | 3Ar3¢4c JEIEdT g

D Nooutputinthecell | @aﬁaﬁéwa@r

205 What is the output voltage of a solar cell, if

light intensity is high? | Jf¢; IerTer T i 318
g, ar 6 & &1 3T3eye dlec st FAT 2

A  Nooutputin the cell | @aﬁaﬁéwa@r
B  Output voltage is increased | 3-1'[3?3'631@\_:[
e SIIATE

C No effect and remain same | Eﬁl’é’?fﬂ%‘lﬁﬂ'ﬁﬂ',
AT AT

D Output voltage is decreased | 3-113?5‘1?3’5!3?”%\
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206 Which electric lines connect the substation
to distributors in distribution system? | faaxoT

JUTTElT 7 faRent o TolT AT i i AT
facge emger S &

A Feeders | BIST

B Distributors | [daie

C

D

Service lines | AT ST
Service mains | Gfag AT

207 What is the insulation resistance between
any two conductors in a medium voltage domestic

installation as per IE rules? | IE ?ﬁ'&ﬁ?ﬁﬂ'ﬂﬂ'
FETH deco Te SECionrls H fhegl a1 drefent &
ST SgelleT TTcRIer T 82

A Infinity | dded

B More than one Mega ohm | K'EFﬂTIT}ﬂ?TT@T

few

C More than two Mega ohms | &l & 31f8e &amm

3EHA

D More than three Mega ohms | &l H3TT 3EH
& 3ifas

208 What is diversity factor (D.F)? | fafaerar
FR (D.F) FATE?

minimumactualload
A DF =

Installedload

B DE = Installedload

minimumactual load

C DF = minimuminstalledoad

actual load

D DF = actual load

minimuminstalledload

209 What is the voltage ratio in A.C distribution
line adopted for domestic consumers? | ’EI'QT‘;I'\

3THIFAT3T F ToIT I79ATS 378 A.C faaRoT o 7

ATeeST 3T AT &?
A 415V/240V
B 240V/110V
C 415V/110V
D 11KV/415V

210 What is the name of the insulator used in

O.H lines? | 3.0 o131 & 39T fohT SATeT aTel
S oIeT T ATH FT 87

Pin insulator | fﬁ?rsgﬁar
Post insulator | tﬂ?—?éﬂﬁa

Strain insulator | @HW
Shackle insulator | %‘]aa—c»rsgﬁa

O 0o ®w >

211  What is the name of line insulator? | ellSel
S oIe T ATH FT 87

A Pintype insulator | ﬁrrrwsagﬁa

B Disctype insulator | %FEWBF@W

C  Shackle type insulator | Q\TWWBF\@W
D Suspension type insulator | IGEECREIRS

ErEa [

212  Which is the permissible load for lighting sub
circuit in domestic wiring as per IE rules? | IE fag&T

o 3TN ERe] AT H 3T Hiche I STelled oh foIT

ITHY R T ATE?
A 800W

B 1200W

C 2400W

D 3000W

213  What is the name of the insulator? |
S oIeY Sl oATH FIT 82
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A  Stayinsulator | 1—%3@@3'\"

B  Shackle insulator | ﬂamsgﬂa
C

D

Suspension insulator| fereles gogeicy

Single shed pin insulator | T&3Tel 215 =T
E‘ S

214 What is the reason for the conductor cross-
sectional area can fully utilised on transmission of

DC as compared to AC? | FIT HRUT &, ST TdT T
Tl # SIET o STATAL TR hseFe shid-Herelelel
& T U G & 3TN & Fehell 572

No heat loss | &S T g1fa 78T

No skin effect | SIS cadT YT AGT

No power loss | ﬁé’%mgﬁﬂﬂ

No corona loss | aﬁéaﬁﬂmgﬁa@r

o 0O w >

215 Why the disc pin insulators outer surface is
made by glazing and bent the sides inward? | [3&#

1T § 3 TR 2l 37e shT oI o2t STohT TgT &2
A To withstand high voltage | 3Td alecal &l
HIHAT A & felw

B Not to attract birds to sit on it | 3 T §&1 o
fore afgrat =1 3rei¥a el & forw g

C To offer high mechanical strength | 3T I A&
NIEREHEERCEAE LY

D Disables continuous water flow in rainy

season| EI'Gﬁ'Elz_gl:'ﬁ IGEGEEC R CIREIRGIL: ]
EXGIEY

216 What s the type of over head line joint? |
3R 83 TSl TGl hl TehR AT &2

= ¢

A Twisted joint | 3T 3T SIS
B Straight sleeve joint | TS 3TEdIT HT SIS
C Compression joint for ACSR | ACSR F e
.o e
D Straight joint through connectors | FAFed &
ATeTH § A S

217 Why steel is reinforced in ACSR conductors
used for overhead lines? | 31TaXgs TS o [T

STAATS gl dTel ACSR el H T bl T
yaferd o Sar &

A  To minimize the line sag| EE?T@?T?I'W
EXC ATy

B Toreduce the line voltage drop | ans?ra’lm
19 &l e et o foIT

C Toincrease the tensile strength | d=IdT S&leT
& faw

D Toincrease the current carrying capacity | €I

TG &THAT Pl TG b oI

218 Which type of A.C transmission is universally
adopted? | fFT YR T A.C TOROT Traifds

YA ST &2

Two phase four wire | &I %ol IR dR

Two phase three wire | & %l dle dR

C Single phase two wire | f&3Tel el &I AR
D Three phase three wire | dlel ol el AR

219  Which type of line insulator is used for
terminating on corner post? | FFEHH’HT%CTWEP?I?T

& TFH & foIT e JehR o 15T Segeled 1
39T foRaT STt 82

A  Pininsulator | fﬁ?rgzgw

B  Straininsulator | @Hgﬁw
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C Shackle insulator | @W%ﬂﬁ?{

D Suspension insulator | GGEG) srg&a

220 What is the reason of keeping binding wire
gap too close and very tight in pin insulator? |

EIEIECIECIERS ?‘rcrﬁqu a1 3R e §geleX
# T ST Bl T FIT HROT &2

A Avoid sparking | T9TfehaT & &I

B Avoid corrosion | &ROT § &<

C  Avoid oxide formation | 3iTFTSS STt & &
D Avoid atmospheric pressure | a@ﬂg@'&m
aad

221 What is the name of conductor used on

overhead lines? | 371383 8T OX 39197 [T

STeT aTY ShgeFe T ATH FAT§?
A ACSR
Aluminium | e

B
C Galvanised iron | STEciehd clgl
D Hard drawn copper | oI didl

222 What is the main purpose of crossarm used
in electric poles? | T @Y 3 ST SHIA3MH T
AT 3T FATE?

A Supporting the line conductors | HISHEF?TRTT
T HERT &l

B Holding the insulators on overhead line |
3NAES ST T SrgeleT Tehgal

C  Avoids short circuit between conductors |
HEFCR o AT AT Tlhe T FAT ATAT &

D Reduces conductor sag between supports |

HER & o shgered RATASTAT &l hA HIAT &

223  Which type of line insulator is used at the
dead ends of the H.T overhead lines? | H.T 3laR&s

gl o 3T FORT IR fohd TohR & olTg T e}
T 3TN fhaT ST 82

A Pininsulator | ﬁlﬂ'é’{lﬁﬂ

B Discinsulator | %Ws'{lﬁ?(

C Stayinsulator | 1-_?,'3'\'1@?(

D Postinsulator | Wsﬁﬁ?{'

224 What is the advantage of AC power
transmission? | ACWWQHWWW%?
A Corona loss negligible | WWW
B  Stress on transmission lines is minimum |
CIATARIS ollSl 9T Telld #gsTcH &

C Low voltage drop in transmission lines |
TafAA o8t 7 F aleest 319

D Voltages can be stepped up and stepped down
easily | ATecoT I €T T fohdT ST HhdT § 3R

3T T 313 [T ST @shar &

225 What is ACSR stands for? | ACSR ol Hdeldl
FATER?
A All Conductors Steel Reinforced

Aluminium Core Steel Reinforced

B
C  Aluminium Covered Steel Reinforced
D  Aluminium Conductor Steel Reinforced

226 What is the purpose of cross-arm in O.H
lines? | 37T ST & ShTH-31TH FT 3T FAT?
A  Provide more support to the O.H pole | 3T,
qrel T 3178 TERT YeTeT Y

B  Protect from short between conductors |
cherell o oIl ST & T&T Y

C Reduce the sag of the lines between poles |
GFHAT & 1T I 3@13iT Y AT A HH HL

D Holding the insulators where the conductors
are fastened | s'i:lvo\ic‘,{ Jehs §'U hgaedl ol [ o

STehgell

227 What is the advantage of overhead lines
compared to underground cable? | N@?FTW

ohY Tl & 3iTaR g3 olTS=il b1 F4T BIIeT &2

A Public safety is more | Hﬁﬁﬁﬁﬂij}c‘mm
3

B Faults can be located easily | % 3THTT & 9T
A ST Tehl §

C Nointerference with the communication lines

| TR ST oh AT PIS gEAATT I8
D Not liable to the hazards from lightning

discharges | df3d TREAT T @RI & forw
faeaaaig i &
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228  Which substation the transmission line Y I dTel TogHTAIH IS aTel shgaredl U
voltage is stepped down to consumer supply T T S ;\ =T %?

voltage? | TTATALIA oISl Alecsl ol Tohd TATT GX

SUHITAT FT Aot 8 & A o 20 A  Keeping binding turns very close | Srere arer
\ :

A Mobile substation | HTETSeT HIEC2I LAl T -
obile substation o
o ) B Making binding turns very tight | STeIeY aTel
Mining substation | TeleT GEEC AT .
GATAT T HHD IGAT

B
C Secondary substation | ATEI RS GEECAA

y | C Providing guard wires below the conductors |
D

Distribution substation | fadRoT @aEeer Faaedl & A=Y S IRt B yeT ST
D Providing more than one binding | T &

229 What will happen to the string arrangement

of disc insulators, if one of the disc insulator gets 3178 T USTeT el
damaged? | I f3Eeh segelet &IfAUTA G ST &,
HT%WW@@TWWWWW? 231 What W|II.happen to the sk|.n effect Qn the

2 0.H conductors, if the conductor diameter is small
A Whole string become useless | CNFI'ITQEHITET (<1cm)? | 3NUT HEFeIT IR cadT & THTT T 4T
ST S BT, 379 Hsaed &l T BT g (<lcm)?
B No effect operates normally | 15 &t yaITa A Becomes negligible | 7O &Y ST &
T, HHA & § HaAfoId eIl & B Increases to maximum | 3T d#d deh §¢ SATAT
C Only the damaged disc will not function | FHad a-
aTfaared 3 T 8T el

C No effect, remain same | aﬂéma'é‘r, a%pf

D Damaged insulator and the adjacent insulator

will not function | FHITE S=geled 3R 3THw=1 G I
. D Decreases half of the value | HTeT ST ATHT Y
SogeIeX I STET Al
ST g

230 How the sparking on the aluminium cored

conductors binding joints can be prevented? | Sl E
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232  Which circuit breaker is installed along with
wiring circuit against leakage current protection? |

liehoT e FICHAT @ FuTd g TR a1 Hiche oh
T FleT AT Hfche SHT TITAT SATAT &2

A 0CB
B MCB
C ELCB
D MCCB

233  Which relay hold their contacts in position
after power is cutoff? | 9TaR He3iTH & &1 i I

et 3791 Tuent ot FEUfa A T@a &2
Read relay| &8 Rer

Current relay | €T et
Voltage relay | @leest Rer
Latching relay | of<ieT et

o 0O w >

234 What is the name of circuit breaker? | Tfehe

A  Oil circuit breaker | ool Ifhe ST

B Air blast circuit breaker | TIX soli¥e Gfhe
SETY

C Vacuum circuit breaker | foraTa afdhe st

D Air break circuit breaker | T o Tfehe T

235 How the rupturing capacity of circuit breaker

is rated? | WW@'@@'WW
HAedishel oy fohaT SATAT B2

N

A KV

B KW

C MVA
D KVAR

236 What is the pick-up voltage in a over voltage
relay indicated? | Hehfcld 3TaR dlecol el H -
39 Ao FATg?

A Working voltage of relay | oY T HRISRT

drecst

B Maximum voltage rating of relay | Rt &1
JfewdH arecst o

C  Minimum voltage rating of relay | el &r
eI dlecst e

D Minimum voltage to start the relay | ﬁﬁ?ﬁ
A & T A ateest

237 What is the function of Buchholz relay in

power transformer? | mmﬁw
Rer wra Famg?

A Over load and short circuit protection | 3TTaX
s 3R 2iic afdhe TXaTor

B  Over voltage and earth fault protection |
drecst 3R gt gy & {Ram

C Open circuit and earth fault protection | 3geT
e 31 g ar aaT

D Open circuit and over voltage protection |

39T Gfehe 31T 3N Ao o WieeeT

238 Which type of load is protected by G’ series
MCB?| fre 9 1 @iz’ G Aol MCB garT Efard

g?
A Ovens | 3lasT
B Geysers | IR

C Air conditioners | TIX a1
General lighting systems | HTHTT YhI2A
cSgqEAr

239  Which type of relay is used in both A.C and
D.C supply? | A.C 3 D.c 3fef alt #F fore g
& el &1 39T fRar ST 82

A Reedrelay | I3 Rer

B Impulse relay | 31maeT Ret

C Thermalrelay | Ui e

D Clapper-type armature relay | FAR-IFR
HHR R

240 Which circuit breaker is used as a switch and
protective device in the domestic wiring circuit? |

T aIIRET Afehe 7 Faa 3R FRETTcHS 3THI0T
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& &9 # fora afdhe S a1 39T R ST &2
A Air circuit breaker | TR Hfdhe ST

B  Miniature circuit breaker | fAfTR afde
SETY

C Moulded case circuit breaker | #ATess HF
afde da

D Earth Leakage circuit breaker | 379 kot
afde da

241 What is the purpose of trip coil used in
circuit breakers? | Gfehe Sl & SEAHT HI ST

arelt feT SISl &1 32T FATE?

Easy operation | 3THTeT hTHGBIST

Remote operation | ReATe 3T

Accurate operation | T TR
Emergency operation | 3TTITTehToNeT 3TARRTeT

o 0O v >

242 What is the function of relay to the breaking
operation of circuit breaker in control circuit? |

=T Afdhe 7 Ffhe o o sifeheT iTaRerT &
Reramrad Farg?

A Sensing the fault quantities | &I HTIT &l TAT
T

B Analysing the condition of breaker | ST T
feufa &t fageivor

C Controlling the Speed in case of fault | 3Teldil &
HATHS #H T8 Y a3 d e

D Interpreting the fault situation to operate
breaker | S TATfeId Fel o foIT g1V T AT
T SITEIT HeAT

243 What is the effect, if the test button marked
as X’ is closed permanently in ELCB? | Ifg X’ & &9

A Rfgaa orar srar wdietor e eLcs H TRl &9
A 9G §, dl ST FATTHT &

r g |

i

E

I

I

_[j |

1

— 1
o ——
X B

A Circuit trips intermittently | gfhe Th-h T

feagare

B  Circuit functions normally | gfe AT F
QA FI FAT 8

C  Circuit switch off completely | Hﬁw?tlﬁ?ﬂ??l
dc

D  Circuit will not trip on leakage | eifehel IX
fdhe fea e yam

244 What is the defect in an air circuit breaker, if
trips intermittendely on loading? | a'l'{’rﬂﬁfﬁﬂﬂ'

HFATSIT §, 319K N33 W Afehe Toh-Teh T [T
BT 8?

A Incorrect setting of relay | ot &1 arerd Afear
B Excessive heat | 37caf&Ieh T

C Insufficient air pressure | auaﬁvcrmgaa

D Line voltage is too high | ?—I’IS?-TEﬂFéGTagH
IR E

245 What is the defect in a oil circuit breaker if

the oil heats up excessively? | Tfe ool TS It
g ST At deT Afdhe S H FATAIT 872

A Line voltage is too high | ?—I’IS?-TEﬂFéGTagH
IR E

B Excessive load | 37cafish IR

C Poor dielectric strength | amwﬁaga%ﬁ?cr
D Defective tripping mechanism | aTGI'C[\U‘fEﬁ?T
SEl

246 What is the cause for the defect if phase to
ground fault on the transmission line? | 319X

SRR ol IR %ol € FM3S Wiee & o
FHROT &?

€@ N\IMI Question Bank

Page 36 of 37



ELECTRICIAN - Semester 4 Module 7 - Circuit Breakers and Relays
Reviewed and updated on: 01% November 2019 Version 1.1

Components failure | €T T TAHeIdT

Human error | Waﬁ'
Fuse failure | WE%WFIT

A
B Insulation failure | so-t:lac:wlo-l faweran
C
D

Answers:

1-D|2-B|3-C|4-D|5-D|6-D|7-D|8-C
|9-D|10-D|11-C|12-B|13-C|14-C| 15-
C|16-A|17-D|18-A|19-A|20-D|21-C
| 22-A|23-C|24-A|25-D|26-D|27-B| 28
-B|29-A|30-C|31-A|32-A|33-B|34-D
|35-B|36-C|37-A|38-A|39-D|40-A |41
-A|42-A|43-A|44-D|45-C|46-A|47-C
| 48-A|49-A|50-D|51-C|52-D|53-A|54
-D|55-A|56-C|57-D|58-D|59-C|60-A
|61-D|62-B|63-A|64-D|65-C|66-B |67
-D|68-D|69-B|70-A|71-C|72-A|73-D
| 74-A|75-D|76-D|77-C|78-D | 79-A | 80
-B|81-D|82-A|83-C|8-C|85-A|86-C
|87-D|88-D|89-B|90-B|91-B|92-D |93
-C|94-D|95-D|96-A|97-D|98-A|99-C
| 100-B | 101-C | 102-C | 103 -B | 104-D | 105
-B|106-C|107-B|108-D | 109-A | 110 - B
| 111-C|112-B | 113-D | 114-B | 115-D | 116
-A|117-B|118-A|119-A |120-C |121-C
| 122-D | 123-D | 124-C | 125-B | 126-D | 127
-B|128-D|129-C|130-A|131-B |132-C
|133-B|134-D | 135-A | 136-B | 137-D | 138
-A|139-D|140-B |141-D|142-D |143-C
| 144-B|145-D | 146-D | 147-B | 148-A | 149
-A|150-D | 151-C|152-B |153-C | 154 - A
| 155-C | 156-C| 157-C| 158-D | 159-D | 160
-D|161-B|162-A | 163-A | 164-B | 165 - D
| 166-B | 167-B | 168-A | 169-D | 170-A | 171
-B|172-A|173-A|174-A | 175-B | 176 - B
| 177-A | 178-D | 179-B | 180-B | 181-B | 182
-C|183-C|184-C|185-C | 186-A | 187 - B
| 188-D | 189-D | 190-A | 191-C | 192-D | 193
-C|194-C|195-B |196-C | 197 -C | 198 - D
| 199-D | 200-B | 201-D | 202-D | 203 - B | 204
-B|205-B|206-A]207-B|208-A|209-A
| 210-D | 211-D | 212-A | 213-D | 214-B | 215
-D|216-C|217-C|218-D|219-C|220-A
| 221-A|222-B|223-B|224-D|225-D | 226
-D|227-B|228-D|229-C|230-B|231-A
| 232-C|233-D | 234-B | 235-C| 236-D | 237

-A|238-C|239-B|240-B |241-B |242-D
|243-C|244-A|245-C| 246-B |
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